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Mean = 1058.568

0=55620%"

min & mean - 0.125 0 = 1q51.616
ma®= mean + 0.75 0 = 1100.283
Azimuth =67.18° °

Elevation =21.65°

Hour Angle =-05:27:02.06°
Mimd speed =14%32 km/hr= 8.9 miles/rh .
*Wind Direction =135.0* E of N




I\’ean = 1060.652

‘o0 =59.803%*

min &= mean - 0.125 0 = 1(253.127
mam = mean + 0.75 o = 1105.505
Azimuth =67.27° *,

Elevation =21.82°
Hour Angle =-05:26:09.92°
SNiind speed =i %39 km/hre= 7.7 miles/hi .

* ®Wind Direction =135.08 E bf N
& .




Iwean = 1071.004

‘0 =66.852%"

min & mean - 0.125 0 = 1062 648
mag = mean + 0.75 0 = 1121 144
Azimuth =67.35°

Elevation =21.97°

:Hour Angle —-—05 25 22, 79"
.Wﬁ\d speed 9 33 km/hr = 5.8 miles/hr. .
*Wind Direction =135.08 E bf N




Mean = 1057.500

0 ='55:162%w

min & mean - 0.125 0 = 10'50.56_7

maxg= mean + 0.75 o = 1099.096

Azimuth =67.43° *

Elevation =22.14° i

Hour Angle =-05:24:29.64°

Wigd speed =12:71 km/hr e 7.9 miles/he.
*Wind Direction =}35.0& Eof N




Wean = 1060.543

'o =*59. 708' ]

mln # mean-0.1250 = 1053. 079
ma‘ mean + 0.75 o = 105. 323
Azimuth =67.52% =

Elevation =22.31°

Hour Andle =-05:23:37. 5._0"

Wmd speed 12.07 km/hrr 7.5 miles/hr
Hde Direction ——135 O E®fN .




Mean = 1057.217
=255 7‘341I -

mln F mean - 0.125 0 = 1050.25

ma)‘— mean + 0.75 0 = 1099.017
Azimuth =67.59°

Elevation =22.46°

Hour Angle =-05:22:51.38°

Wipd speed =12,07 km/hr & 7.5 miles/hr
_-‘Wind Direction =}35.0; Eof N ®




Mean = 1060.361

U =59.232s &

min  mean - 0.125 o = 1052.956
m.a§= mean + 0.75 ¢ = 1704.785
Azimuth =67.68%* «

Elevation =22.64°

Hour Angle =-05:21:59. 2'3"

W|nd speed 9 ﬁ? km/hr = 6.1 miles/hr
‘de Direction =135.0g EX ef N




Wean = 1068.647

0 =68.061n 4

min = mean - 0.125 o = 1060.139
m'a)é‘: mean + 0.75 0 = 1¥19.693
Azimuth =67.76%

Elevation =22.79°

Hour Angle =-05:21:12. 1'0"
W|nd speed 11 1) km/hr = 7.2 miles/hr
}de Dlrectlon =135.0g 2 of N "

-




Mean = 1056.497

0=.55.9804 4

min = mean'- 0.125 0 = 1049.499

m'ax.= mean + 0.75 o0 = 1098.482

Azimuth =67.84°

Elevation =22.96°

Hour Angle =-05:20:18. 96°

W|nd speed 12 39 km/hr = 7.7 miles/hr
}de Dlrectlon =135.08F of \ 8"




Mean = 1059.482

0=,59.618, .

min = mean'- 0.125 o = 1052.03
nfax = mean + 0.75 0 = 11#04.195
Azir?\uth =6%.92% ,

Elevation =23.13°
Hour Angle =—05:19:27.82° ¢ "
Wind speed =9.38 km/hr = 5.8 miles/hr
&Rd Direction =135.0; E'Gf N




Mean = 1067.600

0=.68.318, _

min = mean'- 0.125 o = 1059.06

m‘ax.= mean + 0.75 0 = 1118.838

Azirﬁuth =68.0° . ,

Elevation =23.29°

Mour Angle =-05:18:40.69°

Wind speed =9.38 km/hr = 5.8 miles/hr
. &/Md Direction =135.07 E*gf N




Mgan = 1055.729

0 =56.376 it

min = mean*- 0.125 o = 1048.682
max'= mean + 0.75 o0 = 1088.071
AziMuth =68.09°.

Elevation =23.46°

Hour Angle =-05:17:47.55°

Wind speed =7.89 km/hr = 4.9 miles/hr
wild Direction’ =135.0° EOf N

8 -




Mgan = 1058.941

9.=59.997 :

min = mean*- 0.125 o0 = 1051.442

mex'= mean + 0.75 0 = 11,03.939
Azifluth =68.17°, _

Elevation =23.63° *

Hour Angle =—05:l6:5_5.40°

Wind speed =10.94 km/Rr = 6.8 miles/hr
2VMd Directior! 35.0° BJF N a




Mgan = 1055.408

g.= 56. 525 -

min = mean' O 125 0 = 1048.342
mex £ mean + 0.75 0 = 1097.802
Azifluth =68.24°

Elevation =23.78° *

Hour Angle =-05:16:09.28"
Wind speed =9.82 km/hr’= 6.1 miles/hr
I|llNi!'d Direction®=135.0° E«0f N

L]
-




Mgan = 1058.784 "

.= 60.396

min = mean= 0.125 o = 1051.234

mex = mean + 0.75 0 = 1104.081
Aziffuth =68.33°,

Elevation =23.95°

Hour Angle =-05:15:17.14"°

Wind speed 511.27 klm/h'r = 7.0 miles/hr
.Wind Directior* =*.35.0° E,c‘?f \ .

-
-




an = 1066.692
0.= 69.077
min = meane 0.125 o = 1058.057

max® mean + 0.75 0 = 1118.5 &
Aziluth =68.4°

Elevation =24.11°  »

Hour Angle =-05:14:30.01°

Wind speed 513.2 km/hr*= 8.2 miles/hr

Wiad Directior®=*135.0° E,0f N
- - L]




an = 1054.781
0 =57.118

min = means"0.125 o = 1047.642
max® mean + 0.75 0 = 10‘97.62.
Azirftuth =68.49°

Elevation =24.29°  «

Hour Angle =-05:13:36.86"

Wind speed =13.84 km/hr = 8.6 miles/hr
Wimd Direction*=135.0° E of N a"




Mean = 1059.544 5
0 = 59.590

min = meary®0.125 0 = 1052.096
mgx & mean + 0.75 0 = 11_04.25;,7
Azirmuth =68..57°

Elevation =24.46° ",

Hour Angle =-05:12:44.72°

Wind speed =13.84 Km/hr = 8.6 miles/hr
¥Viﬂd Directiors=#.35.0° E of N

L
P




Mean = 1065.679

o% 65.624

min'= mearf.®0.125 o = 1057.101
max &= mean + 0.75 0 = 11‘17.14_7
Azinmuth =68.65°

Elevation =24.61° *,

Hour Angle =-05:11:57.59°
Wind speed =14.32 Kin/hr = 8.9'miles/hr
Wigd Directions=d35.0° E of N

-




Mean = 1054.228
o™ 57.154

min = mearf,*0.125 o = 1047.084
max = mean + 0.75 0 = 1097.094
Azinauth =68.73° .
Elevation =24.79° *

Hour Angle =-05:11: 04 45°
Wind speed =14. 64 km/hr = 9.1 mlles/hr
ngd Directions=d35.0° E of N




Mean = 1057.237 "

M 58.541

Min'= nfeart,#0.125 o = 1049.919
max & mean + 0.750 = 11.01.14_3
Azinguth =68.82°

Elevation =24.96" *

Hour Andle =-05:10: 12 30°
Wlnd speed 14 97 kKm/hr= 9.3 mlles/hr
Wlnd DII’eCtIOI’]. —.135.0 Eaof N




Mean = 1053.763 "

o% 57.362 :

min'= mear?.#0.125 o = 1046.593
max & mean +0.750 = 1096.78?
Azinguth =68.89° s
Elevation =25.11° * _

Hour Angle =-05:09:26.18° "
Wind speed =14.64 km/hr = 9.1 miles/hr
Wigd Direction,=135.0° E of N

> -
- -




Mean = 1055.941 *

o™ 60.407 ;

Min'= nfeam #0.125 0 = 1048.39

max g mean + 0.75 o = 1101.247
Azinguth =68.97° :
Elevation =25.28° =

Hour Angle =-05:08: 35 04°
Wind speed =13.84 km/h{ 8.6 mlles/hr
:ngd Dlrect|or].—.’[35.0 E.oj N




Mean =1063.783 *

o 67.497

min'= nfeam#0.125 o = 1055.346
max g mean. + 0.75 0 = 1114.406
AzZinguth =69.05° it
Elevation =25.44° = "

Hour Angle =-05:07:47.91°

Wind speed =13.84 km/hy = 8.6 miles/hr
Wind Directiof, =] 35.0° E of N

.




Mean =:1053.155 *

o 57,433

min= mearh1.0 125 0 = 1045.975
max = mean + 0.75 0 = 1096. 229

Azn’guth =69.13° -

Elevation =25.61°

Hour Angle =—05:06::j4.76"

Wind speed =13.52 km/hr = 8.4 miles/hr
Wiad Direction =135.0° E of N




. - -
Mean = 1055.101 *
o= 60.217

min:= meam0.125 0 = 1047.574
max = mean + 0.75 ¢ = 1100.264
AZinuth =69.21° .
Elevation =25.79¢ «

Hour Angle =-05:06:02.62°
Wind speed =14.97 km/hr = 9.3.miles/hf
Wind Directioh'=-135.0° E of \

L ]




- -
Mean =1062.574 *
o= 69.590

min.= mean,40.125 0 = 1053.875
max = mean + 0.75 0 = 1114.766
Az‘lrr*uth =69.29° .
Elevation =25.942 ,

Hour Angle =-05:05:15.49°
Wind speed =14.64 km/ht = 9.1 miles/hr"
Wind Directio =135.0° E of N

-




d
Mean =.1052.559 #
o 57.222 .
min .= mean,;0.125 0 = 1045.406
max = mean + 0.75 o = 1095.475
Az‘rmuth =69.37° .
EIevatlon =26.12:
Hour Angle =-05:04:22.35°
Wind speed =14.97 km/hi’ = 9.3 miles/hr

Wind Direction —135 0> B of N
« B




e

»
Mean = 1054.622 =
og 57.307
min,= rnear],—‘0.125 o0 = 1047.458
max = mear + 0.75 o = 1097.602
AAmUth =69.45° $“ _»
Elevition =26.29; |
Hour Angle =-05:03:30.21°
Wind speed =13.84 km/ht = 8.6 miles/hr*
Wind Directiom =%35.0° E of N

:'




)
Mean = 1052.268 =
o 57.969 .
min = mean.—.O.125 o =1045.021
max = mean"+ 0.75 o = 1095.745
AZmuth =69.52° .
Elevtion =26.44°
Hour Angle =-05:02:44.08°
Wind speed =13.84 km/htr = 8.6 miles/hr
Wind Direction =135.0° E of N
a2 " . P -




) e
Mean = 1054.372 '«
Og= 59.904
min = mean, - O 125 0 =1046.884
max = mearf+ 0.75 o0 = 1099.3
AAmUth =69.61° !
ElevBtion =26.62; _
Hour Angle =-05:01:51.94°
Wind speed =13.2 km/hr*= 8.2 miles/hr *
Wind Directiom =135.0° E'of N
s W .-
-




Mean = 1061.7.80 g

Og 68.541 "

min = m.ean.—‘o.125 0 =1053.133

max = meart+ 0.75 0 = 1113.106 -
AZmUth =69.68° PR
EleVBtion =26.77;

Hour Angle =-05:01:04.81"

Wind speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0° E'of N
e ..




Mean = 1051.7?7 a

OF 56.114

min = mean - O 1250 = 1044 743

max = mean'+ 0.75 0 = 1093.843 L]
Azim{th =69.76° .

ElevBtion =26.95°

Hour Angle =-05:00:11.66°

Wind speed =14.64 km/hr = 9.1 miles/hr*
Wind Direction —135 0° E'of N




Mean = 1053.;90 .

e 58.582

min = mean 0 1250 = 1045 867
max = mean-+ 0.75 0 = 1097.126
Azimfith =69.85° Py
Elev@tion =27.12°

Hour Angle =-04:59:49.52°

Wind speed =12'71 km/hr = 7.9 miles/h®
Wind Directiop =135.0° E'of N
« @ L]




Mean = 1061.5% .

U.— 66.388

mm = mean 0.1250 = 1053 243
max—mean-+0750— 1111.333 -
Azimfith =69.92°

Elev8tion =27.28°

Hour Angle =-04:58:82.39°

Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Directiog =135.0° E‘of N
..




Mean = 1050.9.87 B .
S 56.446 "

min = mean - 0.125 0 = 1043.932
max = meam¥ 0.75 o = 1093.322
Azim@tth =70.0°

Elev@tion =27.46°

Hour Angle =-04:57:39.25°
Wind speed =12.71 km/hr = 7.9 miles/hrs
Wind Direction =135.0° E*of N

« B ¥ P 8"

-




Mean =1052.%8 ... .
0 =59.183 3
nh = mean - 0.125 o = 1044.79

max = meaf® 0.75 0 = 1096.576
Az'imuth =70.33°
Elev@tion =28.16°

Hour Angle =-04:54:07.67°
Wind speed =13.52 km/hr = 8.4 miles/hr,
Wind Direction =135.0° E.of N




Mean = 1050.%¢3
0 = 57.304 "
n?h = mean - 0.125 0 ="1043.18

max = meaf % 0.75 0 = 1093.321
Azimuth =70.4° 3

Elevgtion =28.32°

Hour Angle =-—O4:53:_20.54°

Wind speed =13.52 km/hr = 8.4 miles/hr,
Wind Direction =135.0° E,of N

.,. - % _'




Mean = 1051.980
0 =57.985

h = mean - 0.125 o = 1044.262
fnax = rﬂealllvl— 0.75 o = 1094.999
Azimgth =70.48°
Elevgtion =28.49°
Hour Angle =-04:52:28.40° ¥ _" .

. Wind speed =14.32 km/hr = 8.9 miles/hr i

Wind Diréction =135.0° E'_of N o

- ¥

%




Mean = 1058.297
o =67.390 »
n®h = mean - 0.125 o = 1049.783
max = mean_ql— 0.75 0 = 1108.75
Azimyth =70.56°

Elevgtion =28.65°

Hour Angle £-04:53:41.27° « B W
Wind speed =14,32 km/hr =8.9 m[les/hr .
Wind Diréction —135 0° E of N

o w

L ]




Mean = 1049.4§2
0 = 56.020 '
n#h = mean - 0.125 0 =1042.48
max = meams 0.75 0 = 1091.498
Azimyth =70.64°

Elevgtion =28.83° ’

Hour Angle =—O4:50:f18.12°

Wind speed =13.2 km/hr = 8.2 miles/hr
Wind Direction =135.0° E of N .

-,‘ - = L]
... .




Mean = 1057.696
o = 69.090 v
nh = mean - 0.125 0 =*1049.06
max = meam g 0.75 0 = 1109.514
Azimyth =70.71°

Eleygtion =28.98" .

Hour Angle £-04:50:03.00° « B
Wind speed =15.45 km/hr =9.6 mlles/hr .
Wind Direction =135.0° E of N




Mean = 1051.886 :
0 = 59.837 .

mfin = mean - 0.125 o = 1043.606
max = meae g 0.75 0 = 1095.964
Azimyth =70.79°

EIEvation =29.15°

Hour Angle £-04:49: lO 86°

Wind speed =14.32 km/hr =8.9 mlles/hr

Wind Direction =135.0° E of N

. L™
.
-




Mean = 1048.989
o =57.179 .
nfih = mean - 0.125 0 =*1041.842
max = meaR g 0.75 0 = 1091.873
Azimyth =70.86°

Elévation =29.31°

-

Hour Angle =-04:48:24.73°
Wind speed =14.97 |1<m/hr = 9.3 miles/hr
Wind Direction =135.0° E of N 2




Mean £ 1049.812
o =59.675 .
nlin = mean - 0.125 0 =1042.412
max = meap 4 0.75 0 = 1094.628
Azimyth =70.94°

Elévatlon =29.48°

= w a

Hour Angle =-04:47:32.59°
Wind speed =14.97 km/hr =973 mlles/hr
Wind Direction =135.0° E of N




Mean = 1048.504

o= 57.061 -

nih = mean - 0.125 0 =21041.371

max = meag g 0.75 0 = 1091.299
Azimyth =71.01°

El@vation =29.64° *

Hou?AngIe =-04:46:46.46°

Wind speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0° E'of N '

1




Mean = 1049.439
o= 57.029 .
n@in = mean - 0.125 0 =1042.331

max = neap 4 0.75 0 = 1092.231

Azimuth =7T.09°

El&vation =29.81° . .
Hou?Angle =-04:45:53.32° Sl P .
Wind speed =14.97 km/hr = 9.3 miles/hr .
Wind Direction =135.0° B'of N .




Mean £ 1055.451

0 =69.346 8 X

N = mean - 0.125 0 =1047.082

max = mean & 0.75 0 = 1107.76
Azimuth =71.16°

El8vation =29.97° .

HouP Angle =-04:45:07.19° :
Wind speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135.0° E'of N .




Mean = 1047.843

o = 57.449 a. g o

iy = mean - 0.125 0 =.1040.662

max = mean ;I— 0.75 0 = 1090.929
Azimuth =71%.24°

Elévation =30.15° .

Hou®Angle =-04:44:14.05°

Wind speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0° E'of N

-
L]




Mean = 1048.495 .

o =59.922 ! -
ngin ='mean - 0.125 0 =5,1041.005
max = ngean + 0.75 0 = 1093.436

Azimuth 71‘ 32

Elevation =30.32° . [
Hou® Angle 5-04:43:21.91° &
Wind speed =16.09 km/hr = 10.0 miles/hr
Wind Direction ='135.9° Eof N .




Mean = 1055.151 .
o =69.073 . *

n:i'n ='mean - 0.125 0 =,1046.517

max = mean + 0.75 o = 1106.956

Azimuth =75§9°

Elevation =30.48° . T
HouPAngle 5-04:42:34.78° Pl T
Wind speed =16.09 km/hr = 10.0 miles/hlr F 4
Wind Direction ='135.9° Eof N .




Mean = 1047.410 i

0=56385+« W & mas .

W = mean - 0.125 0 =,1040.361

max = mean + 0.75 o = 1089.698
Azimuth =7147°

Elevation =30.66° p

HouPAngle =-04:41:41.63°

Wind speed =15.45 km/hr = 9.6 miles/hr
Wind Direction =135.0° Eof N

Ll L]
. .
[ ]

-

L
L




— -
Mean = 1048.191 i

o =58.702 ‘e R .
nru'n =*mean - 0.125 0 =,1040.853
max = mean + 0.75 0 = 1092.217
Azimuth =7B55°

Elevation =30.83°
HoufAngle =-04:40:49.49°
Wind speed =12.3€; km/hr = 7.7 miles/hr_
Wind Direction £135.0° B of N ° ;




I\'/rlean % 1055.096

0=65902 . # _ wie s
in =-mean - 0.125 0 = 1046.859

max = mean + 0.75 0 = 1104.523

Azimuth =74 63°

Elevation =31.0°

HoufAngle =-04:40:01.36°
Wind speed =14.97 km/hr = 9.3 miles/hr’
Wind Direction =135.0° Eof N .

L]




-

Mean 5 1046.971

0=57.652 + ® . wye i
in = mean - 0.125 0 =,1039.764

max = mean + 0.75 o0 = 1090.21

Azimuth =71.%1°

Elgvation =31.17° 2

Houf®Angle =-04:39:09.22°

Wind speed =15.45 km/hr = 9.6 miles/hr

Wind Direction =135.0° Eof N




Mean = 1054.523 :

0=66136, W o wes .
in =.mean - 0.125 0 = 1046.256

max = mean + 0.75 0 = 1104.125

Azimuth =71%8°

Elgvation =31.33° 1

Hou#Angle =-04:38:23.09°

Wind speed =13.2 km/hr = 8.2 miles/hr *

Wind Direction =135.0° E of N

* .
L




I\zean = 1046.514

O'E SE.018 4 W - e .
min = mean - 0.125 o ='1039.262
max = mean + 0.75 o = 1090.028
Azimuth =71.86°

Elgvation =31.5° E
HouMAngle =-04:37:29.95°

Wind speed =13.2 km/hr = 8.2 miles/hr

Wind Direction =135.0° E.of N




Mean = 1048.308

O=59.303 ;W f e -
min = rhean - 0.125 o = 1040.886
m.ax =mean + 0.75 0 = 1092.846
Azimuth =7193°

Elgvation =31.68° =
HoumAngle =_—04:36:38.81°
Wind speed =13.52 km/hr = 8.4 miles/hr®
Wind Direction'=135.0° E of N ¥




I\’Ilean = 1053.778

0=65395 , W . wus F

min = rean - 0.125 o = 1045.603
lax = mean + 075 ¢ = 1102.824

Azimuth'=7%%1°

Elgvation =31.84°

HougAngle ——04 35:50. 67°

Wind speed =16. 09 km/hr = 10.0 miles/ht v

Wind Direction =135.0° E of N




I\,I‘ean = 1046.016

0=57292 " 4
min = mean - 0.125 ¢ = 1038.854"
m%x = mean + 0.75 o = 1088.985

Azimuth =72,98°

Elgvakion =32.01°

HousAngle =-04:34:58.53° "

Wind speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135.0° E of N




I\*ean = 1046.822
0=57.014 %

min = mean - 0.125 0 = 1039.696
X = mean + 0.75 o = 1089.582

Azimuth’=7246°

Elgvation =32.19° £

HougAngle =-04:34:06.39°

Wind speed =13.84 km/hr = 8.6 miles/hr*

V_\lind Diréction'=135.0° E_ of N

-




L

I\*ean = 1055.411
o = 62.835 "'

mjn = mean - 0.125 o = 1045.556

n‘x = mean + 0.75 o0 = 1100.537
Azimuth'=72.23°

Elgvaﬁion =39.35°" i

HougAngle =-04:33:19.26°

Wind speed =14.64 km/hr = 9.1 miles/hr
Wind Direction =135.0° E of N




Mean = 1045.471

b= 70a6, - Wi kL
min = mean - 0.125 o = 1038.228
nf¥x = mean + 0.75 o ="1088.926

Azimuth '=7!..'31°

Elgva;ion = BPEhSE

HougAngle =-04:32:26.12° "

Wind speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135.0° E of N




Bean = 1052.743

U=67,262. W . od -
min = mean - 0.128 o = 1044.335
nfx = mean + 0.75 0 =1103.19
AZimuth*=72.88°

Elevagion =32.68°

HougAngle =-04:31:39.99° *

Wind speed =14.97 km/hr = 9.3 miles/hr= . , *
Wind Diréction =135.0° Erof \ b




Mean = 1045.273

0=57195 g . A
min = mean - 0.125 o = 1038.123
m@x = mean + 0.75 0 ="1088.169

Azimuth'=72.46°

Elevagion =32.86°

HougAngle =-04:30:47.85° *

Wind speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135.0° E of N




Mean = 1046.796

0=57373 . wy

min = mean - 0.128 0 = 1039.625
n®x = mean + 0.75 0 =¥1089.826
AZimuth*=72.64°

Elevation =33.04°

Houg Angle =-04:29:55.70" *
Wind speed =15.45 km/hr = 9.6 miles/hrs«
Wind Direction =_135..0° E of N

-




Mean = 1052.487

o=65%M25 o :
min = mean - 0.128 o0 = 1044.309
nlx = mean + 0.75 0 =*1101.556
AZimuth*=78 §1°

Elevation =33.2°
Ho'uiAngle =-04:29:08.58°* -
Wind speed £15.7% km/hr = 9.8 miles/hr. L ?‘ .
Wind Direction =135.0° E of N L

e e
i




Mean = 1044.779
o = 577007 L™ ;
min = mean - 0.128 0 = 1037.654

n#ix = mean + 0.75 0 =*1087.534
Azimuth=72.69°

Elevation =33.38°

Hc;'uEAngle =-04:28:15.43°*

Wind speed =15.77% km/hr = 9.8 miles/hr
Wind Direction =135.0° E of N

L ]
L ]




Mean = 1045224

0 = 58153 -
min = mean - 0.125 0 = 1037.955
mibx = mean + 0.75 o = 1088.839
Azimuthe=72 77"

Elevation =33.55°
Hau'r'Angle =-04:27:23.29°* }
Wind speed £16.9 km/hr = 10.5 miles/hr, ®.
Wind Direction =135.0° E of N ]

L




Mean = 1051189

0=69769 a '
min = mean - 0.125 ¢ = 1042.468
miax = mean + 0.75 0 =1103.516

Azimuth«=72.84°
Elevation =33.71°
Hc?u;Ang[e =-04:26:36.16°*
Wind speed £16.9 km/hr = 10.5 miles/hr,
Wind Direction =.135'-0° Eof N

-




-

Mean = 1044.268
o = 577460 -
min = mean - 0.125 ¢ = 1037.085

n@Bx = mean + 0.75 0 =1087.363
Azimuth=72.92°

Elevation =33.89°

HSur Angle =-04:25:43.01°#

Wind speed =14.32 km/hr = 8.9 miles/hr
Wind Direction =135.0° E of N




Mean = 1051023~ ¥

o=67%167 .

min = mean'- 0.125 0 = 1042.628

npx = mean + 0.75 0 =1101.399
Azimuth«=72.98°

Elevation =3%4.04°

H8ur Angle =-04:24:57.89° # . ]
Wing speed =14.97 km/hr = 9.3 miles/hr,
Wind Direction =135.0° E of N




Mean = 1043900 ¥

0=57204
v L .
min = mean- 0.125 0 = 1036.758

migx = mean + 0.75 0 =1086.811
Azimuth=73.06°

Elevation =3%4.22°

Hd‘ur’-\ngle =-04:24:04.75° =

Wing speed =13.84 km/hr = 8.6 miles/hr
Wind Direction =135.0° E of N




Mean = 10487774" ®
0 = 548525 ¥
min = mean'- 0.125 ¢ = 1037.958

nipx = mean + 0.75 0 =1085.668
Azimuth.=7§.}4“

Elevation =34.4°

H8ur'Angle =-04:23:12.60°  * _
Wina speed =14.82 km/hr = 8.9 miles/hr_
Wind Direction =135.0° E of N




Mean = 1050'858 ¥

o = 672965 ol

min = mean®- 0.125 "= 1042.362

n@x = mean + 0.75 0 =1101.831
Azimuth,=73.21°

Elevation =3%4.56° o
HAur Angle =-04:22:25.48°s  * .
Wina speed =15.45 km/hr = 9.6 miles/hr_ =
Wind Direction =135.0° E of N

®
. L




Mean = 1043723"° ¥
g = 58:007
min = mean’- 0:125 o= 1036.472
X = mean + 0.75 0 =1087.229
Azimuth .=7§.39°
Elevation =3%.74° .
Hour Angle =-04:21:33.33°«
Wingspeed =15.45 km/hr = 9.6 miles/hr

Wind Direction =135°0° E of N




Mean = 1045'100° ®

0'= 58504 i
min = mean*- 0.125 d*= 1037.787
M@x = mean + 0.75 0 =1088.978
Azimuth_=7§._36°

Elevation =34.92° "
Hour'’Angle =-04:20:41.19°y  ® |
wind speed =13.2 km/hr = 8.2 miles/hr
Wind Direction =135'0° E of N ;




Mean = 1050750 "

0 = 65:988

min = mean*- %25 o=1042.51
X = mean + 0.75 0 =,1100.25

Azimuth 73 43

Elevation —35 08° *

HourAngle =-04:19:54.06°y  # b
win® speed #15.77 km/hr = 9.8 miles/hr g 9.
Wind Direction =135%0° E of N ¢




Mean = 10427934 * ®

o = 58.827

min = mean*- 8..125 o=1035.581
mgx = mean + 0.75 0 =,1087.055
Azimuth 73 51

Elevation 3'5 26° L]
Hour Angle =-04:19:00.92°,

Winaspeed =15.77 km/hr = 9.8 miles/hr
Wind Direction =135%0° E of N




Mean = 1050071 " @
0= 68,149 .
min = mean:- &125 o= 1041.552

X =mean + 0.75 0 =,1101.183
Azimuth =73.58°
Elevation =§-5-.41° L]
HourAngle =-04:18:14.79°, = f
win® speed #13.2 km/hr = 8.2 miles/hr
Wind Direction =1350° E of N i




Mean = 1042731 ®
o = 58,204
min = mean:- 6.‘125 o= 1035.465

X = mean + 0.75 0 =,1086.384
Azimuth =73.66°
Elevation =38.59° .
HeurAngle =-04:17:21.65°, . .
win& speed =16.09 km/hr = 10.0 miles/hr g
Wind Direction =135:0° E of N




jean = 1044%82" @
o= 55,162
min = mean:- ?125 o= i1037.187

X = mean + 0.75 0 = 1085.454
Azimuth =73.74°
Elevatlon =3877° [ ]
Heur*Angle =-04:16:29.50° . . :
Win® speed =16. 09 km/hr = 10.0 mlles/hr . P
Wind Direction =135.0° E of N ¥




jgean = 1049'815 * ,
o = 64,313 3
min = mean:- &125 o-= 1041.745

X = mean + 0. 75 0 =1098.05
A muth =73.8°
Elevatlon =38'03° »
HaurfAngle =-04:15:43.38° N
Win# speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135:0° E of N




ljean = 1042506 * #
0 = 56,615
min = mean - .25 o= 1035.429
x =mean + 0.75 0 = 1084.967
AzZimuth =73.88°
Elevation =36.11° ’
Haur®Angle =-04:14:50.23°
Win®#speed =17.7 km/hr = 11.0 miles/hr

Wind Direction =135:0° E of N




Mean = 1043300° @
0= 56,264
min = mean.- 6'125 a= 1036.267
ax = mean + 0.75 © = 1085.498
Azimuth =73.96°
Elevation =3429° I

Hur*Angle =—O4:13:58.09°. "
Win® speed =13.2 km/hr = 8.2 miles/hr
Wind Direction =135.0° E of N




edn = 10491227 * ‘
0 = 65,182
min = mean,- &125 g% 1041.0/9

X = mean + 0.75 o= 1098.114
AZimuth =74.03°
Elevatior.l =§E.45° "
HQur®ngle =—O4:13:10.96°* & i
Win® speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N ’




ean = 1042:125* @
0 =56,911
min = mean - 125 o= 1035.012
max = mean + 0.7; g= 1084.808
AzZimuth =74.11°

Elevation =36'63° #
HQur®ngle =-04:12:17.82° 5

Win®#speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0° E of N




ean = 1048631 *
0 = 65,015 i
min = mean —&125 a.= 1040.504

x = Mmean + 0.75 0 = 1097.392
AZimuth =74.17° ;
Elevation =3#'78° M
HQur#ngle =—04:11:32.69°.

Win® speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0° E of N




Mean = 1041:690 * [

g = 57.503

min = mean - 88125 g = 1034.502

max = mean + 0.75 o =1084.818
Afimuth =74.25° ;

Elevation =36%96° .
HqQur#ngle =-04:10:39.55°

Win@ speed =14.64 km/hr - 9.1 miles/hr

L]

Wind Direction =135.0° E of N




edn = 10434958+
0 = 54.888 L
min = mean - '&125 Gs ,1035 Q97
max = mean + 0.75 o = 1083.124
AZimuth =74.33° :
Elevation =472.14° A
HQur#Angle =-04:09:47. 41° &
Win@ speed =13.84 km/hr = 8 6 miles/hr H ‘
Wind D|rect|on =135,.0 E of N 4
0 .




Medn = 10476871+ " §
0 = 65,847
min = mean - 5!125 a= ,1039 64

max = mean + 0.75 o = 1097.256
Atmuth =74.39°

Elevation =873° .
Hour#ngle =-04:09:00. 28

Win@ speed =14.64 km/hr = 9 1 miles/hr ~
Wind Direction =135.0° Eof N




Mean =1041:162+

U =57.903

min = mean - 88125 g = 1033.924
max = mean + 0.75 o = 1084.59
AZimuth =74.47°

Elevation =3#48° 8

Hour#ngle =-04:08:07. 13"
Wingspeed =14.97 km/hr = 9 a1 mlles/hr
Wind Direction =135,0° E of N




Medn = 10414536+ [

= 55.538 ;
min = mean - 8125 g = 1034.594
max = mean + 0.75 o = 1083.19
A%muth =74.55°
Elevation =32.66°
Hour.Angle =-04:07:14. 99 M
Wing speed =14.97 km/hr =9.3 mlles/hr
Wind Direction =135.0° Eof N




Mean = 10474622 ’

= 66.079 )
min = mean - 8125 g = 1039.362
max = mean + 0.75 0 = 1097.182

AZimuth =74.62°
Elevatiof =83A82°
HourAng!e ——04 06:27.86° i
Wing speed =14.97 km/hr = 293 mrles/hr ,
Wind Direction =135.0° Eof N ’




Mean =1041.070 = [

U = 57.943

min = mean - 8125 o = 1033.827
max = mean + 0.75 0 = 1084.527
ABmuth =74.69°

Elevation =38-0 .

Hour.{-\ngle ——04 05:34.72°
Wingyspeed =12.71 km/hr = = 7.9 mlles/hr
Wind Direction =135.0° E of N




Mean = 1047.473 # ‘

8- 66.835 )

min = mean -93125 g = 1039.119
max = mean + 0.75 0 = 1097.6
ABmuth =74.76° 4
Elevatiod =38.16°

Hour,Angle -—04 04:48.59° %
Wlni speed =14.32 km/hr = £ 8.9 mlles/hr :
Wind Direction =135.0° Eof N




Mean = 1040.988 « ’
&=57.915

min = mean - 8§125 0 = 1033.749
max = mean + 0.75 0 = 1084.424
AFimuth =74.84°

Elevation =3&34°

Hour,.AngIe ——04 03:56. 45"

Wlni, speed =14.97 km/hr = 2 9.3 mlles/hr
Wind Direction =135.0° E of N L

[




v
Mean = 1041,209« *
L]
8 - 56.090
min =mean - 9125 0= 1034 198
max = mean + 0.75 0 = 1083.277
A¥imuth =74.91°

Elevatiof =88.52° 4

Hour,,AngIe ——04 03:04. 31"

L]
Wlnd speed =14.32 km/hr £ 8.9 mlles/hr '
Wind Direction =135.0° Eof N




Mean = 1047,016 s *
8-65709"

min = mean - 0.125 03t= 1038 791
max = mean + 0.75 0 = 1096 365
Mimuth =74.98° ¢

Elevatiofi =88.68° ¢

Hour.Angle -—04 02:17. 18"

]
Wlnd speed =15.77 km/hr = £ 9.8 mnles/hr '
Wind Direction =135.0° E of N




Mean = 104(_)._436 R |

& =57.301

min = mean - §l250= 1033 274
max = mean + 0.7% o = 1083. 412
ABmuth =75.06°

Elevation =3&86°

Hour Angle =-04:01:24.03°
W?IndI speed =15.77 km/hr = 9.8 miles/hr
Wind Direction =135.0° E of N

L ]




Mean = 104},282. ®

& =59.126

min ="mean - 9,125 g= 1033 891
max = mean + 0.75 o = 1085. 627
A®imuth =75.13°

Elevation =8%.04°

Hour,Angle =-04:00:31.89°
Wli.nd speed =12.71 km/hr £ 7.9 miles/hr »
Wind Directién =*l35‘.0° E of N




Mean = 1046,870, = &
&= 66.641

min ="mean - §1250= 1038 54
‘max = mean + 0.75 ¢ = 1096.851
Aimuth =75.2°

Elevation =3%.2°

Hour Angle ;—03:59:44.76°

WTnd speed =13.2 km/hr =*8.2 miles/hr
Wind Directién =135'.0° E of N




Mean = 1040,206 ,
8=58302" *

min = mean - 0.125 o=1032.919
max = mean + 0.75 o = 1083.933
A@imuth =75.28°

Elevation =3%.38°

Hour Angle =-03:58:51.62°
Win speed =13.84 km/hr £ 8.6 miles/hr
Wind Direction =135.0° E of N




Mean = 1046,913, ‘I.
#=066632"

min ="mean - Q.125 (6p = 1038 584
max = mean + 0.78 ¢ = 1096. 887
A@imuth =75.34°

Elevatiom =89.54°

Hour Angle =-03:58:06.49°

ang speed =13.84 km/hr £ 8.6 miles/hr #
Wind Directién =135.0° E of N




Mean = 1040.062 , ‘
#=56.981 :

min ='mean - §125 0 = 1032.94
max = mean + 0.75 ¢ = 1082.798
Aimuth =75.42°

Elevation =3%.72°

Hourﬁngle =-03:57:13.35° b

Win speed =14.64 km/hr £ 9.1 miles/hr
Wind Direction =135.0° E of N




Mean = 1042,844 * Y
#=54.803"

min ='mean - 125 0 = 1'035.9.94
max = mean + 0.76 0 = 1083.946
Aimuth =75.5°

Elevation =33.9°

Hour Angle =-03:56:21.20°

win speed =14.64 km/hr £ 9.1 ‘Miles/hr
Wind Direction =135.0° E of N




Mean = 1046,906, ®
#-66839"

min ='mean - Q125 0 = 1'038.5‘51
max = mean + 0.76 g = 1097.035
ABimuth =75.57°

Elevation =4Q.06°

Hour.Angle =-03:55:34.08°
win speed =14.97 km/hr £ 9.3 Miles/hr
Wind Direction =135.0° E of N

L




]
Mean = 1039.796 , ’

#=58.829 °

min ='mean - §,125 0 = 1032.442
max = mean + 0.76 0 = 1083.918
Afmuth =75.64°

Elevation =4Q.24°

Hour Angle =-03:54:41.93° .

win speed =14.64 km/hr £ 9.1 miles/hr
Wind Direction =135.0° E of N




Mean = 1042.832

@®=158.189*"

min =fmean —%125 o = 1035.559
max = mean + 0.76 & £*1086.475

Agimuth =75.95°
Elevation =40.97°

Hour Angle £-03:51:10.36° ! .
V\ﬁnd.speed =13.52 km/hr = 8.4*miles/hr *
Win?‘] Directien =135.0° E of N




Mean = 1046,551

#=066.614"

min =*mean —Q125 o = 1038.224

max = mean + 0.76 & £"1096.511

P‘imuth =76.01°

Elevation =41.13°

Hour Angle £-03:50:23.23° *
V\/Tnd-speed =13.52 km/hr = 8.4'miles/hr #*
Win% Direction =135.0° E of N




Mean = 1038.611

@=58.696 "

min ="mean —%125 o = 1031.274
max = mean + 0.76 0 =°1082.633

Agimuth =76.09°

Elevation =£f%.31°

Hour Angle £-03:49:30.08° .
V\ﬁ‘nd.speed =16.09 km/hr = 10.0 miles/hr®
Wind Direction =157.0° E of N




Mean = 1046.181

g-67362%" "

min =smean —%125 o = T037.76
max = mean + 0.75 & %*1096.702

Agimuth =76.16° :
Elevatiop =ﬂl.47°

Hour Angle £-03:48:43.96° L
WAnd speed =11.27 km/hr = 7.0%miles/hr
Win¥ Direction =157.0° E of N .




Mean = 1038.447
¢=50022*" "
min =smean —%125 o = 1031.069
max = mean + 0.75 ¢ £*1082.713

Agimuth =76.23

Elevation =§%.65°

Hour Angle £-03:47:51.81° *
Wrnd'speed =12.71 km/hr = 7.9'miles/hr #
Windl Direction =157.0° E of N




Mean = 1042.027

¢=-60350+" * @

min =smean - 0.125 o = 1034.484

max = mean +'0.7.5 & ="1087.29

Agimuth =76.31° .

FElevatiop =‘4}.83°

Hour Angle £-03:46:58.67° 5 .
" Wind speed =10.94 km/hr = 6.8%miles/hr #
Win?i Direction =1§7.0° E of N




Mean = 1046.216

&= 66281 **

min =smean —%125 o = 1037.931
max = mean +'0.75 & =*1095.927
Afimuth =76.37"

Elevatiop =él%.99°

Hour Angle £-03:46:12.54° L
Wind'speed =8.69 km/hr =5.4 riles/hr
Wir8 Direction =157.0° E of N




Mean = 1038.134

@ = 58.568 **

min =smean —%125 o = 1030.813

max = mean + 0.75 ¢ =*1082.06
Agimuth =76.45°

Elevation =§%.17°

Hour Angle £-03:45:19.40° L]
Wind'speed =8.69 km/hr =s5.4 miles/hr
Wil Direction =157.0° E of N




Mean = 1041.861
§ = 56033+
min =smean -,0.125 o0 = ¥034.856

max = mean 1‘0.7,5 & =*1083.885

A‘imuth =76.53°

Elevation =:1E.35°

Hour Angle £-03:44:27.26° F L]
Wind‘speed =12.39 km/hr & 7.7*miles/hr ‘1'

Win Direction =135.0° E of N




Mean = 1045.452

g-638047¢" * ¥

min =smean —&125 o = ¥036.946

max = mean +0.7p &=*1096.487
Agimuth =76.59° .

Elevatiop =:1Z.52°

Hour Angle £-03:43:40.13° .
V\Hnd'speed =10.94 km/hr & 6.8"miles/hr #
Winl Direction =135.0° E of N




Mean = 1037.824
@ = 59.525 **
min =smean - 0.125 o = 1030.383

max = mean + 0.75 0 =*1082.467

Aiimuth =76.67"°

Elevation =:1Z.7°

Hour Angle =-03:42:46.98° L
V\Hnd‘speed =10.14 km/hr & 6.3"'miles/hr #*
Wirl Direction =135.0° E of N




Mean = 1045.527

§ = 68708 **

min =smean - 0.125 o = ¥036.938

max = mean +0.75 &=*1097.658

%imuth =76.73° "

Elevatiop =.42.86°

Hour Angle £-03:42:00.86° L]

Wincrspeed =10.14 km/hr & 6.3*miles/hr #

wirl¥ Direction =135.0° E of N i e
L




Mean = 1037.772
g = 58.617 =~
min =smean -0.1250 = 1030.445

max = mean +'0.75 0 =+1081.735

Aiimuth =76.81°

Elevation =43.04°

Hour Angle'=t03:41:08.71° L
wind'speed =10.14 km/hr & 6.3miles/hr -
Wirll Direction =135.0° E of N




Mean = 1041.507
& = 57.245 »*
min =smean - 0.125 o = ¥034.352

max = mean -?—'0.7_5 ©=-1084.441

Agimuth =76.88°

Elevation =43.22°

Hour Angle =-03:40:16.57° .
wind*speed =11.27 km/hr & 7.0smiles/hr .
wirl Directipn =135.0° E of N




Mean = 1045.019

g=-68792«" * @

min =.mean - 0.125 0 = ¥036.42
max = mean -T—'O.7.5 ©=+1096.613
A‘imuth =76.95°
Elevation =43.38°
Hour Angle =-03:39:29.44° .
Wino'speed =11.27 km/hr & 7.0mmiles/hr =
Wirf¥ Directipn =135.0° E of N




Mean = 1037.340

g=60126+" * @

min =;mean - 0.125 o = ¥029.824

max = mean -7—'0.7_5 o =+1082.435
A‘imuth =77.03° £

Elevation =43.57°

Hour Angle =-03:38:36.30° .
Wind'speed =11.27 km/hr & 7.0=miles/hr =
Wirl¥ Directipn =135.0° E of N




Mean = 1040.957
§ = 57.735 «*
min =;mean - O 125 0 = ¥033.74
max = mean +'0 75 ©=:1084.258

Aflmuth =77.1° "
Elevation 43 7y
Hour Angle -=—03 37:44.15° - .

wind'speed =10.94 km/hr &= 6.8smiles/hr s
Wirf Directipn =135.0° E of N




Mear = 1044.867 ’

g=67.119+* * t

min =,mean - 0.125 o= ¥036.477

max = mean -1-'0.7_5 @ =+1095.206
imuth =77.17°

gevatiop =43.91°

Hour Angle »£03:36:57.03° .
Wind"speed =12.71 km/hr & 7.9smiles/hr
Wirf Directipn =135.0° E of N




Mean = 1037.216
g=50559+" * #§
min =,mean - 0.125 g = 1029.772
max = mean -:‘0.7'5 @ =+1081.885 *
imuth =77.24°
gevatiop =44.09°
Hour Angle =£03:36:04.88° .
Wind*speed =11.27 km/hr = 7.0smiles/hr =
Wirf# Direction =135.0° E of N ;




Mean = 1044.188

g=71388+* * 8

min =,mean - 0.125 o = ¥035.264
max = mean + I."'0 1D Ges «1097.%27
Ailmuth =77.31°

EIevatlon 44 oy

Hour Angle =-03:35:18.76° ]
* Wind"speed =11.27 km/hr & 7.0smiles/hr =
Wirf¥ Directipn =135.0° E of N




Mean = 1036.800

g=59686s" * #

min =,mean —.0.125 o = 1:029.339
max = mean +'0.7_5 @ =+1081.564

Afimuth =77.39°
= evatlon 44 43°

Hour Angle =.03:34:25.61° ]
Wind"speed =9.33 km/hr =,5.8 miles/hr
Wirf# Direction =135.0° E of N




Mearl = 1040.088

§=61727+* =" ®

min =,mean - O 125 0 = 1032.372 -
max = mean 1%0. 75 6=+1086.383 .
&lmuth =77.46°

Elevatlon 44 61°

Hour Angle =-03:33:34. 47° : -
" Wind'speed =12.71 km/hr = 7.9smiles/hr »
Wirf¥ Direction =+18'0_.0° Eof N




Mean = 1043.561

g=71972.* * @ :

.min =,mean - 0.125 o = 1034.564 -

max = mean 1'0.7_5 @+:1097.539 ,
imuth =77.53°

Elevation 44 7T
Hour Angle =-03:32:47.34° . -

" Wind*speed =10.14 km/hr = 6.3amiles/hr 5
Wir Direction =157.0° E of N ;




Mean = 1036.125

g = 61.356 " .

min =,mean - 0.125 o = 1028.455

max = mean -7—'0.7'5 @ =+1082.142
imuth =77.6°

Elevatlon =44.96"

Hour Angle +103:31:54.20° L]
" Wind*speed =11.27 km/hr = 7.0amiles/hr «
Wirtd Direction =157.0° E of N




Mearf = 1039.052
g=‘62.08§ «* = g
,min =,mean - 0.125 o = 1031.291 -
max = mean -1'0.7_5 @& =.1085.617 |,
Agimuth =77.68°
Elevation =45.14°
Hour Angles03:31702.06° .
" Wind"speed =7.56 km/hr =,4.7 miles/hr ..
Wirtd Direction =‘1ES7.0° E of N




Mearf = 1043.106 .’
g = 72.097 &* B
min =,mean - 0.125 0 = 1034.094 -
max = mean :'0.7‘5 @&+=.1097.179 |,
A'zimuth =77.74°
Elevation =45.3°
Hour Angles%03:30:14.93° .
* Wind*speed =9.82 km/hr = 6.1 miles/hr ..
Wit Direction =‘1§7.0° E of N




Mean = 1035.865

g = 61.536_ -" i

min = mean - 0.125 o = 1028.173

max = mean :‘0.7‘5 a;.1082.017
A'Zimuth =77.82°

Elevation =45.48°

Hour Angle%%03:29:22.79° »
Wind*speed =9.82 km/hr = 6.1 nailes/hr »

Wirne Directipn =157.0° Eof N i




Mearf = 1043.062

g§=72141s =" @ .
_min = mean - 0.125 o = 1034.045 -
max = mean 3‘0.7_5 a.=.109%.168 .
Azimuth =77.88°

Elevation =45.64°
Hour Angles03:28:36.66° .

" Wind*speed =10.46 km/hr = 6.5.miles/hr ',.
Wirt Direction =157.0° E of N :




Mean' = 1035.744

g=61475. =" ®

min = mean - 0.125 o = 1028.06
max = mean -T!0.7_5 a.=.108i.851
Azimuth =77.96°

. Elevation =45.82°
Hour Angle%®03:27:43.51° >
Wind*speed =10.94 km/hr = 6.8.miles/hr
Wirel Direction =157.0° E of N ;




Meart = 1039.796
g§=61889, ' ®
_min = mean - 0.125 o'= 1032.06
max = mean -1'0.7_5 @ ~.1086.213 .
Azimuth =78.03°
ETevation =46.0°
Hour Angle’s03:26:52.38° P
" Windspeed =12.39 km/hr = 7.7 miles/hr '.
Winel Direction =157.0° E of N 3




Mearr = 1043.282 * *-,

g=72008, *' @ a

min = mean - 0.125 o = 1034.281

max = mean 12075 0.,=..109%.288 J
Azimuth =78.1° "

E_Tevation =46.16°

‘Hour Angle®®03:26:05.25° &
* Wind*speed =7.89 km/hr =, 4.9 iles/hr .
Winsl DirectiPn =‘180.0° E of N




Mean = 1035.696

g = 61.255_ . Ll

min = mean - 0.125 o = 1028.039

max = mean 120.75 a _=,108i.638
Azimuth =78.18°

ETevation =46.35"

Hour Angle®:®03:25:12.10° :
Wind*speed =7.89 km/hr = 4.9 miles/hr
Winsl Directipn =157.0° E o.f \

L]




Mean = 1043.160
g271911,s ' ® b

min = mean - 0.125 o = 1034.171 .

max = meap 3‘0.75 a,.=.109?.093

Azimuth =78.24°

ETevation =46.51"

"Hour Angle®203:24:26.98° -
* Wind speed =7.89 km/hr = 4.9 miles/hr
Winl Direction =157.0° E of N ’




Mean = 1039.196

g = 62.045 .+ L :
mln = mean 0.125 0= 1031 441 .
; max = meanp 3s0.75 a_—-_1085 13
Azimuth =78.31°

ETevation =46.69°

"Holr Angle®*03:23:34.84° .

* Wind speed =10.14 km/hr = 6. 3,  miles/hr | .
Winel Dlrect|on —157 Q% E of N




Mean = 1035.170

g=6l6d, =° @

min = mean - 0.125 o = 1027.465

max = mean Y2075¢a _-—-,1081.403

Azimuth =78.38°

E*evation =46.85"

Hour Angle®:203:22:48.71° .
* Wind* speed =8.69 km/hr = 5.4 miles/hr

Winel Directi_on =157.0° E o-f \




Mean = 1038.763
g=262405,. ' @ Y
min =,mean - 0.125 0= 1030.962 .
: max = mean %30.75 a_=_1085.567 :
Azimuth =78.45°
Elevation'=47.03°
"Holr Angle®*03:21:56.57° "
* Wine speed =7.89 km/hr = 4.9 miles/hr
Wine Direction =157.0° E of N

-




Mean = 1034.927

g= 61.87&_3 . .

min = mean - 0.125 0 = 1027.192

max = mean %20.75 [0 _=,1081.335

Azimuth =78.52°

E*evation =47.19°

Hour Angle®*03:21:10.44° .
* Wind*speed =9.82 km/hr = 6.1 miles/hr

Wil Directi_on =157.0° E (;f \




Mean = 1038.471 = %,
g = 62180, . ¥
min = mean - 0.125 0= 1030.698
max = mean %80.75 a,=_1085.105
Azimuth =78.59°
Iﬁevation =47.37°
"Hour Angle®203:20:18.30° 5
* Windt speed =9.82 km/hr = 6.1 miles/hr
Winsl DirectLon =_15-7.0° Eof N .

.




Mean = 1038.549

U 62.419 .= LA

mln = mean 0.1250 = 1030 746
max = mean %80.75 a,—_1085 363
Azimuth =78.66°

gevation =47.52°

"Holir Angle®03:19:34.18° &

* Wind speed =10.46 km/hr‘— 6.5, m[les/hr P
Winsl Dlrect|on —157 0° Eof N




Mean = 1034.621

g =61.764 = .

min = mean - 0.125 0 = 1026.901

max = mean %0.75 a _——-,1080.945
Azimuth =78.72° ©

Blevation =47.68°

Hour Angle®™*03:18:48.05° .
Winaspeed =9.01 km/hr = 5.6 riles/hr
Winsl Direction =157.0° E of N




Mean = 1038.812

U = 62.300 .= L

mln = mean 0.125 o= 1031. 024 i
" max = mean %0.75 g =,1085.537 :
Azimyth =78.8°

Iaevation =47.86°

"Hotr Angle%*03:17:55.91° L

* Wine speed =10.94 km/hr = 6. 8, _ miles/hr .
Wing Dlrectlon =157.0° Eof N




Mean = 1041.918
272477, " @
in = - mean - 0.125 o = 1032. 858 .
" max = mean ¥0.75 g =,1096.276
Azimyth =78.87°
Bevation'=48.03°
*Holir Angle®203:17:08.78" -

- Wind speed =11.27 km/hr = 7.0,miles/hr .
Winsl Dlrectlon =157.0° Eof N

"=




Mean = 1034.429

U =61.665 , .

mln = mean 0.125 0 = 1026.721
max = mean %0.75 g =,1080.678
Azimuth =78.94°

Bevation =48.21°

‘Hour Angle®®03:16:15.64° &
Winaspeed =11.27 km/hr = 7.0 miles/hr »
Wingl D|rect|on =157.0° Eof N




Mean = 1038.762

02624414 " @

?nln = mean 0.125 o= 1030. 957
"max = mean %0.75 g =, 1085.592 )
Azimyth =79.02° "

Igevation =48.39°

"Holr Angle**03:15:23.49° -

= Wind speed =9.33 km/hr = 5.8 rplles/hr
Wing Dlrect|on =157.0° E of \




Mean = 1041.595

g=72512 s LI

?mn = mean 0.125 o= 1032. 531
"max = mean %0.75 g =.1095.979 i
Azimyth =79.08° "

Blevation'=48.56°

"Holr Angle®203:14:36.37° %
= Winaspeed =11.59 km/hr = 7. 2,  miles/hr .
Wingl Dlrectlon =B 0=E of N




Mean = 1033.838
g=61770 .+ =° @

Min = mean - 0,125 o = 1026.117
max = mean %0.75 g =.1080.166
Azimuth =79.16° "
Hevation'=48.74°

"Holr Angle®203:13:44.22° 5

Wina speed =8.21 km/hr = 5.1 miles/hr
-
Wingl Direction =157.0° E of N




Mean ='1038.218

J262501,. ' @

mln = mean 0.125 o= 1030. 394
“max = mean %0.75 g =, 1085.161 :
Azimyth =79.23° *

Hevation'=48.92°

*Hotir Angle®=2*-03:12:52. 08° "
« Wind speedl 10.46 km/hr.— 6.5_mi|es/hr .
Wing Direction =157.0° Eof N 5




Mean = 1033.734 - #
0=61974,. ' g

Min = mean - 0.125 o = 1025.987
max = mean %0.75 g =,1080.214
Azimuth =79.3°

Mevation =49.08°

*Hour Angle®203:12:05.95° 5

Wina speed =8.21 km/hr = 5.1 miles/hr
Wingl Direction =157.0° E of N

*




Mean =1038.525

g=6253,. ' 4o

mln = mean 0.125 o = 1030. 708
"max = mean %0.75 g =, 1085.425
Azimyth =79.37° * :
Mevation'=49.26°

"Hotr Argle®=-03:11:13.81°

« Wind speed =8.21 km/hr = 5.1 r'piles/hr
Wind Direction =157.0° E of N




Mean ='1041.221

g=725%6,. ' o

mln = mean 0.125 o= 1032. 147
“max = mean %0.75 g =,1095.668 ;
Azimyth =79.44° *

Mevation'=49.42°

*Hotr Arlgle®=03:10:27.69° L
« Wind speed =11.59 km/hr.= 7.2'_miles/hr .
Wingl Direction =157.0° Eof N B




Mean = 1033.327
0=61858_. ' g

™in = mean - 0.125 o = 1025.595

max = mean %0.75 g =,1079.72
Azimuth =79.51° "

HMevation' =49.61°

"Holr Anigle®#03:09:34.54° R
+ Wina speed =7.56 km/hr = 4.7 miles/hr
Wingl Direction =157.0° E of N




Mean ='1038.329

0262507 . +° g

hin = - meén - 0,125 0= 1030. 516 -
max = mean % 0.75 g = 1085.209
Azimuth =79.59° * :
Mevation'=49.79°

"Hour Arlgle®=-03:08:42.40° .

+ Wind speed =10.14 km/hr =6.3 mlles/hr .
Wlnd Dlrect|on —157 0°E of \




Mean ='1041.119 - ®.
o=172.934 o . " &
in = - meén - 0,125 0 = 1032. 002
" max = mean %0.75 g_—_1095.§19
Azimuth =79.66° * :
Mevation'=49.96°

*Hoar Angle'ﬂ-03 07:55.27°
« Wina speed =13.2 km/hr = 8.2 mlles/hr
Wlm:i Dlrectlon =157.0° E of N




Mean = 1033.159
0=62235 4  .wt g

‘min = meén - 0.125 o = 1025.379
max = mean %y0.75 g = 1079.835
Azimuth =79.73° °

Mevation =50.14°

*Hour Angle*=-03:07:03.13°
Wina speed =8.21 km/hr = 5.1 mlles/hr
erm Direction =157.0° E of N




Mean ='1037.904 +  ®._
0=62828,. +' g :
"in = me&n - 0.125 ¢ = 1030.051 ,
" max = mean % 0.75 g = 1085.926
Azimuth =79.8° ;
#Mevation'=50.32°
*Hour Arigles=-03:06:10.99° P

. V\‘I_ind speedl=8.21 km/hr =‘ 5.1 r‘niles/hr
WiRd Direction =157.0° E of N

" a




Mean ='1032.792

0=62140, ' o

min = mean 0.125 0 = 1025. 025
max = mean % 0.75 g =1079.398
Azimuth =79.87° * '
Mevation'=50.48°

*Hotr Arigle®=-03:05:24.86° a

« Wina speed =10.14 km/hr = 6. 3 miles/hr 3
eryj Dlrect|on =157.0° EOf N




Meam ='1037.985 «  ®._
0=62718 .« " g A
"min = me&n - 0.125 o = 1030.145 ,_
" max = mean % 0.75 g = 1085.924
Azimuth =79.95° * '
Mevation =50.66° .
*Hotr Adgler=-03:04:32.72° .

. V\.I_ind speedl=8.69 km/hr =‘ 5.4 r_niles/hr
WiRd Direction =157.0° E of N

-

LN




Meam ='1040.512 +  ®.
o= 72.952.- L &
“min = me&n - 0.125 0 = 1031.393 ,
" max = mean % 0.75 g = 1095._226
Azimuth =80.01° * :
#Mevation' =50.83°
*Hotrr Arfgle*=-03:03:45.59° - =
- V\‘Ilind speedl=9.82 km/hr =‘ 6.1 r‘niles/hr
WiRgd Direction =157.0° E of N

-

e




Mean ='1032.588

0 =62.420 , T

'min = meén - 0.125 o = 1024.786

max = mean *s0.75 =) 1079.f104

Azimuth =80.09° *

Mevation =51.01°

*Hour Angle*=—03 02:52.44°

. Wlnd speed =10.14 km/hr = 6.3 mlles/hr
Wing Direction =157.0° E6FN ¢

*




Mean =1036.921 . ¥
0262342 ., .t g

*hin = mean 0.125 0 = 1029.128 .
max = mea_n *0.750= 1083 677
Azimuth =80.16° * ;
Mevation =51.19°

*Hour Aﬁglel: 03:02:00.30°
! Wlnd speed =8.69 km/hr =54 mlles/hr
Wn;d Dlrectlon =157.0° EGf N




Mean ='1039.947 . -
THT2TO P
nin = meén 0.125 0 = 1030.852 .
" max T mean %, 0.75 0 = 1094, 519
Azimuth =80.23° * '
Bevation =51.36°
*Hour ArTgIel':-—O3 01:13:17:
Wlnd speed =8.69 km/hr = 5.4 mlles/hr
Wn;d Dlrectlon =157.0° EGf N




Mean ='1032.273
0=62335., ' g
“in = mean - 0.125 0 = 1024.481
max = mean % 0.75 0 = 1079.024
Azimuth =80.31° *
Mevation =51.54°

*Hour ArTgIeﬂ-:-—O3 00:20.03°
Wlnd speed =8.21 km/hr = 5.1 r_mles/hr
eryj Direction =157.0° E 6f N




Mean ='1037.071 . [ ]

T a2 250 e A
®in = mean 0.125 0 = 1029.288 _
max = mean % 0. 75 g= 1083 765
Azimuth 80 38°

Elevatlorr ~=51.73"

*Hour Adgleh- -02:59:27.89°
‘ Wlnd speed =9.01 km/hr =5.6 mlles/hr
Wn;d D|rect|on =157.0° E6f N




Mean = 1032.297
0=61288 ,

*in = mean - 0.125 ¢'= 1024.636
max = mean % 0.75 0 = 1078.263
Azimuth =80.45° *

Mevation =51.89°

*Hour AHgIe:—O2 58:41.76°

, Wlnd speed =9.82 km/hr = 6.1 mlles/hr
an:l Direction =157.0° E 6f N

s




Mean =1036.885 - ..
03762500 % iut il .
1’n|n = meén 0.1250 = 1029 072
S maxi— mean % 0 750 = 1083 767
Azimuth = 80 52°

Bevation =52.07°

“Hour AHglea -02:57:50.62°

' Wlnd speed =9.01 km/hr =56 mlles/hr
qud Direction =157.0° E 6f N




Mean =1039.868 . ]
o= 70.679 o "
in = meén 0.1250 = 1031 034
max = mea_n % 0. 75.‘.7,“. 1092 §77
Azimuth =80.59° *
evation =52.23"
*Hour Afgles=-02:57:03.49° ‘
| Wlnd speed =11.27 km/hr = 7.0 miles/hr
ngd Dlrectlon =157.0° E 6f N ¥ "




Mean ='1031.697

0 =62.601 , .

*in = meaﬁ 0.125 o' = 1023.872
max = mean 'll.,O 75 o= 1078 648
Azimuth =80.67°

ﬂevatlon =52.42°
*Hour Angle'-:o 02:56:10.35°

Wlnd speed =11.27 km/hr = 7.0 mlles/hr

W.qp Direction =157.0° E 8f N -




Mean ="1036.359 . -

0% 62178, 4 :
®nin = mean 0.125 0 = 1028. 586
. max = meanﬁ, O 750 = 108‘2 992
-A2|muth =80.74"°

Blevation.=52.6° ’

*Hour Angleu- -02:55:18.20°

" Wlnd speed =10.14 km/hr.= 6.3 mlles/hr
-
qud Dlrectlon =157.0° E&8fN °




Mean ='1039.084 . ®.
0=72526, -

*nin = mean 0.125 0 = 1030. 018

" max = mean-h O 750 = 109‘3 479
AZ|muth =80.81°
Mevation =52.76°  *
*Hour Angles=-02:54:31.07° .
. Wing speed =9.82 km/hr = 6.1 miles/hr
Wigd Direction =157.0° E8f N *




Mean = 1031.277 -

o= 62.067'_ -

*in = mean - 0.125 o = 1023.519

max = mean s 0.750 = r1077.'827

Azimuth =80.89° *

Mevation =52.95°
*Hour Anglev.w—02:53:37.93° 4
. Wing speed =9.01 km/hr = 5.6 miles/hr

Wigd Direction =157.0° E3fN

-




Mean = 1036.681 . ™

O Wi62287 55" s gl TR
®nin = mean - 0.125 o = 1028.895
max = mean g 0.753 = .108'3._396
Azimuth =80.96° *
Mevation.=53.13°

*Hour Afgles=-02:52:45.79° -
. Wing speed =9.01 km/hr = 5.6 miles/hr
- L]
Wigd Direction =157.0° € 6f N




Mean = 1031.015 .
0=62.401 _ .

*hin = mean - 0.125 o = 1023.215
max = mean - 0._75 0= '1077.'816
Azimuth =81.03°*
Mevation =53.29°
*Hour Angle-?—02:51:59.66° &
Wing speed =9.01 km/hr = 5.6 miles/hr
Wigd Direction =135.0° E8f N

-




Meap =1036.783 . .
06259 , .- o
%in = mean 0.125 a = 1028. 959
" max = mean||—, 0. 75 o= 108'3 729
A2|muth =811 .
Elevatlon =53.48°

*Hour Angletw -02:51:07.52°

: Wlnd speed =9.01 km/hr =56 mlles/hr
qud Direction =135.0° E 8f N




Meap = 1038.405 . &
ow72728 , et y
®min = me‘an 0.125 0 = 1029. 314

max = meanrﬁ 0.750 = 109'2 95
Azimuth =81.42°*
Elevatlon_=54.24° '
*Hour Angles%-02:47:28.92° .
. Wingd speed‘=8.69 km/hr = 5.4 miles/hr
Wigd Direction =135.0° E®f N

"




.Mean = 1030.081 -

0=62394 _

*nin = mean - 0.125 ¢ = 1022.282

max = mean#g 0.75 0 = 1076.876
Azimuth =81.5° * 5
®levation =54.43° ’

*Hour Angles%-02:46:35.78°

Wing speed'=11.27 km/hr = 7.0 miles'/.hr
Wigd Direction =135.0° E&f N




Meap = 1036.884 . @

0562.599% s ;
%nin = mean - 0.125 0 = 1029. 059
* max = mean-;— 0.75.0 = 1083 834.

Azimuth =81.57° :

!Ievatlon_=54.61 ¥
*Hour AMgles %-02:45:44.64°
" : -
. Wing speed =10.14 km/hr. = 6.3 miles/hr*

- -

Wigd Direction =135.0° EBf N .,




Meap =1038.215.., a.

O 72.823%  n ;
%nin = mean - 0.125 g = 1029. 112
" max = mean-ﬁ 0.750 = 109'2 832

Azimuth =81.64°* " - :

!Ievatlon =547 .

*Hour Angla, -02:44:57.51°

a Wlngl speed =10.46 km/hr =6.5 mlles/hr
ngd Direction =135.0° E®f N "

L]
*




Mean = 1029.644 .
0= 62529 .

®*min = mean - 0.125 ¢ = 1021.828
max = mean-t 0. 75 a_— 1076. 54
Azimuth =81.72°
Blevation =54.96°
*Hour Angles%-02:44:04.36°

. Wingd speed'=9.82 km/hr = 6.1 miles/h-r
Wigd Direction =135.0° EBf N




Meap = 1036.622 . ™
o ¥ 62. 619 L :
L ]
%nin = mean - 0.125 g = 1028.795
max = mean-t 0.750 = 1083 586
AZ|muth =81.79°*

!levatlon_=55.14 G
*Hour Angles5-02:43:12.22°
. Wing speed =9.82 km/hr = 6.1 miles/hr -

VT/iQd Direction =135.0° E bf N

L]




Mean = 1029.423 .
0= 62426 -
®*min = mean - 0.125 ¢ = 1021.62
max = mean-ﬁ 0. 75_0 T 1076. 242
Azimuth =81.86° *
Blevation =55.31° 4
*Hour Angles %-02:42:26.10°
. Wingd speed'=10.46 km/hr = 6.5 miles?hr
Wigd Direction =135.0° EBf N




Meap = 1036.381 , ™
0F62470 , - :
“I’mn = me'an 0.125 g = 1028. 572
" max = mean-t 0. 755_— 1083, 233
AZ|muth =81.94°"

Elevatlon_=55.49 ¥
*Hour Angles %-02:41:33.95°

L A "
. Wing speed =9.82 km/hr = 6.1 'miles/hr *
. *

Wigd Direction =135.0° E Bf N




Meap = 1038.085 , @
0.3%72.995 % Foa :

#nin = mean - 0.125 0 = 1028 966

* max = meanit 0. 753_— 1092 801
Azimuth =82.01°*
!levatlon_=55.65 ;.

*Hour Amgles %-02:40:46.82°

. Wing speed =9.82 km/hr = 6.1 miles/hr -
vT/iQd Direction =135.0° E®fN *




Meap = 1029.251 .
0=62685 _
®min = mean - 0.125 ¢ = 1021.415
max = meansg 0.75_¢_7_=_ -1076.'265
Azimuth =82.08° *
Blevation =55.84° "
*Hour Angles %-02:39:54.68°
. Wingd speed‘=9.33 km/hr = 5.8 miles/r?r
Wigd Direction =135.0° EBf N *




Meap =1035.746 , &

Gl 62 S L1 ;
®nin = mean - 0.125 g = 1027.949
max = meanﬂ_— 0. 75.57‘— 1082. 524
AZ|muth =82:16771

!Ievatlon_=56.02 "

*Hour Anglas %-02:39:02.54°
. Wing speed =11.59 km/hr = 7.2 milesihr-

Wigd Direction =135.0° E bf N




Meap =1037.192 , @
o73.0410 gw v
®min = mean - 0.125 g = 1028.061
" max = mean-ﬁ 0. 753_— 1091 972
Azimuth =82.23° *
®levation =56.19° ‘s
*Hour Amglas %-02:38:15.41°
. Wing speed.=11.59 km/hr. = 7.2 miles7hr-
Wigd Direction =135.0° E®f N *




Mean = 1028.514

0=62392 . -

®min = mean - 0.125 ¢ = 1020.715

max = mean-t 0.75 o = 1075 308
Azimuth =82.31°*

Blevation =56.37° i

*Hour Angles %-02:37:22.27°

. Wing speed‘=10.14 km/hr = 6.3 miles7hr
Wigd Direction =135.0° EBf N *




Mean = 1034.812 , -
0 = 62.594 = :
g L ] .
®min = mean - 0.125 g = 1026.988 °
" max = meanﬂ_— 0.75 o = 1081 758
AZ|muth =82.39°" :

!Ievatlon_=56.56

*Hour Angla %-02:36:30.12°
. Wing speed =9.82 km/hf = 6.1 miles/hr. -

Wigd Direction =135.0°-E bf N




Mean = 1028.303 . &
0=62598 _
®nin = mean - 0.125 0 = 1020.478

max = mean-ﬁ 0.75 o = 1075 252
Azimuth =82.45°*
®levation =56.72° -

“Hour Angles %-02:35:44.00°

. Wingd speed‘=9.82 km/hr = 6.1 miles/r?r
Wigd Direction =135.0° EBf N




Meap = 1034.899 .
OF62.648 , o+ ;
®min = mean - 0.125 0 = 1027.068
" max = meanﬂ-— (@), 75.0 =1081. 886
AZ|muth =82.537%

!‘Ievatlon_=56.9° "

*Hour Amglas%-02:34:51.86°
. Wing speed =9.82 km/hf = 6.1 miles/hr -

Wigd Direction =135.0°:E bf N




Meap = 1036.635 ,
o 7310047 1k, ;
%in = mean - 0.125 0 = 1027. 51
* max = meanvt 0.750 = 1091 388
Azimuth =82.6° * "
!‘levatlon_=_57.07 -
*Hour Anglas %-02:34:04.73°
. ‘Wing speed =9.82 kmi/hf.= 6:L'milesir
Wigd Direction =135.0° E®f N * *




Meap = 1028.072 .
0=62557 _ -
*min = mean --0.125 o = 1020.252

max = mean-t 0.75 o = 1074 989
Azimuth =82.68°*
®levation =57.25° “

*Hour Angles %-02:33:11.58°

. Wingd speed'=9.01 km/hr = 5.6 miles/rTr
Wigd Direction =135.0° Ebf N *




Mean = 1034.067 ,
0F 62660, - g ;
min = mean-0.125 0 = 1026 235

" max = mean-t 0.75 o = 1081 062
Azimuth =82.76°*
!Ievatlon_=57.44 )

*Hour Angla %-02:32:19.44°

. Wing speed =10.14 km/hr = 6.3 miles/hr-
Wigd Direction =135.0Ebf N *




Meap =1036.101 , &
072190251 L '
%1in = mean - 0.125 0 = 1026. 988
" max = meanﬁt 0. 753 = 1090 778
Azimuth =82.83° *

!levatlon_=57.6 "
*Hour Amglas%-02:31:32.31° v
. Wing speed =10.94 km/hr. = 6.8 miles/hr*

Wind Direction =135.0°E®f N :




Mean = 1027.821 .
0=62.699 _ -
%nin = mean - 0.125 0 = 1019.983

max = mean-ﬁ 0.75 a = 1074 845
Azimuth =82.91°*
®levation =57.79° A

*Hour Angles%-02:30:39.17°

. ‘Wing speed =10.94 km/hr.= 6.8 milésfhr
Wind Direction =135.0° EBf N




~Meap =1032.964 .
OF 62.17_4" . :
min = mean-0.125 0 = 1025 192

max = mean-t 0. 75'0 = 107'9 594

Azimuth =82.98°*

!Ievatlon_=57.97
*Hour Angla %-02:29:47.02°

Wing speed =10.14 km/hr = 6.3 miles/hr-

Wigd Direction =135.0°E bf N

L




Meah = 1027.877 .
0=61.895 _ -
%min = mean - 0.125 o = 1020.14

max = meanH_— 0. 75'0 =1074. 298
Azimuth =83.05° *
®levation =58.13° -

*Hour Anglas %-02:29:00.90°

. Wingd speed' =9.82 km/hr = 6.1 miles/r:r
Wigd Direction =135.0° EBf N




Meap = 1032.917 , -
062505, . g ; ;
®*min = mean-0.1250 = 1025.104 :
max = meanﬂ.— 0. 75.? = 1079 795
AZ|muth =83.13""

!levatlon =58.32° .

*Hour Ahgle. -02:28:08.75°

Wlngj speed =9.82 km/hr = 6.1 mlles/hr ;
ngd Direction =135.0°:Ebf N

L]




Meap = 1035.387 ,
(o 73.220'_ . .
®min = mean - 0.125 0 = 1026 235

" max = meanit 0.75 o = 1090 302
Azimuth =83.2° *
®levation,=58.48° ’

*Hour Amgle' -02:27:21.63°

. Wlngl speed =9.82 km/hr = 6.1 mlles/hr g
Wlnd Direction =135.0°EdfN "




Mean = 1026.905
062710 .
®min = mean - 0.125 ¢ = 1019.066

max = meanvt 0.75 o = 1073 938
Azimuth =83.28° *

®levation.=58.67° .

*Hour Amgle'7—02:26:28.48° =

. Wing speed =10.14 km/hr = 6.3 miles/hr
Wigd Direction =135.0° Ebf N *




Mean =1032.710 . &
062,438 s :
®min = mean - 0.125 ¢ = 1024.905

max = mean-t 0.75 o = 1079 538
Azimuth =83.36°*
!Ievatlon_=_58.86° -
*Hour Angla %-02:25:36.34°
Wing speed =10.46 km/hr = 6.5 miles’hr-
Wigd Direction =135.0°E bf N




Meap = 1034.661 ,
ok 72.882‘_ . :
®*min = mean - 0.125 0 = 1025 551
" max = mean-t 0.750 = 1089 323
Azimuth =83.43°% " ©
'!Ievatlon =59.02° .
*Hour Amgle; -02:24:49.21°
Wlngj speed =10.94 km/hr. = 6.8 mlles/hr
W.gd Direction =135.0°Ebf N




Mean = 1026.261 ,
0=62737 .
*min = mean - 0.125 0 = 1018.419

max = meanvt 0.75 a = 107‘3 313
Azimuth =83.51°*

®levation.=59.21° .

*Hour Angles %-02:23:56.06°

. Wing speec; =10.46 km/hr = 6.5 miles7hr
Wigd Direction =135.0° EBf N




Mean = 1032.205 . &
ole627105 . o :
®min = mean - 0.125 ¢ = 1024. 366
max = mean-i— 0.75 o = 1079 237
Azimuth =83.59°* .

L)

!Ievatlon_=59.39° 5
*Hour Angla %-02:23:03.92°
Wing speed =10.46 km/hr = 6.5 miles/hr-
Wigd Direction =135.0°-E'bf N




Mean = 1025.872 .
0=62743

®min = mean - 0.125 ¢ = 1018.029

max = meansg 0.75Lg_=+L1072.'929
Azimuth =83.66°*

®levation =59.55° .
*Hour Angle %-02:22:17.80°

Wing speec; =10.94 km/hr = 6.8 miles’hr
Wigd Direction =135.0° Ebf N *




Mean = 1032.201 ,
0F62809, -
®min = mean - 0.125 0 = 1024. 35
" max = meanq— 0.75 0 = 107‘9 308
Azimuth =83.74°*

®levation,=59.74°
*Hour Ahgle #-02:21:25.65°

Wlnd speed =10.46 km/hr. = 6. 5 mlles/hr
ngd Direction =135.0°Ef N




Meap = 1033.980 .

oF 73.039‘_ o .
®*min = mean - 0.125 0 = 1024 85
max = meantt 0750 = 1088 759
Azimuth =83.81°*
®levation,=59.9°
*Hour Amgles -02:20:38.53°

Wlnd speed =11.27 km/hr = 7.0 mlles/hr'
Wigd Direction =135.0° Ebf N *




Mean = 1025.222 ,

0=62978 . .,

®min = mean - 0.125 0 = 1017.35
max = meantt 0. 75 a =1072. 456
Azimuth =83.89°*
®levation =60.09° .

*Hour Angle; -02:19:45.38°
Wlnd speed =12.39 km/hr = 7.7 mlles/hr
Wlnd Direction =135.0° EBf N




Mean =1031.607 , =
gla*62: 317 :

%min = mean - 0.125 ¢ = 1023.817
max = meansg 0.75 0 ="1078.344
Azimuth =83.97°*

®levation =60.28°  *

*Hour Angle #-02:18:53.24° 2
Wingd speec; =12.71 km/hr = 7.9 miles/hr
Wigd Direction =135.0°EdfN *




Mean = 1033.388 ,

o 73.097‘_ = :

®min = mean - 0.125 0 = 1024 251

max = meanlﬁ 0.750 = 1088 211
Azimuth =84.05°%
Blevation,=60.44° 2
*Hour Angle; -02:18:06.11°

Wlnd speed =12.71 km/hr = 7.9 mlles/hr'
Wigd Direction =135.0° Ebf N *




Mean = 1024.693 .

o=62.795 , =

*min = mean - 0.125 0 = 1016.844

max = meantg 0. 75 0= 1071 79
Azimuth =84.13°*

®levation =60.63°

*Hour Angle %-02:17:13.97°

Wlnd speed =11.27 km/hr = 7.0 mlles/hr
Wlnd Direction =135.0°EBfN

i




Mean = 1031.380 .

o= 62. 592 =

mln = me‘an 0.1250 = 1023 555
max = meantg 0.750 = 1078 324
Azimuth =84.21°% -
®levation,=60.81°

*Hour Angle #-02:16:21.82°
Wlnd speed =10.94 km/hr = 6. 8 mlles/hr
ngd Direction =135.0°:E"f N




Mean = 1024.492

0=62.809 . .,

*min = mean - 0.125 0 = 1016.641
max = meantg 0. 75 0= 1071 599
Azimuth =84.28°*

Blevation =60.97°

*Hour Angle =-02:15:35.70°
Wlnd speed =12.39 km/hr = 7.7 mlles/hr
Wlnd Direction =135.0° E'Bf N




Mean =1031.085 .  ®.
0#62.485, .4
®*min = mean-0.125 0 = 1023274

" max = meansg 0. 75 0= 1077 949
AZ|mu-th =84.36°"
®levation.=61.16° Y

*Hour Ahgle #-02:14:43.56°
Wlnd speed =12.07 km/hr = 7. 5 mlles/hr
ngd Dlrect|on =135.0°Ef N




Mean = 1032.889 . -
072887, . :

®*min = me‘an 0.1250 = 1023 778

* max = meanﬂ— 0. 75 0= 1087 554
AZ|muth =84.43°"*
levation,=61.32°  *

*Hour Ahgle =-02:13:56.43°
Wmd speed =11.27 km/hr = 7. 0 miles/hr'
ngd Direction =135.0°*Eof N




Mean = 1023.936
0=62.651. o
*min = mean - 0.125 o = 1016.105
max = meanﬁ— 0. 75 o= 1070 925
Azimuth =84.52°*
®levation,=61.51°

*

* Hour Ahgle =-02:13:03.28°

Wlnd speed =11.27 km/hr = 7.0 mlles/hr
ngd D|rect|on =135.0°EBf N




Mean = 1030.318 .
o+ 62. 267 -t
-
min = me‘an 0.1250 = 1022 535
" max = meantg 0. 75,0 = 1077 018
Azimuth =84.6° »
®levation.=61.69°  *
*Hour Ahgle =-02:12:11.14°

Wln.d speed =13.2 km/hr = 8.2° mlles/hr "
ngd Dlrect|on =135.0°Eof N




Mean = 1032.461 . -
T2, . g :
®min = me‘an 0.125 0 = 1023. 346
max = meantg 0. 75,0 = 1087 152
Azimuth =84.67°"
®levation,=61.86°
*Hour Ahgle &-02:11:24.01°
Wlnd speed =10.94 km/hr = 6. 8 mlles/hr
Wmd D|rect|on =135.0°E'0f N

-




Mean = 1030.420 . ®

oe 61509, et @
®min = méan 0.125 0 = 1022. 731
max = mean®g 0. 75‘y. = 1076‘552
Azimuth =84.76°*
®levation.=62.05°

*Hour Ahgle =-02:10:29.86°

Wlnd speed =10.94 km/hr = 6. B mlles/hr
W@d Dlrectlon =135.0"Ef N




Mean = 1023.590
0=62378. ' g
*min = méan - 0.125 0 = 1015.792
max = me&_m‘i 0'75.97. = 1070_.373
Azimuth =84.83°*
®levation.=62.21°
* Hour Ahgle =-02:09:43.74°
Wlnd speed =12.39 km/hr = 7.7 m:les/hr
Wigd Direction =135.0° Eof N ~ ’




Mean =.1032.590 . L
0=72729 , *' 8
B o b e 1023.499
max = meant 0_75__0‘—_ 1087'137
Azimuth =84.91°"
®levation,=62.39°
*Hour Ahgle =-02:08:54.60°
Wlnd speed =11.59 km/hr = 7.2 mlles/hr"II
ngd Dlrectlon =135.0°E'of N "




Mean = 1023.390
0=62440., ' g
*min = méan - 0.125 0 = 1015.585
max = mean®§ 0.75 0 = 1070.219
Azimuth =84.99°*
®levation.=62.58°

“Hour Ahgle =-02:08:01.46°
Wlnd speed =11.59 km/hr = 7. 2 mlles/hr
Wwd D|rect|on =135.0° EOf N




Mean = 1030.244 . =

Te 62100 k% il .
®nin = mdan - 0.125 o = 1022.48
max = mean% 0. 750 = 1076‘826
Azimuth =85.07°" '
Rlevation.=62.76°

*Hour Ahgle =-02:07:09.32°

Wlnd speed =12.07 km/hr = 7. 5 mlles/hr
ngd Dlrect|on =135.0°E'0f N




Mean = 1022.990
0=62632, « g
*min = méan - 0.125 0 = 1015.161
max = mean® 0.75 0 = 1069.964
Azimuth =85.16°"
®levation.=62.94°

“ Hour Ahgle =-02:06:19.18°
Wlnd speed =12.39 km/hr = 7. 7 mnles/hr
Wlad Dlrect|on =135.0° Ef N




Mean = 1030.064 . &
0% 61883y il -
®nin = mdan - 0.125 & = 1022.329
max = mean®§ 0.75 0 = 1076‘477
Azimuth =85.24°" '
®levation.=63.12°

*Hour Ahgle =-02:05:27.04°

Wind speed =14.32 km/hr= 8. 9 mlles/hr
W@d Dlrectlon =135.0"Ef N s




Mean =1030.156 - ®.
0=6164l, " g
@ nin = médar - 0.125 ¢ = 1022. 451
max = mean" 0.75 0 = 1076_386
Azimuth =85.32°"
®levation. =63.29°
*Hour A'hgle =-02:04:38.91°

Wlnd speed =11.27 km/hr = 7.0 mlles/hr'
ngd Dlrectlon =135.0"Eof N .




Mean = 1031.848 -

U= 72.716,, R
mln = mean 0.125 0 = 1Q22. 758
max = mean% 0.75 0 = 1086,385
Azimuth =85.39°" ;
®levation.=63.46°

.

*Hour Ahgle =-02:03:51.78°
Wlnd speed =9.01 km/hr = 5.6 mlles/hr ;
Wl.gd Dlrect|on =135.0°Eof N

e




Mean = 1031.625 -« .

U‘l= 72. 821 ' .

mm =meéan-0.1250 = 1022. 523
' max = mean® 0.75, g = 1086,241

Azimuth =85.47°" :

®lcvation.=63.63°

* Hour Ahgle #=-02:03:03.65°

Wlnd speed =9.01 km/hr = 5.6 mlles/hr "

W@d Dlrectlon =135.0"E0f N .

.

L




Mean = 1029.778 - ..
0=62339. ' g
I"mln =meéan-0.125 ¢ = 1021, 986 5
max = mean® 0.75,0 = 1076;.532
Azimuth =85.55°" ;
%icvation.=63.81°

*Hour Ahgl@ =-02:02:12. 51°
Wlnd speed =12.39 km/hr =7, 7 mlles/hr
Wl.nd D|rect|on =135.0"EOf N




Mean = 1022.203
0=62464. ' g
*min = méan - 0.125 0 = 1014.395
max = mean%g 0.75 0 = 1069,05
Azimuth =85.63°"
®Blevation.=63.97°

-

" Hour Angle &-02:01: 26 38°
Wlnd speed =12.39 km/hr =71 mlles/hr‘
ngd Direction =135.0° Eof N ¢




Mean = 1022.178
0=62119, - »* g
*min = méan - 0.125 0 = 1014.413
max = mean®g 0.75571 = 1068;767
Azimuth =85.71°"
®levation.=64.14°
" Hour Ahgle #-02:00:37.25°

-

\'I'Vind speed =13.2 km/hr = 8.2imiles/hr
Wigd Direction =135.0° E 'of N




Mean,=1030.238 = L2
0=61l178. +' @
.
min = méan - 0.125 ¢ = 1Q22. 591_
max = mean® 0.75,0 = 1076..‘122
Azimuth =85.79°"
%ievation.=64.33°

* Hour Ahgle =-01:59:45. 10° v

Wlnd speed =13.2 km/hr =ig2" mlles/hr ]
Wlﬂd Dlrectlon =135.0EOf N

" a




Mean, = 1029.831 - ..
0= 61.668 4 i
®min = mdan - 0.125 0 = 1022.123,
max = mean% 0.75,0 = 1076..‘082_
Azimuth =85.87°"
®levation.=64.49°
* Hour Ahg|e =-01:59:00. 98 =
Wlnd speed =13.2 km/hr =82 mlles/hr '_
Wl.i]d Dlrectlon =135.0"EOf N i

"




Mean = 1021.732
g = 62.741-. L [
®min = méan - 0.125 0 = 1013.889
max = mean® 0.75 g = 1068,788
Azimuth =85.94°"
®levation.=64.65°

" Hour Ahgle =-01:58:14.86°
Wing speed =13.84 km/hr =8.6 mlles/hr
Wnnd Dlrect|on =135.0° Eof N




Mean = 1029.492 - L
Jo61706. g

min = mean - 0.125 ¢ = ,1021. 779
max = mean% 0.75,0 = 1075,772
Azimuth =86.03°" :
®icvation.=64.83°

* Hour Ahglé £-01:57:22. 71°
Wlnd speed =14.32 km/hr = 8. 9 mlles/hr"II
W@d Dlrectlon =135.0"EOf N :




Mean =1030.821 « ®-
g= 72.845... L1 [}
®min = méan - 0.125 ¢ = 1021.715
max = mean' 0.75,0, = 1085,455
Azimuth =86.11°"
®levation.=65.0°
* Hour Ahg|@ -01:56:35.59°

\Wind speed =9.01 km/hr = 5.6 miles/hr A
Wigd Direction =135.0° E of N .




Mean = 1021.420 .
g= 62.821'. L] [}

*min = méan - 0.125 o = 1013.567
max = mean" 0.75,0 = 1068,536
Azimuth =86.2° "
®levation =65.18°

" Hour Ahgle‘k—01:55:43.44° .

Wingl speed =9.33 km/hr = 5.8 miles/hr A
Wigd Direction =135.0° E of N '




Mean = 1029.374 .-
0=61855. =" @

L .
min = mean - 0.125 0 = 1021.643
max = mean“ 0.75.0 = 1075,766
Azimuth =86.28°"
®ievation. =65.37°

* Hour Anglet -01:54:51.30°
Wlnd speed =12.39 km/hr =7, 7 mlles/hr‘
W@d Dlrect|on —135 0°Eof N y




Mean = 1030.834 +  ®.
0=T72449, ' @
®min = méan - 0.125 0 = 1021.778
max = mean" 0.75,0 = 1085,171
Azimuth =86.36°"
®levation.=65.53°

* Hour Angle &_01:54:04.17°
Winel speed =12.39 km/hr =7/ mlles/hr
Wigd Dlrectlon =135.0°Eof N




Mean = 1021.436
g= 62.046‘. L] [}

*min = méan - 0.125 o = 1013.681
max = mean® 0.75 g = 1067,971
Azimuth =86.45°"
®levation =65.72°

" Hour Ahgl& £-01:53:11.03°
Winel speed =12.39 km/hr =71 mlles/hr
qud D|rect|on =135.0° EOf N




Mean = 1029.788 .-
0=59.663,s = ig
.mln = mean -0.125 0 = ,1022. 33
max = mean" 0.75,g = 1074,535
Azimuth =86.54°"
®levation =65.91°

* Hour Ahgl& =-01:52:18.88° =

Wind speed =9.01 km/hr = 5. 6 mlles/hr
Wigd D|rect|on —-135 0°Eof N




Mean = 1021.298

O=6L417. g

mln = mean - 0.125 0 = 1013.621
max = mean" 0.75,0 = 1067,361
Azimuth =86.62°"

Blevation =66.07°

" Hour Ahgl& ®-01:51:32.76°
\Wine speed =11.59 km/hr =72 m[les/hr
Wigd D|rect|on =135.0° Eof N




Mean = 1031.497 -
U- 70.9184 «* .
mln =mean-0.1250 = 1022, 632
max = mean" 0.75,0 = 1084,685
Azimuth =86.71°"
Rlevation =66.24°
*Hour Anhgl& ®-01:50:43.62°
\Vingd speed =14.32 km/hr = 8. 9 mlles/hr_
Wigd Dlrect|on =135.0"EOf N ,

L




Mean = 1021.019

U =61. 191l e

mln = mean - 0.125 0 = . 1013.37
max = mean* 0.75,0 = 1066,912
Azimuth =86.8°

Rlevation =66.43

" Hour Angl& ®-01:49:50.48°

\Vind speed =11.59 km/hr =72 mlles/hr
Wigd D|rect|on =135.0° E Of N ¢




Mean = 1031.072
0= 70.767 s L
®min = méan - 0.125 0 =,1022.226
max = mean® 0.75,0 = 1084,147
Azimuth =86.89°"
®levation =66.61°
* Hour Ahgl&®-01:49:00.34° o
\Vird speed =11.59 km/hr =732 mlles/hr
Wigd D|rect|on =135.0° E Of N :




Mean = 1020.547
0=62.06L. = g
®min = méan - 0.125 0 =1012.79
max = mean"# 0.75,0 = 1067,093
Azimuth =86.98°"
Rlevation =66.79°

" Hour Anglé& &-01:48:08.20° .
\Vind speed =13.52 km/hr = 8. a mlles/hr
Wigd Dlrect|on =135.0" E of N




Mean = 1028.606
059723, ' §

min = mean - 0.125 0 =,1021.141
max = mean'll- 0.75, 5 107'3,398
Azimuth =87.36°"

Elevation =67.57°

" Hour Angl& £-01:44:30.61° .
\Wird speed =14.97 km/hr‘= 9.3 miles/hr’
Wigd Direction =135.0° E of N




Mean = 1019.804
J=62977: +' @

mln = mean - 0.125 0 = .1011.932
max = mean"- 0.75,0 = 1067,037
Azimuth =87.45°"

Rlevation =67.74°

" Hour Angl&®-01:43:41.47° &

\Wird speed =16.58 km/hr =10,3 mlles/h;
Wimd Dlrectlon =135.0° E of N




Mean = 1028.326 *

-U"— 62. 13]_. B
min = mean - 0.125 0 =,1020. 56
max = mean"s 0. 75_,q 5 1074,,,924

AzimUdth =87.54°

Rievation =67.92°

Hour Angl&%-01:42:49.33° a
Wird speed =10.94 km/hr = 6. 8 mlles/hr
Wisnd Dlrect|on —135 (055 of N




Mean = 1028.216 « %

LE6L7%s T @

min = mean - 0.125 0 =,1020.491

max = mean % 0.75g 5 1074,,,563
Azimuth =87.63°

Rievation =68.09°

" Hour Angl&®-01:42:01.20° =
Wind speed =10.94 km/hr = 6. miles/hr
Wimd DirecEion =135.0° Eof N ?




Mean = 1029.118 + ®

LET72870 T @

min = mean - 0.125 0 =,1020.009
max = mean'# 0.75,g 10é3,77

Azimuth =87.72°"

Rievation =68.26°

" Hour Angl&£-01:41:14.07° v
Wi speed =13.84 km/hr = 8. miles/hr
Wimd DirecEion :—-135.0° E of N .




Mean = 1019.478

U = 62.826,« A

mln = mean - 0.125 0 = .1011.624
max = mean "% 0. 750, 5 1066.597
Azimuth =87.81°"

®levation =68.45°

" Hour Angl&%-01:40:21.93° =

\Wird speed =12.39 km/hr‘— 7.7 mlles/hr
Wimd Dlrect|on =135.0° Eof N




Mean = 1029.094 *

$C 715840 ‘8
min < mean - 0.125 0 =,1020.152
max = mean'l 0.75.0 = 108'2.744
Azimuth =87.9°

I%Ievatiorr =68.62°

* Hour Angl&%-01:39:32.79° &
\Wird speed =10.14 km/hr'= 6.3 miles/hr g
Wimd Direction .=135.0° E of N 3




Mean = 1019.512

L6250 elag

min = mean - 0.125 0 =,1011.695
max = mean % 0.75.g = 1066,419
Azimuth =88.0°

%Ievation =68.81°

Hour Angl&%-01:38:39.65° .
Wird speed =13.2 km/hr = 8.2 miles/hr
Wimd Direction =135.0° Eof N 1




Mean = 1019.708
Lo =6131Qs 4
min = mean - 0.125 0 =,1012.044
max = mean'# 0.75, g = 1065,69
zimuth =88.09°"

levation =68.98°
Hour Angl&%-01:37:51.52° +
Wirtd speed =14.97 km/hr = 9.3 miles/hr g
Wigd Direc‘lcion =135.0° E'of \ :




Mean = 1027.846 *  #-,
4o 58349
min = mean - 0.125 0 =,1020.553
max = mean'lr 0.75.ag 7 10?1,609
zimdth =88.19°"

‘Elevation =69.16°
" Hour Angl&%-01:36:59.37° .
Wirtd speed =14.97 km/hr = 9.I3 miles/hr!I
Wind Direc_tion I=135.0° E of N




Mean = 1029.268 * ®

.U'= 70.70_8.- L

min T mean - 0.125 0 =,1020.429
max = mean'l- 0.75.g = 10é2.299
Azimuith =88.28°

_!Ievation =69.33°

" Hour Angl&%-01:36:12.25° &
Wirtd speed =12.07 km/hr.= 7.2 miles/hrg
Wimd Direc‘Eion .=135.0° E of N




Mean = 1027.429 *

‘U'= 61.241_* i

min T mean - 0.125 0 =,1019.774

max = mean‘l 0.75ag 10?3.359
Azimuith =88.39°"

‘%levation =69.52°

* Hour Angl&%-01:35:18.10° .
Wird speed =19.15 km/hr = 1],9 mlles/h;
Wimd Dlrect|on =135.0°E of \|




Mean = 1029.273 'i
‘U'= 67'53.2" ¥ ’
min = mean - 0.125 ¢ =,1020.832
max = mean"t'L 0.75.a@ # 1079922
zimdth =88.48°

Elevation =69.69°
" Hour Angl&%-01:34:30.97° i
Wirld speed =14.64 km/hr;I =9 miles/hrl,II
Witnd Direc.tion I=135.0° E of N

®




Mean = 1027.273

§°=5755%0 T ¢
min = mean - 0.125 ¢ =,1020.079
max = mean‘ﬂ- 0.75a = 10'70..443
Azimuth =88.58°

.Elevation =69.88°

" Hour Angl&%-01:33:36.82° s
Wirtd speed =16.58 km/hg = 1Q.3 miles/hg
Wind DirecFion _=.135.0° E of N




Mean = 1019.425

0= 60276+ * ®
min = mean - 0.125 ¢ =,1011.89
max = mean‘t 0.75.g # 1064,632
Azimuth =88.67°‘

[Elevation =70.05°

" Hour Angl&%-01:32:50.70° .
Wirtd speed =20.28 km/hr; =126 miles/hl,;
Wilnd Direction =135.0° E of N




Mean = 1029.164 * *-,

.U‘= 70.91'?6;- i .
min = mean - 0.125 0 =,1020.295
max = mean'!L 0.75a = 10é2.381
-Azimu'th =88.77°‘ -
.Elevation =70.22°

" Hour Angl&%-01:32:01.56° .
Wirtd speed =20.28 km/h'r;I =126 miIes/P'!;
Wimd Direc.tion _=135.0° E of N

-




Mean = 1019.161
.U'= 61.4!'?5+ L
min = mean - 0.125 0 =,1011.479
max = mean® 0.75.g = 1065252
.Azimu'th =88.87°‘
Elevation =70.41"
" Hour Angl&%-01:31:08.42° .
Wirtd speed =13.84 km/hr; =8.6 miles/hr:,
Wimd DirecPion .——-135.0° E of N

s




Mean = 1026.853 * b

‘U'= 60.75_1.- R e
'‘min = mean - 0.125 0 =,1019.259.
max = mean"ll- 0.754 ¥ 10'72..416
pzimith -88.98°
IEIevation =70.59°

" Hour Angl&%-01:30:16.27° =
Wirtd speed =12.07 km/h'r; = 7.-5 miles/hr:‘
Wind Direc'tion _=135.0° E of N




Mean = 1019.226
o 61.454+ . .
min = mean - 0.125 0 =,1011.545
max = mean® 0.75.g = 1065317
.Azimuth =89.08“‘
Elevation =70.77°
" Hour Angl&%-01:29:26.14° &
Wirtd speed =15.45 km/hr; =9.6 miles/hrl_
Wimd Direction =135.0° E of N




Mean = 1026.772 * ..

‘U'= 60.75;;.- A »
'min = mean - 0.125 0 =,1019.177.
max = mean'll— Q0.75%G & 10'72..338
2zimth =89.19"
IEIevation =70.95°

" Hour Angi&%-01:28:33.99° B
Wirtd speed =11.27 km/ht = 7.b miles/hr;.
Wind Direc'tion _——-135.0° E of N




Mean = 1026.656 * ",

Nedid 61.162* i

~min = mean - 0.125 ¢ =,1019.01
max = mean'll— 0.75a + 10'72.527_
zimith =89.29°
.Elevation =71.13°
" Hour Angl&%-01:27:44.86° .
Wirtd speed =12.07 km/h = 7.5 miles/hry
Wind Direc‘tion _=135.0° E of N




Mean = 1029.016 °

llU‘= 70.5%0.- |

min = mean - 0.125 0 =,1020.201
max = mean"ll- 0;75.0 = 10é]..907
.Azimdth =89.38°

-Elevation =71.29°

" Hour Angi&%-01:26:58.73° 5
Wirtd speed =12.07 km/h; = 7.$ miles/hr’
Wind Direction _=135.0° E of N




Medn = 1026.914 *  *-,

'U-= 59.68%* Ll
min = mean - 0.125 0 =1019.453
max = mean"l— O_.75.a = 10-7]..679
Azimuth =89.5°

.Elevation =71.49°

" Hour Angl&%-01:26:03.58° "
Wirtd speed =10.94 km/hr = 6.8 miles/hrg
Wind Direction =135.0° E of N :




Medn = 1029.877 = *-.
0=69.405* * &

min = mean - 0.125 0 =1021.202
max = mean‘!— 0‘.75.0 ] 10-8]...931_
Azimuth =89.6°

.Elevation =71.66°
" Hour Angl&%-01:25:16.46° .
Wirtd speed =12.71 km/hg = 7.9 miles/hr._.
Wind Direc}ion r=.135'00 E of N




Medn = 1026.368 *

0°=60.74%* * @

‘min = mean - 0.125 0 = 1018 775
max = mean‘l— 0_.75.0 F 1071...928
AzimUth =89.71°

.Elevation =71.85°

" Hour Angl&%-01:24:22.31° %
Wirtd speed =13.84 km/h = 8.6 miles/hr._.
Wihd Direc.tion +=135.0° E of N




Medn = 1019.184 *

-U'= 62.0(_)5- L.
min = mean - 0.125 0 =1011.433
max = mean"i— 0‘.75 q = 1065..687_
Azimuth =89.81°

Elevation =72.01°

" Hour Angl&:-01:23:36.18° .
Wirtd speed =10.46 km/hg = 6.5 miles/hr_,
Whhd Direc}ion _=}35.0° E of N




Medn = 1026.367 *

0°=59.176* * #

min = mean - 0.125 0 =1018.97

max = mean."l— 0..175.0 = 10706.749,
zimuth =89.92°

_EIevati.on =72.2°

" Hour Angla=-01:22:44.04° s
Wird speed =16.9 km/hr = 10.5 miles/hr:.
Wihd Direction _=.135.0° E of N




Mean = 1019.520

0'=60.196* * @

min = mean - 0.125 0 =1011.996

max = mean % 0.75: = 1064.668
zimuth =90.03°

.

Elevation =72.37°

" Hour Angl&®:-01:21:53.90° "
Wirtd speed =16.9 km/hr = 10.5 miles/hrs
Whhd Direction =135.0° E of N :




Medn = 1026.446 *  ®°,

o"= 60.209* .4

min = méan -0.125 0 =1018.919
max = mean“l— 0575.0 = 107%k603
AzimUth =90.15°

L ]
.Elevation =72.56°

" Hour Angla=-01:21:01.76° .

Wiftd speed =14.64 km/h[ = 9.1 miles/hrg
Wind Direc.tion =135.0° Eof N




Medn = 1019.508

0'=60.555* * @

min = mean - 0.125 0 = 1011.938

max = mean % 0,75: = 1064.924
zimuth =90.26°

L

‘Elevation =72.74°

" Hour Angla®-01:20:11.62° .
Wirld speed =11.59 km/hp = 7.2 miles/hre
Whhd Direction =135.0° E of N




Medn = 1026.439

=57 959+ i

min &= mean - 0.125 0 —+1019 194

max = mean“l— O 75:@ = 1069 908
zimuth =90.38°

L]

.Elevati.on =72.92°

" Hour Angla=-01:19:19.48° .
Wirld speed =13.52 km/hp = 8.4 miles/hrl.
W#hd Direction _=.135.0° E of N




Medn = 1026.652

0=57; 279 . ,

min = mean 0.125 0 —+1019 492

max = mean® 0,756 = 1069.611
zimuth =90.48°

:Elevati.on =73.09°

" Hour Angla=-01:18:31.35° .
Witd speed =10.46 km/hp = 6.6 miles/hrg
Whd Direction =135.0° E of N '




Medn = 1029.309 *
o'=68763* * @
min & mean - 0.125 0 =1020.713
max = mean‘l— 0 75+:@ = 1080.883
zimuth =90.59°
EIevatlon =73.26°
Hour Angle L .01:17:4522° ; *
Willd speed =16.09 km/hg = 1Q.0 miles/hy
Whd Direcfion =135.0° E of N '




Medn = 1019.503

80 = 61.704" e

min = mean - 0.125 0 =1011.79

max = mean"‘i— O_.75-a = 1065.781
zimuth =90.71°

EIevatlon =73.44°

Hour Angle *.01:16:52.08° .

Wirld speed =16.09 km/h = 10.0 miles/hy
Whhd Direction =135.0° E of N




Medn = 1029.033 *  *°,
o'=71.06* * @

min £ mean - 0.125 0 =1020.15
max = mean“i— O_.75-a = 1082.328

zimuth =90.83°

_EIevati'on =73.62°

" Hour Angle%-01:16:02.94° .
Wirtd speed =10.46 km/hg = 6.5 miles/hr:.
Whhd Direction _=.135.0° E of N




Mean = 1019.479

0 =61.79G" A

min = mean - 0.125 0 =1011.755

max = mean“i— O_.75 g = 1065.821
zimuth =90.95°

; EIevatipn =73.8°
Hour Angla®=-01:15:10.80° .
Witd speed =10.94 km/hf = 6.8 miles/hrg
Whhd Direction =135.0° E of N '




Medn = 1019.313
§0 = 62.46}8' iR
min = mean - 0.125 0 =1011.505
max = mean® 0.75:6 = 1066.164
zimuth =91.07°

Elevation =73.98°

" Hour Angla®-01:14:21.67° .
Wirtd speed =9.01 km/hr = 5.6.miles/hr .
Whhd Direction =135.0° E of N




Medn = 1026.386 °

0'=62.067* * . '
‘min = mean 0.125 ¢ —-1018 628
max = mean® 0.75-@ = 1072 936

-A2|muth =91.2°
_EIevatlon =74.16°
" Hour Angla®=-01:13:30.53° .
Witd speed =12.39 km/hg = 7.4 miles/hr’
Wtnd Direction _=135.0° E of N




Medn = 1019.311
a0 = 62.799" ey,
min = mean - 0.125 0 =1011.461
max = mean® 0,75:6 = 1066.41
zimuth =91.32°

_,Elevation =74.34°
Hour Angle™=-01:12:40.39° .
Wiftd speed =13.52 km/hy = 8.4 miles/hrs
Wihd Direction =135.0° E of N :




Medn = 1026.093 °
o= 61. 928“ .
min = mean 0.125 0 =1018.352
max = mean® 0.75:¢ = 1072.54
zimuth =91.45°
EIevatlon =74.52°
Hour Angle *=.01:11:48, 25 it -
Wifld speed =13.52 km/hj = 84 miles/hra
Wid Direc_tion+='135.0° E of N 7




Mean = 1019.321
a0 =63.115" .
min = mean - 0.125 0 =1011.431
max = mean® 0,75:¢ = 1066.657
zimuth =91.57°

; EIeVation =74.69°
Hour Angle*=-01:10:59.11° .
Witd speed =10.94 km/hf = 6.8 miles/hrs
Wnd Direction =135.0° E of N :




Mean =.1026.129 -

go=62243* "' @

‘min = mean 0.125 0 =1018.348
max = mean® 0.75:¢ = 1072.811
A2|muth =91.71°

EIevatlon =74.88°

Hour Angle *=.01:10:06. M. .
Wifld speed =12.39 km/hp = 747 miles/hra
Wihd Dire(;tion+='135.0° E of N




Mean = 1019.466
e 0 = 62.886" .
min = mean - 0.125 0 = 1011.605
max = mean® 0.75:¢ = 1066.631
zimuth =91.83°

_,Elevation =75.04°
Hour Angle™=-01:09:20.85° .
Wiftd speed =12.07 km/hf = 7.5 miles/hra
Wind Direction =135.0° E of N 7




Mean = 1028.561 °

40=73008* *° ®

min = mean 0.125 0 =1019. 435

max = mean® 0,75:9 = 1083.315
zimUth =91.96°

EIevatlon =75.22°

Hour Angle *.01:08:31.71° ¥ .
Wiltd speed =10.46 km/h[ = 65 miles/hra
Whd Diregtion =135.0° E of N




Mean = 1019.479
" = 62.594* Al
min = mean - 0.125 0 =1011.655
max = mean® 0,75:9 = 1066.424
zimuth =92.09°

g EIevatjon =75.4°
Hour Angle®=-01:07:39.57° .
Wild speed =10.94 km/hy = 6.8 miles/hra
Wind Diregtion =135.0° E of N '




Mean = 1029.271 "
o= 7137an R
min = mean 0.125 0 =1020.349
max = mean® 0,75:¢ = 10832.803
.A2|muth =92.23°
EIevatlon =75.58°

Hour Angle *=-01:06:50.44° ? L
Willd speed =10.94 km/hy = 68 miles/hra
Wihd Direcltion.=135.0° E of N




Mean = 1019.716
g0 =61193" * @

min = mean - 0.125 0 = 1012.066

max = mean®- 0,75:9 = 1065.614
.Azimuth =92.37°
: EIevatjon =75.76°

Hour Angle"=-01:05:57.29° .

Willd speed =10.94 km/hf = 6.8 miles/hra

Whhd Direction =135.0° E of N ;




Mean = 1019.864

§0=60394" "W
min &= mean - 0.125 0 = 1012.315
max = mean® 0.75:0 = 1065.16

g zimuth =92.51°

I_Elevatjon =75.94°
Hour Angle"=-01:05:08.16° .
Wifld speed =8.21 km/hr= 5.1smiles/hr «
Wind Diregtion =135.0° E of N :




Mean = 1026.823° .
§0=6022e" * @
“min = mean - 0.125 0 = 1019.295
max = mearT"+ q.75-a-= 107%.992
‘Azimuth =92.66°
_.Elevation =76.12°
Hour Angle"=-01:04:16.01° _ .
aifid speed =9.82 km/hr,= 6.1amiles/hr «
Wind Diregtion_='135.0° Eof N ;




Mean = 1029.927

&0 =70063 * ®
min = mean 0.125 0 =1021. 169
max = mean"+ 0,7%¢= 1082.475

*

‘A2|muth =92.79*
_,Elevatlon =76.29°
Hour Angle "=-01:03:29.89° .
Wifd speed =9.33 km/hr= 5.8miles/hr =

Wd Diregtion =135.0° E of N




Mean = 1029.078
g0=7152¢" * @
min &= mean 0.125 0 = 1020.137
max = mean"+ 0,78 = 1082.722
.A2|muth =92.93°
EIevatlon 76 46°

Hour Angle ——01 02:40.75° -
Wifd speed =11.27 km/hy = 750 miles/hr
Whd Diregtion =135.0° E of N




Mean = 1026.180 "

go=6L687" * @
‘min = mean 0.125 0 =1018.469
max = mean“+ 0.750= 1072.445

‘Azmquth =93.09°

& EIevatlon =76.64°
Hour Angle *-.01:01:49.61° A L
wiid speed =11.27 km/hy = 740 miles/hra
Wind Diregtion =135.0° E of N -




Mean = 1025.878°
§0=6190i* * ®
min = mean 0.125 0 =1018.14 -
max = mean h 0.7%0= 1072.303
'A2|muth =93.23°
EIevatlon =76.81°

Hour Angle *=-01:01:01.48° ¥ -
" awifid speed =11.27 km/hy = 740 miles/hm
Wind Direqtioni='135.0° Eof N |




Mean = 1019.398

g0 =62587" * @
min = mean 0.125 0 = 1011.575
max = mean'+ 0,759= 1066.338

*

.A2|muth =93.37°
.. Elevation 76 9
Hour Angle ——01 00:15.36° ]
Wwifld speed =12.71 km/hy = 79 miles/hr
Whd Diregtion =135.0° E of N :




Mean = 1027.780 "

&0 =5651e" " @ :
min = mean 0.125 0 = 1020.716
max = mean " Q.750= 1070.162

‘A2|muth =93.53°
EIevatlon =77.16°

Hour Angle "=-00:59:23.21° " .
WWVifd speed =13.2 km/hr= 8.2 miles/hr -
Wind Direqtion+='135.0° E of N




Mean = 1032.074 "

40 =66886" * @
min &= mean 0.125 g = 1023.713
max = mean " Q.7%¢= 1082.238

L]

.A2|muth =93.68°

EIevatlon 77 337
Hour Angle ——OO 58:36.09° .
Wifd speed =13.2 km/hry= 8.2 miles/hr &
Whnd Direqtionr=i'135.0° E of N




Mean = 1020.687

« 0 =57.892" il
min = mean 0.125 0 = 1013.45
max = mean.+ Q.75 0= 1064.106

-

.A2|muth =93.86°
_.Elevation =77.51°
Hour Angl-e.=—00:57:42.94" ]
WiRd speed =13.2 km/hr= 8.2 miles/hr =
Whd Diregtion =135.0° E of N ;




Mean = 1027.210°
§0=59019" * ® !
min = mean 0.125 0 = 1019.832
max = mean " Q750= 107%.474
ﬁmmuth =94.03"
EIevatlon =77.7°

Hour Angle =-00:56:50.80" -

Wifd speed =13.52 km/hy = 8#4 miles/hm
Wind Direqtion1='135.0° Eof N




Mean = 1028.713 "

§0=7233" " ®
min &= mean 0.125 0 = 1019.671
max = mean " Q.7%9= 1082.961

‘A2|muth =94.18°

EIevatlon 77 86°
Hour Angle ——OO 56:04.67° .
Wifd speed =13.52 km/hy = 8#4 miles/hm
Whnd Direqtion+=.'135.0° E of N




Mean = 1019.306
g o=62.45¢" ‘W
min = mean - 0.125 0 = 1011.499
max = mean " Q75 0= 1066.15
f\mmuth =94.36°
EIevatlon —78 05°
Hour Angle =-00:55:11.53" .
Wihd speed =14.32 km/h.r = 819 miles/hm
Wnd Direction_=.135.0° Eof N




Mean = 1026.108"
go=6131" * @
mins~ mean - 0.125 o = 1018.444
max = mea;'+ Q.75 9= 1072.091
§/Zimuth =94.55°
3 EIevatlon —78 23
Hour Angle =-00:54:19.38" | L]
avihd speed =12.71 km/hy = 749 miles/hm
Wind Direction_=.'135.0° E of N




Mean = 1028. 568
go0=72158 * ®
mins= mean - 0.125 o = 1019.548
max = mea;'+ Q.75 0= 1082.687
§AZimuth =94.72°
? EIevatlon 78 4°
Hour Angle =-00:53:32.26° .
avihd speed =11.59 km/hy = 7#2 miles/hm
Wind Direqtion_="135.0° E of N




Mean = 1019.430
g0 = 62:0p8% TR
min&= mean'— 0.125 0 = 1011.67
max = mean™ Q.75 o= 1065.992
§AZimuth =94.91°
_. Elevation =78.59°
Hour Angre'=—00:52:39.11° L]
*Wind speed =13.2 km/hry= 8.2 miles/hr
WEnd Direction —135.05E of N




Mean = 1019.266

0=62:058% %

min= mean - 0.125 0 = 1011.484

max = mean™ Q.75 o= 1065.956
o/Zimuth =95.09°

EIevatlon 78 76°

Hour Angle =-00:51:50.98" .

awihd speed =13.2 km/hry= 8.2 miles/hr =
Wind Direction =135.0° E of N




Mean = 1027.678"

go=61228 * ®
‘minges mean 0.125 g = 1020.024
max = mean e Q.75 o= 1078.599
A2|muth =95.29°
EIevatlon -—78 94°

Hour Angle =-00:50:58.84° _ L]

avind speed =12.71 km/hy = 7#9 miles/hm
Wind Diregtion . =135.0° E of N




Mean = 1028.923"
§0=723" = @
minge= mean - 0.125 o = 1019.88
max = mea;'+ Q.75 9= 1088.183
‘Azimhth =95.47°
EIevatlon —79 15158

Hour Angle =-00:50:1 Lafdio i L]

avind speed =14.32 km/hy = 89 miles/hm
WEnd Diregtion,=135.0° E of N




Mean = 1027.184°

§0=615¢ * ®
mine= mean - 0.125 o = 1019.485
max = mean - Q.75 9= 1078.381
A2|muth =95.69°

* EIevatlon 79 3°
Hour Angle =-00:49:17.56° E o
awihd speed =15.77 km/hyr = 9#8 miles/hm
Wind Diregtion+=+'135.0° Eof N




Mean = 1029.046"

go=7211¢ = W
mine= mean - 0.125 g = 1020.031
max = mean " Q.75 9+= 1088.131
A2|muth =95.88°
EIevatlon —79 47°
Hour Angle =-00:48:30.43° .
awinhd speed =12.71 km/hy = 7%9 miles/hm
Wind Direction_=‘-135.0° E of N




Mean = 1029. 507
g40=713 * ®
mine= mean - 0.125 o = 1020.601

max = mean = Q.75 9= 1082.946
‘A2|muth =96.09° &
! Elevatlon —79 64°
Hour Angle =-00:47:41.30° -
awihd speed =12.71 km/hy = 7#9 miles/hm
Wind Direction_="135.0° E of N




Mean = 1019.709
g0=61Te" ™
min.= mean - 0.125 0 = 1012.071
max = mean'+ Q.75 o= 1065.542
$AZimuth =96.31°
Elevation =79.82°
Hour AngTe'=—OO:46:49.l6° L]
*Wihd speed =13.84 km/hr = 8:6 miles/hw
WRnd Direction =135.0" F of N




Mean = 1030. 337
§0=7053¢ * ® :
min~= mean - 0.125 o = 1021.52"
max = mealr.1‘+ Q.75 0= 1088.241
gAZimuth =96.53°
EIevatlon —80 0°
Hour Angle =-00:45:59.02° -
swihd speed =12.71 km/Ry = 7#9 miles/hm
WAnd Diregtion, ="135.0° E of N




Mean = 1020.105
s 0=59551" * ®

mins= mean - 0.125 o0 = 1012.661

max = mealr.1‘+ Q.75 0o*= 1064.768
$AZimuth =96.77°

Elevation =80.18°

Hour Angle =-00:45:06.88° .

sWihd speed =13.52 km/hr = 8:4 miles/hs

WAnd Direction =_135.0° E of N




Mean = 1030.434
do=56748 " W
mins= mean - 0.125 o = 1023.341
max = mean"+ Q.750*= 1072.99
gAzimuth =97.82°
“3 E_Ievat_ion_=80.94°
Hour Angle =-00:41:32:29° .
sWind speed =13.52 km/hr = 84 miles/hm
Wind Di'rection. =_135.0° E of N




Mean = 1020.429
sa0=5883¢ * ®
mins= mean - 0.125 o = 1013.074
max = mean + Q.75 o*= 1064.558
.Azimuth =98.08"°
EIevat_ion.=81.11°
Hour Angle =-00:40:43.16° .
" sWind speed =13.52 km/hr = 814 miles/hp
VWnd Direction =135.0° Eof N




Meah = 1029.977
go=575¢ * @
mins= mearl— 0.125 0 = 1022.783
max = mean + Q.75 o*= 1078.141
@/Zimuth =98.36°
- EIevat_ion_=81.29"
Hour Angle =-00:39:51.01° .
sWind speed =12.71 km/Rr = 749 miles/hg
Wind Diregtion, =.'135.0° E of N




Mean = 1032. 382
go=67.73" * ®
mins= mean - 0.125 o = 1023.916
max = mean + Q.75 v*= 1088.182
.Azim'uth =98.63°
EIevatlon 81 46°
Hour Angle =-00:39:03.89° .
swihd speed =13.84 km/hr = 8%*6 miles/hg
WAnd Diregtion, =.135.0° E of N




Mean = 1032.572
go=6713 * ®
mins= mean - 0.125 o = 1024.18
max = mean + Q.75 v*= 1082.921
gfzimuth =98.91° *
EIevatlon —81 63°
Hour AngIE =-00:38:15.75° -
swind speed =12.71 km/kr = 7%#9 miles/hg
WAnd Direction_=_135.0° E of N




Mean = 1020.572
e 0=5805% * ®
mins= mean - 0.125 o = 1013.315

max = mean + Q.75 0*= 1064.115
g@/\zZimuth =99.23° -

EIevat_ion_=81.81°

Hour Angle =-00:37:22.61° .
swind speed =13.52 km/kr = 84 miles/he

Wnd Direction =135.0° Eof N




Mean = 1033.262
g§.0=64T1¢ = W=
mins= mean - 0.125 o = 1025.248
max = mean + Q.75 0*= 1081.346
.Azim'uth =99.53°
EIevatlon -—81 98°

Hour Angre =-00:36:34.48"° -

*wind speed =15.77 km/Rr = 98 miles/h®
Wnd Direction, =+'135.0° E of N




Mean = 1021.150

0 = 56.668 " " -
min.= mean - 0.125 0 = 1014.067
max = mean + Q.750*= 1063.647

adzimuth =99.88°
Elevation_=82.17°
Hour Angle =-00:35:41.33° -
*Wind speed =15.77 km/hr = 9:8 miles/hr
WAd Direction =135.0° E of N




Mean = 1034.487

go=-638d " ®
mins= mearl 0.125 o = 1026.502
max = mean + Q.75 0*= 1082.397

.A2|muth =100.21°
EIevatlon —82 34°
Hour Angha =-00:34:52.20° L
#vind speed =15.45 km/Rr = %6 miles/h#
Wind Direction,=135.0° E of N




Mean = 1021.413
e.0=55577 ' ‘e
mins= mean 0.125 0 = 1014.466
max = mean + Q.75 '0*= 1063.095
gdzimuth =100.58°
EIevatlon 82 i ¥
Hour Angre =-00:33:59.05° =
'Wlnd speed =14.64 km/hr = 91 miles/hr
WAd Direction =135.0° E of N




Mean = 1034.370'
go=64606 " ®
mins= meaq 0.125 o = 1Q26.294
max = mean + Q.75%0*= 1082.824
.A2|muth =100.91° « 4
; EIevatio'n.=‘82.68°
Hour Angfe =-00:33:12.93° -
*wind speed =13.52 km/kr = 8*4 miles/h#
Wind Direction,=135.0° E of N




Méan =1031.183
dgo=5472¢ * W
mine= mean - 0.125 o = 1Q24.342

max = mean + Q.75%*= 1072.23
‘Azimuth =101.32°

EIevatlon -82 87°

Hour Angre =-00:32:18.78° , .
*Wind speed =13.84 km/Rr = 86 miles/h®

Whind Direction, =135.0° Eof N




Mean = 1034.864
§0=6349 " ®
mins= mean - 0.125 o = 1026.927
max = mean + Q.75"%0*= 1082.486
gAzimuth =101.7° .
EIevatlon 83 04°
Hour Angre =-00:31:31.65° .
swind speed =13.2 km/hm= 8.2 miles/hr®
Wind Direction,=135.0° E of N




Meah = 1031.529
e0=5350 =~ ®
" mine= meaq 0.125 o =.1Q24.836
max = mean +0.75%0*= 1071.689

-A2|muth =102.15" % 4
EIevatlon 83 22°
Hour Angre =-00:30:37-50° . .
*Wind speed =14.32 km/kr = 89 miles/h#
Wind Direction, =135.0° Eof N




Mean = 1034.804
§o0=-6390¢ " ®
mine= meaqI 0.125 o = 1Q26.808
max = mean + Q.7%%0*= 1082.779
-A2|muth =102.55° * 4
3 E_Ievatio'n'=‘83.39°
Hour Angke =-00:29:50.37° . .
*Wind speed =14.32 km/hr = 89 miles/hp
Whind Direction, =_.135.0° Eof N




Mean = 1034.13Q
eo=6a82% "~ ®
mimn= mean - 0.125 o = 1026.026
max = mean + 0.7%"%0"= 1082.749
aAzimuth =103.0° M
.+ Elevation, =83.56°
Hour Angfe =-00:29:01.24° .
"Wrnd speed =14.97 km/hr = 3 miles/h¥
Vde Direction, =..135.0° E of N




Mean = 1020.640

§ 0o=5699" * ®
mine= meaq 0.125 o = 1013.515
max = mean +0.750*= 1063.388

@Azimuth =103.49°
EIevation_i83.74°
Hour Angle =-00:28:09.10° .
*Wind speed =13.2 km/hk= 8.2 miles/hr®
Wind Direction =135.0" E of N




Mean = 1031.442
¢ 0=56629 "~ ®
" Mine= meaQ 0.125 o = 1Q24.363
max = mean +0.75%c*= 1078.914

'A2|muth =104.01° .
EIevaj;lon —83 92°
Hour Angl'e =-00:27:16-95° . .
*Wind speed =13.52 km/kr = 8'4 miles/h¥
Wind Direction, =135.0° Eof N




Mean = 1020.653
s 0=56904 " ®
mimne= meaq; 0.125 0 = 1013.54
max = mean +'Q.75%"= 1063.331
'Azimuth =104.53° &
EIevatlon 84 09°
Hour Angl’é =-00:26:27.82° .
"Wlnd speed =13.84 km/kr = 8.6 miles/h¥
Wind Direction =135.0° Eof N




Mean = 1031.687

go-544¥ * @
mimn= meag 0.125 o = 1024.857
max = mean +'9.75%"= 1072.662

'A2|muth =105.11°
: E_Ieva];ion_f84.26°
Hour Angfe =-00:25:35.68° . -
*Wind speed =12.71 km/kr = 729 miles/h¥
Wind Direction =135.0° E of N




Mean = 1020.924
a e
a 0=55.931
min== meap - 0.125 o = 1013.932
max = mean + 0.75'0*= 1062.872

aAzimuth =105.68°
EIevation.——;84.43°
Hour Angfe =-00:24:46.54° - ®

. *wind speed =12.71 km/ar = 729 miles/h¥
Wind Direction =135.0° Eof N




Mean = 1033.084
g o-663a " W
mime= meag; 0.125 o = 1Q24.792
max = mean + 0.75%"= 1082.84
aAzimuth =106.25°
- E_Ieva];ion_f84.59°
Hour Angfe =-00:24:00.42° .-
*Wind speed =11.59 km/hr = 72 miles/h#
Wind Direction =135.0° E of N




Mean = 1030 349
so=558 " ®
mim= meag 0.125 0 = 1Q23.377
max = mean +'9.75%" = 1072.18
.A2|muth =106.96°
H EIevaj:ion.='84.77°
Hour Angfe =-00:23:06.27° . .
*Wind speed =11.59 km/hr = 72 miles/h#
Wind Direction =135.0° E of N
L]




Mean = 1033.469

= 62,5
mimne= meap - 0.125 o0 = 1025.613
max = mean + 0.75%0"= 1080.602

wpedzimuth =107.61°
EIevation__:84.93°
Hour Angfe =-00:22:19.14° -
'Wi‘nd speed =12.07 km/lar = 725 miles/h*
Wind Direction =135.0° E of N




Mean = 1020.153
s 0=59.104

mimk= meap - 0.125 o0 = 1012.765

max = mean + 0.75%0"= 1064.481

-

aAzimuth =108.4° & .
EIevation‘i85.11°
Hour Angfe =-00:21:26.00° -
*Wind speed =10.46 km/kr = 6:5 miles/ht
Wind Direction =135.0° E of N




Mean = 1032.513
% o=68.09% *
mim= meag - 0.125 o = 1024.0

max = mean +9.75%"= 1083.587
@ Azimuth =109.15°
. EIevaJ:ion_f85.27°
Hour Angfe =-00:20:37.87° .
*wind speed =10.46 km/r = .5 miles/h¥
Wind Direction =135.0° E of N




Mean = 1020.367
s 0=58203

mime= meag 0.125 0 = 1013.092

max = mean +9.75°0 = 1064.02

@ Azimuth =110.05° &
EIevaIion.385.45°
Hour Angfe =-00:19:44.72° .
‘W'i.nd speed =13.84 km/lr = 8.6 miles/ht
\Nind Direction =135,0° E of N




Mean = 1020.089
s 0=59.031

mime= meap - 0.125 0 = 1012.71

max = mean +'0.75°0" = 1064.363

aAzimuth =110.94° .
EIevation.iSS.61°
Hour Angfe =-00:18:55.59° -
‘Wli.nd speed =11.27 km/kr = 7.0 miles/h¥
\/Vind Direction =135.0° E of N




Mean = 1031.612

# 0=56.867
mime = meag 0.125 o £ 1024.505
max = mean + .75 = 1074.259

@ Azimuth =111.95° .
. EIeva.tiorl 385.79"
Hour Angfe =-00:18:03.44° . .-
*Wind speed =15.45 km/ir = 9.6 miles/H¥
Wind Direction =135.0° E of N




Mean = 1020.206
] - ‘
& 0=159.1%
mire = meag 0.125 0 = 1012.816
max = mean +'9.75°d = 1064.544

& Azimuth =|112'98 .
EIevaIiorlfSS.95°
Hour Angfe =-00:17:14.31° -
‘Wli'nd speed =14.32 km/lr = 8.9 miles/h¥
\Nind Direction =135.0° E of N




Mean = 1031.581

g0 = 5363 g

mire= meap - 0.125 o = 1024.877
max = mean +0.75'd = 1071.804
eAzimuth =114.16°
. EIeva.tiorlf86.12°
Hour Angte =-00:16:22.17° b
'W'i'nd speed =11.59 km/lr = .2 miles/h¥
Wind Direction =135.0° E of N




Mean = 1021.059

o=55.03 ~ *

mire = meag 0.125 0 = 1014.176
max = mean +0.75°d = 1062.351

aAzimuth =115.37°
EIevaIiorl 386.28"
Hour Angte =-00:15:33.03° -
'Wli'nd speed =10.14 km/lr = 6.3 miles/hr
Wind Direction =135.0° Eof N




Mean = 1033.852
& 0=65548
mire = meag 0.125 0 & 1025.659
max = mean +9.75"0 = 1083.013
@ Azimuth =116.59°  «
- Elevaion =86.42° _
Hour AngTe =-00:14:46.91° o

‘Wlnd speed =10.14 km/kr = 6.3 mlles/m
Wind Direction =135.0° E of N




Mean = 1021.200
&0 = 57.307

min = meag‘; 9.125 o =1014.037

max = mean + 0.75°0 = 1064.18

E—

~pAzimuth =118.09°
Elevation :86.59"
Hour Angte =-00:13:54.76° _—
"W'i'nd speed =10.46 km/kr = 6.5 miles/hr
Wind Direction =135.0° E of N =




Mean = 1032.358
.= 66,308 T
mime = meag 0.125 0 =1024.057
max = mean +'9.75"0 = 1082.162
#Azimuth =119.64°
. EIeva.tiorl 386.74"
Hour Angfe =-00:13:05.63° -
I|'W?nd speed =9.82 km/hs = 6.1 miles/hr®
Wind Direction =135.0° E of N

-




Mean = 1020.086
0 =60.134
min = meap - 0.125 0 = 1012.567
max = mean +9.75'0 = 1065.202
& Azimuth =121.45°
EIeva’,tiorl f86.9°
Hour Angte =-00:12:13.49° -
*Wind speed =9.33 km/hs = 5.8 miles/hr®
Wind Direction 1=135.0° E of N




Mean = 1031.838
6 0=686s8 @
min= meap - 0.125 o = 1023.257
max = mean +9.75'¢ = 1083.324
g Azimuth =123.32°
. EIevaIion =87 05°
Hour AngTe =-00:11:24.35° >
I|'Wlnd speed =13.84 km/hr = 8.6 mlles/mf
Wind Direction =135.0° E of N




Mean = 1020.298
o = 58.861

mimn = meap - 0.125 0 = 1012.941
max = mean + 0.75°0 = 1064.445

-

&Azimuth =125.51°
EIevaIioq:87.2°
Hour Angte =-00:10:32.21° -
'Wi'nd speed =13.52 km/lr = 8.4 miles/hr
Wind Direction =135.0° Eof N ™




Mean = 1020.260

g = 61 SRS —
min= meap - 0.125 o0 = 1012.595
max = mean + 0.75°0 = 1066.246

apedzimuth =127.75°
EIeva_tion_:S7.34°
Hour Angte =-00:09:44.08° P
*Wind speed =13.52 km/kr = 8.4 miles/hr
“Whnd Direction =135.0° E of N .




[r—
Mean = 1031.155

0 = 543957 " =
min-= meap - 0.125 o = 1024.355
max = mean + 0.75*0 = 1071.951

_alzimuth =130.44°
EIeva,tion_f87.48°
Hour Angte =-00:08:51.94° e
*Wind speed =14.32 km/hr = 8:9 miles/H*
WiRd Direction =135.0° E of N




Mean = 1031.890
-0 = 65,493 =
mimn= meap - 0.125 0 = 1023.704

max =‘mean + 0.75*c"= 1081.01
amfzimuth =133.14°

EIeva_tion_ :87.6"

Hour Angte =-00:08:04.81° -
*wind speed =11.59 km/lr = 7.2 miles/h¥

WMd Direction =135.0° E of N




Mean = 1031.155

&0 =55]98 =
min= meap - 0.125 o = 1024.257
max = mean + 0.75*0 = 1072.546

~amf\zimuth =136.58°
EIeva,ti0|1 387.74"
Hour Angte =-00:07:10.66° e
*Wind speed =13.52 km/lar = 8.4 miles/w
Wind Direction =135.0° E of N




Mean = 1031.855

&-o=66568 * W=~
mimn= meap - 0.125 0 = 1023.496
max = mean +0.75*¢ = 1082.006

aAzimuth =139.93°
EIeva,tiorl :87.85°
Hour Angte =-00:06:23.53° >
*Whd speed =14.64 km/ar = 9.1 mileg/i¥
Wind Diraction =13570° E of N




Mean = 1031.285
@ o-68297 * @
min = mea@g— 0.125 0 = 1022.728

max = mea +9.75'0 = 1082.628

.Azimuth =143.78" &
: EIeva,tioq :87.96c
Hour Angte =-00:05:34.40° .
I"W'.llnd speed =14.64 km/iar = 9.1 miles/h¥
Wind Diraction =135.0° E of N




Mean = 1019.471
s 0=060411
min = meagg— 0.125 0 = 1011.919

max = mea +0.75'0 = 1064.779

'Azimuth =148.31"
EIeva,tior'}I ;—‘88.06“
Hour Angte =-00:04:42.26° L
*Wind speed =14.32 km/hr = 8.9 miles/Hr
Wind Direction =135.0° Eof N




Méan = 1030.562
&« 0=700186 ~ ®
min = meap 0.125 0= 1021.697
max = mt-:-an +9.75'0 = 1083.749
- A2|muth 1ie) b
+ Elevafion =88.15°
Hour AngTe =-00:03:52.12° . L

"‘Wlnd speed =12.07 km/lar = *.5 miles/m
Wind Diraction =135.0° E of N




Mean = 1020.186

@ o=57621 * @
min = mgap 0.125 0 = 1012.981
max = mean +0.75'0 = 1063.417

@ Azimuth =158.55° .
EIevatiorl ;—-88.22"
Hour Angte =-00:02:59.98° .

* Wind speed =11.59 km/iar = 7.2 miles/hr
Wind Direction =135.0° Eof N .




Mean = 1033.180
go-657m2 " @

min = meap.— 0.125 0 = 1024.959
max = mean +9.75*0 = 1082.509
8 Azimuth =163.72°
. Elevafion =88.28
Hour Angte =-00:02:13.85° .
"‘WTnd speed =12.71 km/fiar = .9 miles/k¥r
Wind Diraction =135.0° E of N




Mean = 1019.879

s o=58474 " ®
min = meap 0.125 0 = 1012.57
max = mean +0.75'¢ = 1063.735

™ AZ|muth 170.38° &
EIevatiorl f88.32°
Hour Angte =-00:01:17.70° L

* Wind speed =13.52 km/iar = 8.4 miles/hr
Wind Direction =135.0° Eof N ™




Mean = 1030.710

& 0=56.405 *
min = meap 0.125 0= 1023.659
max = mean +0.75*0c = 1073.01:3

™ A2|muth 176.81° .

- Elevqtlon —88 34°
Hour Ang!e =-00:00:25.56° . .

* Wind speed =13.2 km/h& = 82 miles/hr®
Wind Diraction =135.0° E of N




Mean = 1030.972

¢ 0=55014 * ®
min = meap 0.125 0= 1024.095
max = mean +0.75*0 = 1072.232

» A2|muth =182.82° ,

: EIeva,tlon =88.34"°
Hour Ang!e =00:00:22:58° .

* Wind speed =13.2 km/h& = 82 miles/hr®
Wind Diraction =135.0° E of N




Mean = 1030.887
¢ o=55831 * @
min = meap.— 0.125 0= 1023.908
max = mean +0.750 = 1072.76
@ Azimuth =188.28°
- Elevafion =88.33°
Hour Angte =00:01:06:70° . .
* Wind speed =12.71 km/fiar = .9 miles/iw
Wind Direction =135.0° E of N .




Mean = 1020.202

¢« o=56708 " ®
min = meap 0.125 0 = 1013.113
max = mean +0.75'0 = 1062.732

™ AZ|muth 193.95° &
Eleva.tiorl 788.3"
Hour Angle =00:01:53.83° .

* Wind speed =12.39 km/iar = 7.7 miles/hr
Wind Direction =135.0° Eof N ™




Mean = 1031.792
¢ 0=522% " ®
min = mea,p 0.125 0= 1025.26
max = mean +0.75¢ = 1070.984
. A2|muth 199.91°
: EIeva,tlon =88.24°
Hour Ang1e =00:02:45:97° . .

* Wind speed =12.71 km/flar = 1.9 miles/i#¥r
Wind Direction =135.0° E of N




Mean = 1037.948
g o=56728 " ®
min = meap - 0.125 0= 1030.858
max = mean +0.75*0c = 1080.488
@ Azimuth =204.96° .
4 Eleva.tiorl 388.18°
Hour Angte =00:03:33.10° .
* Wind speed =13.84 km/ér = 8.6 miles/tr
Wind Diraction =135.0° E of N

-




Mean = 1021.989

e« 0=493849 " ®
min = mean 0.125 0 = 1015.758
max = mean +0.750 = 1039.377

@ Azimuth =210.21°
Elevatioq 588.09°
Hour Angle =00:04:26.24° .

* Wind speed =13.84 km/hr = 8.6 miles/Hr
Wind Direction =135.0° Eof N .




Mean = 1033.181
e 0=495%3 ° ®
min = meap 0.125 0= 1026.974
max = mean +0.756 = 1070.421
. A2|muth =214.88° .
EIevqtlon —87 99°
Hour Ang1e =00:05:18:38° .

* Wind speed =13.2 km/h¥ = 82 miles/h®
Wind Directiop =135.0° E of N




Mean = 1036.561
g o=5067 * ®

min = meap‘— 0.125 o= 1029.102
max = mean +0.750 = 1081.319
@ Azimuth =218.63°
+ Elevation =87.89°
Hour Angte =00:06:04.51° . .
* Wind speed =13.84 km/hr = 8.6 miles/Hr
Wind Diractiop =135.0° E of N




Mean = 1021.489
Wo=51a85 s

min = meap 0.125 0= 1015.066
max = mean +.0.75 ¢ = 1060.026
@ Azimuth =222.53°
EIevatior; 587.77"
Hour Angle =00:06:57.65° .
* Wind speed =13.84 km/hr = 8.6 miles/Hr
Wind Direction =135.0° Eof N »




Mean = 1033.063
§ o=40pal " ®
min = meap.— 0.125 0= 1026.933
max = mean +,0.75°¢ = 1069.844
@ Azimuth =225.95°
. EIevqtior: ‘=87.64°
Hour Angle =00:07:49:80° .
* Wind speed =12.71 km/fhr = 7.9 miles/iwr
Wind Direction =135.0° E of N




Mean = 1020.655

¢ o=54p88 " ®
min = mean 0.125 0= 1013.894
max = mean +0.756 = 1061.222

@ Azimuth =228.67° .
EIevatlon —87 52+
Hour Ang‘le =00:08:35.92° .

* Wind speed =13.52 km/hr = 8.4 miles/hr

Wind Direction =135.0° Eof N -




Mean = 1032.243
g o=531s8 " W
min = meapH— 0.125 0= 1025.603

max = mean +0.75'¢ = 1072.082

@ Azimuth =231.45°

. EIeva,tiog ‘=87.38°
Hour Angle =00:09:28:07° L

* Wind speed =13.52 kmfhr = 8.4 miles/ir
Wind Directiop =135.0° E of N




Mean = 1020.321
e« 0=5543% - ¥
min = meapg— 0.125 0= 1013.392

max = mean +,0.75 ¢ = 1061.898

. Azimyth =233.81°
EIevatioq '=87.24°
Hour Andle =00:10:17.20° .

. W‘ind speed =12.39 km/fhr = 7.7 miles/hr
Wind Direction =135.0° Eof N




Mean = 1032.099

§ o=5438% " ®
min = meap.— 0.125 o= 1025.306
max = mean +0.75°¢ = 1072.859

# Azimuth =236.07°
EIevatior: .=87.09°
Hour Angle =00:11:09:34° .

* Wind speed =13.84 kmr = 8.6 miles/t#r
Wind Directiop _=135.0° E of N




Mean = 1019.992
fo=s72m W

min = meap 0.125 0= 1012.833
max = mean +0.756 = 1062.947
@ Azimuth =238.0°
EIevatiorz .=86.94°
Hour Andle =00:11:58.48° .
- W‘ind speed =13.84 km/hr = 8.6 miles/hr
Wind Direction =135.0" E of N




Mean = 1032.221

$ o=5087" "
min = meap - 0.125 0 1025.862
max = meaH +40.756 = 1070.379

* Azimuth =239.85°

F EIevatioq .=86.79"
Hour Angle =00:12:50.62° .

. W‘ind speed =13.52 km/hr = 8.4 miles/Hr
Wind Directiop r=135.0° E of N




Mean = 1031.647

o=54080 "

mim = meap - 0.125 o= 1024.779
max = mean +0.75'¢ = 1072.852

# Azimuth =241.42°

. EIevatiOQ .=86.64°
Hour Andle =00:13:38:75° . .

. W.ind speed =13.52 kmjhr = 8.4 miles/l#r
\Rlind Directiop 5135.0° E of N




Mean = 1033.153

¢ o=6ap88 * ®
min = Megg: 0.125 0= 1025.077
max = mtean +0.756 = 1081.609

@ Azimuth =242.79° .
I_Elevatioq .=86.49°
Hour Andle =00:14:24.88° .

. W‘lnd speed =13.52 kmfhr = 8.4 miles/fr

Wind Directiop .=135.0° E of N




Mean = 1020.422 ‘
o =53.738

min = meap - 0.125 0= 1013.704
max = meaH +40.75 6 = 1060.725
‘ Azimuth =244.25°
EIevatior_l ‘=86.32°
Hour Andle =00:15:18.02° L]
v W'ind speed =12.71 km/hr = 7.9 miles/hr
ind Direction =135.0° E of N




Mean = 1032.316
s 0=633% "
min = meap - 0.125 o= 1024.4
max = mean +40.75'¢d = 1079.818
# Azimuth =245.48°
’ EIevatioq '=86.17°
Hour Angdle =00:16:07.16° *
* Wind speed =12.39 kmr = 7.7 miles/tr
\Rlind Direction 5135.0° E of N




Mean = 1019.553

4 0=58210
min = meap - 0.125 0= 1012.276
max = meapg +40.75 06 = 1063.21
Azimuth =246.69°

EIevatiOQ .=86.0°
Hour Angle =00:16:59.30° *
. W‘ind speed =12.07 km/hr = 7.5 miles/hr
ind Digection =135.0° Eof N




Mean = 1019.968

¢ o=56381 f
min = meap - 0.125 0= 1012.921
max = meaR +0.75 6 = 1062.254
Azimuth =247.74°

EIevatiorJ .=85.84°
Hour Angle =00:17:48.43° L

. V\fmd speed =14.32 km/hr = 8.9 miles/hr
\R/ind Direction =135.0° E of N




Mean = 1033.082

#0 = 40194 "
min = meap‘—_q.125 0= 1028.058
max = mean +0.75'¢ = 1063.227

. amdzimuth =251.54°
EIeva,tior_1 ‘=85.13°
Hour Angle =00:21:22:01° s
* W.ind speed =12.71 km/hr = 7.9 miles/Hr
Wind Direction =135.0° E of N R,




Mean = 1032.733

#-0=46120
min = meap‘—. 0.125 0= 1026.965
max = mean +0.75°¢ = 1067.338

&-Azimuth =252.24°
EIevatiOQ f84.97°
Hour Angle =00:22:09:14° -

* Wind speed =13.2 km/h¥ = 82 miles/hr®
Wind Diraction =135.0° E of N




Mean = 1031.928

o0 = 45833 =
min = meaL_L—_'O.IZS 0= 1026.197
max = mean +0.75°6 = 1066.317

adzimuth =252.92°
EIevatiorl fS4.8°
Hour Angle =00:22:57:27° P
* Wind speed =14.32 km/hr = 8.9 miles/Hr
Wind Direction =135.0° E of N g




Mean = 1035.421

go=5638 * @
min = mea,p.— 0.125 0= 1028.331
max = mean +.75'd = 1077.959

# Azimuth =253.53°
EIevatior.1 384.65°
Hour Angle =00:23:43.40° .

. W.ind speed =13.52 km/firr = 8.4 miles/i#

\Rlind Diraction =135.0° E of N




Mean = 1021.095

4 o=48539 ’
min = meap - 0.125 0= 1015.028
max = meag +0.75 06 = 1057.499

-

Azimuth =254.2° . -

EIevatlon 84 47°
Hour Ang‘1e =00:24:36.55° *
' W|nd speed =14.32 km/hr = 8.9 miles/hr
ind Direction =135.0° E of N




Mean = 1036.769
o=51730 " ®
min = meap‘— 0.125 0= 1030.3
max = mean +0.75¢ = 1075.582
& Azimuth =254.77°
: Elevatiorl ;——84.3"
Hour Angle =00:25:24.68° L
* Wind speed =14.32 km/hr = 8.9 miles/Hr
\ﬁind Diraction 1=135.0° E of N o




Mean = 1020.651
s 0=493% ~ ®

min = meap‘— 0.125 0= 1014.476
max = mean +.0.75¢ = 1057.698
@ Azimuth =255.36°
EIevatior_1 ‘=84.12°
Hour Angle =00:26:17.82° .
* Wind speed =12.71 km/fhr = 7.9 miles/hr
Wind Direction =135.0° Eof N -




Mean = 1020.382

« 0=50860 =~
min = meap.— 0.125 0= 1014.024
max = mean +0.75¢ = 1038.527

& Azimuth =255.87°
EIeva,tiorJ 583.96°
Hour Angle =00:27:05.95° .

* Wind speed =13.84 km/hr = 8.6 miles/Hr
Wind Direction =135.0° Eof N ™




Mean = 1031.436
¢ 0=49090> * ®
min = meap 0.125 0= 1025.198
max = mean +0.756 = 1068.862
- Azimuth =256.4°
H Elevatlon =83.78°
Hour Ang‘le =00:27:58:10° . .

* Wind speed =14.32 km/fhr = 8.9 miles/#r
Wind Directiop =135.0° E of N




Mean = 1020.468
s 0=49953 " ®
min = meap.— 0.125 0= 1014.224
max = mean +,0.75 ¢ = 1057.933
@ Azimuth =256.87°
EIevatior_1 ‘=83.61° .
Hour Angle =00:28:47.23° .
* Win speed =14.97 km/hr = 9.3 miles/hr
Wind Direction =135.0° Eof N ™




Mean = 1032.303

§ o=47367 " @
min = meap 0.125 0= 1026.407
max = mean +0.756 = 1087.678

- Azimuth =257.35°
EIevatlon =83.43"
Hour Ang‘le =00:29:39:37° .

* Wind speed =15.77 km/hr = 9.8 miles/r
Wind Directiop =135.0° E of N




Mean = 1036.614
e 0=750531 " " =
min = meap 0.125 0= 1030.294
max = mean +0.756 = 1074.529
,._Azlmuth =257.76°
EIeva,tlon =83.26°
Hour Ang‘le =00:30:26.50° .

* Wind speed =15.77 km/fir = 9.8 miles/hr
Wind Direction =135.0" E of N




Mean = 1032.730
el = 40.GFT T —

min = meap - 0.125 o= 1027.646

max = mean + 0.75'0 = 1063.234
aAzimuth =258.21°

EIevatlon —83 08°

Hour Ang‘le =00:31:20:65° -

*Wind speed =14.32 km/hr = 8.9 miles/hwr
Wind Direction.l=135.0° E of N -




Mean = 1021.157
w0 = 48.694

min = meap - 0.125 0 = 1015.07

max = meah +.0.75 0 = 1057.677
awAzimuth =258.59°

EIevatlon 82 91°

-

Hour Ang‘le =00:32:07.78° s
* Wind speed =15.77 km/hr = 9.8 miles/hr
Wind Direction =135.0° E of N -




Mean = 1036.513
=0 = 50.966
min = meap - 0.125 o0 = 1030.142
max = mean +.0.75'0 = 1074.737
lmfzimuth =258.96°
EIevatlon =82.74°

Hour Ang1e =00:32:55.91° -

*Wind speed =14.97 km/hr = 9.3 miles/hr
WThd Direction =135.0° E of N




Mean = 1038.308 + !

g 0=45947 °
min = meap - 0.125 0= 1032.565
max = meaﬂ +0.750 = 1072.768
Azimuth =259.74°

3 EIeva,tior: '=82.37°
Hour Angle =00:34:44.21° L

* Wind speed =14.64 km/hr = 9.1 miles/hr
\Rlind Direction :—-135.0° E of N oy




Mean = 1022.039
w 0=42285

min = meap-—f).125 o= 1016.753.

max = mean +,0.75 0 = 1053.753
afzimuth =260.09°

EIevatlon =82.18°

.

Hour Ang1e =00:35:36.35° ™
* Wind speed =14.64 km/hr = 9.1 miles/hr
Wind Direction =135.0° E of N i




Mean = 1022.384

o=39.58y T =

min = mean 0.125 0= 1017.444

max = mean +.0.750 = 1052.023
a-Azimuth =260.4°

Elevatlon —82 02°

Hour Ang‘1e =00:36:24.48° *
* Wind speed =14.32 km/hr = 8.9 miles/hr

Wind Direction =135.0° E of N




Mean = 1033.986

§o=331a% "
min = meap - 0.125 o= 1029.844
max = mear'{ +.0.75 0 = 1058.842

# Azimuth =260.73°
Eleva_tior: '=81.84°
Hour Angle =00:37:15.62° L)

* Wind speed =11.27 km/hr = 7.0 miles/hr
Wind Direction =135.0° E of N




Mean = 1042.225

e o=40965 " ®
min = mean 0.125.0= 1037.105
max = mean +0.756 = 1072.947

™ A2|muth =261.01° ,
EIevqtlon =81.67"°
Hour Ang1e =00:38:02.75° .

* Wind speed =12.71 kmfhr = 7.9 miles/fr
Wind Direction .=135'0° E of N




Mean = 1034.455
PR T b o g, i
miR = meap 0.125 0=1031.115
max = mean +.0.75 6 = 1054.494
& Azimuth =261.33°
EIevatlon =81.48"

Hour Ang‘1e =00:38:56:89° o

* Wind speed =14.32 km/hr = 8.9 miles/hr
Wind Direction =135.0° E of N




Mean = 1044.830

$y o= 31.268
min = meap - 0.125 0'=1040.921
max = meaH +0.75 0 = 1068.281
Azimuth =261.6°

] EIevatiOQ '=81.32°
Hour Angle =00:39:44.02° '

¢ Wind speed =13.2 km/hr = 82 miles/hrt
\Rlind Direction =135.0° E of N




Mean = 1034.143

4 0=25259
min = mean 0.125 0= 1030.986
max = mean +.,0.75 0 = 1053.087

& Azimuth =261.89°
Elevatlon =81.13"
Hour Ang‘le =00:40:38:17° L

« Wind speed =10.94 km/hr = 6.8 miles/hr

Wind Direction =135.0° E of N




Mean = 1023.514
& 0 =129.800
min = meap - 0.125 0 = 1019.789
max = meaH +.0.75 0 = 1045.865
& Azimuth =262.14°
Elevatlon —80 97°

-

Hour Ang‘ie =00:41:24.30" L)

* Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N "




Mean = 1034.472 |
y 0= 24.097
min = mean - 0.125 0=1031.46
max = meaH +.,0.75 0= 1052.545
9 Azimuth =262.41°
Elevatlon -—80 78°

Hour Angle =00:42:16.44° L]

* Wind speed =9.33 km/hr = 58 mlles/hn
Wind Direction =135.0° E of N




Mean = 1023.413

Pl el Yo b
min = mean - 0.125 0 = 1019.925
max = mean +.0.75 0 = 1044.336

& Azimuth =262.65°
EIevatiOQ =80.61°
Hour Angk; =00:43:05.57° .
* Wind speed =12.07 km/hr = 7.5 miles/hr
Wind Direction =135.0° E of N &




Mean = 1034.283 '

§ o= 21.292 : *
min = mean - 0. 125 o= 1031.622
max = mea|'1 +0750= 1050 252
Azimuth =262.91°

] EIevatlorJ =80.43°
Hour Angle =00:43:57.72° '

+ Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N,




Mean = 1023.413

s 0=28329 * W
min = mean - 0.125 0 = 1019.872
max = meah + 0.75 0 = 1044.66

* Azimuth =263.14°
EIevatiOQ =80.25°
Hour Angle =00:44:46.85° .

« Wind speed =10.14 km/hr = 6.3 miles/hr

Wind Direction =135.0° E of N "




Mean = 1034.417

§ o=10071 = #
min = mean - 0.125 0 = 1031.921
max = meaﬁ +.0.75 0 = 1049.396

* Azimuth =263.38°
Elevatior.l =80.07°
Hour Angle =00:45:38.99° »
+Wind speed =10.14 km/hr = 6.3 miles/hr
Wind Direction =135.0° E of N .




Mean =1034.790 T

fi0=15843 " %
min = r'neap -0.125 g = 1032.809
max:= meah + 075 ¢ = 1046.672

4 Azimuth =263.59°
+ Elevation =79.9°
Hour Angle =00:46:27.12° .
+ Wind speed =13.2 km/hr = 82 miles/hm
Wind Direction =135.0° E of N




Mean = 1047.874

e 0=23449 " %
min = meap‘— 0.125 0 = 1044.943
max = mean +0.75 0 = 1065.461

& Azimuth =263.79°
EIevatior} =79.74°
Hour Angle =00:47:13.25° .

+ Wind speed =12.39 km/hr = 7.7 miles/hr

Wind Direction =135.0° E of N i




Mean = 1024.345

y 0=21086. "~ ®
min = mean - 0.125 0 =1021.709
max = meaf + 0.75 o = 1040.159

& Azimuth =264.02°
Elevation =79.55°
Hour Angle =00:48:06.40° ’

< Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N b




Mean = 1048.988

g o=21198 " *
min = mean - 0. 125 0 = 1046. EEL)
max = meaK+ 0.75 0 =1064.887

‘_A2|muth =264.22°

. Elevation =79.38°
Hour Angle =00:48:54.53" ¥

+ Wind speed =12.39 km/hr = 7.7 miles/hr
Wind Direction =135.0° E of N




Mean =1024.185

4 0=22500 " %
min = mean - 0.125 0 =1021.373
max = meaf + 0.75 0 =1041.061

. Azimuth =264.43°
Elevation =79.19°
Hour Angle =00:49:47.67° ’

» Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N i




Mean = 1024.014
e 0=23640 " #
min = mean - 0.1250 = 1021.059
max = meafl +0.75 o = 1041.744
4 Azimuth =264.62°
Elevation =79.02°

=

Hour Angle =00:50:35.80" .
+» Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N .




Mean =1034.611

§ 0=20200 '
min = mean - 0.125.0=1032.086
max = meaft +,0.75 0 = 1049.76

§ Azimuth =264.82°
Elevation =78.84°
Hour Angle =00:51:26.94° v

+ Wind speed =11.27 km/hr = 7.0 miles/fr"
Wind Direction _=135.0° E of N &




Mean = 1024.011

§ 0=25.043 " "
min = mean - 0.125 0= 1020.88
max = meaf +0.750 = 1042.793

. Azimuth =265.01°
Elevation =78.67° -
Hour Angle =00:52:16.08" .

= Wind speed =13.2 km/hr = 8:2 miles/hr
Wind Direction =135.0° E of N




Mean = 1034.452

g 0=24e8 T
min = L CET 0.125 0= 1031.432
max = meafl +,0.75 0 = 1052.574

# Azimuth =265.2°
Elevation =78.49°
Hour Angle =00:53:08.22° .

# Wind speed =10.46 km/hr = 6.5 miles/hr

Wind Direction =135.0"F of N




Mean = 1023.664
. 0=25066 =" ¥

min = mean - 0.125 0= 1020.53
max = meafl +.,0.75 0 = 1042.463
" Azimuth =265.37°
Elevation =78.31°
Hour Angle =00:53:57.35° .
» Wind speed =9.82 km/hr = 6.1 miles/hrs
Wind Direction =135.0° E of N .




Mean = 1034.855

§ o=21907 ° %
min = mean - 0.125 0= 1032.117
max = meaf} +.,0.75 0 =1051.285

M Azimuth =265.56°
Elevation =78.13°
Hour Angle =00:54:49.50° '

* Wind speed =7.56 km/hr = 457 miles/hm

Wind Direction =135.0° E of N




Mean = 1023.532

e, fitly ] v g s
min = mean - 0.125 0= 1020.538
max = meafl +0.75 0 = 1041.498

. Azimuth =265.72°
Elevation =77.96°
Hour Angle =00:55:35.62° '

+ Wind speed =7.56 km/hr = 4.7 miles/hr
Wind Direction =135.0° E of N "




Mean = 1045.581

§ 0=26076," ¥
min = mean - 0.125 0= 1042.322
max = meaf\ +,0.75 0 = 1065.138

¢ Azimuth =265.89°
EIevatiorll =7779°
Hour Angle =00:56:24.76° '

* Wind speed =10.46 km/hr = 6.5 miles/hr
Wind Direction I=135.0° E of N M




Mean = 1023.550

s 0=22965 =" "
min = mean - 0.125 0= 1020.679
max = mean +.0.750 = 1040.774

o Azimuth =266.06°
Elevation =77.6°
Hour Angle =00:57:17.90° 5

- Wind speed =12.71 km/hr = 7.9 miles/hr
Wind Direction =135.0° E of N i




Mean = 1034.907

§ o=200¥8 1%
min = mean - 0.125 0= 1032.285
max = meah +.0.75 60 = 1050.636

p Azimuth =266.24°
ElevqtiOQ =77.41°
Hour Angle =00:58:13.05° .

+ Wind speed =8.69 km/hr = 54 miles/hm

Wind Direction =135.0° E of N




Mean = 1023.066

o=26579 ' #

min = mean - 0.125 0 =1019.744
max = meaf} +,0.75 0 = 1043.001

4 Azimuth =266.39°
Elevation =77.24"
Hour Angle =00:58:59.18° N

+ Wind speed =9.33 km/hr = 5:8 miles/hn
Wind Direction =135.0° E of N




Mean = 1034.897

§ o=21821
min = mean - 0.125 0= 1032.17
max = meah +.,0.75 0 = 1051.263

# Azimuth =266.56°
Elevation =77.05°
Hour Angle =00:59:54.33° .

+ Wind speed =8.69 km/hr = 54 miles/hm

Wind Direction =135.0°E of N




Mean = 1035.176

§ 0=22290 - #
min = mean - 0.125 0= 1032.39
max = meah +,0.75 0 = 1051.894

il Azimuth =266.7°
Elevation =76.89°
Hour Angle =01:00:38.45° '

+ Wind speed =8.69 km/hr = 54 miles/hm

Wind Direction =135.0° E of N




Mean = 1023.355

s 0=26392 " ®
min = mean - 0.125 o= 1020.056
max = meafl +.,0.75 g = 1043.149

¢ Azimuth =266.84°
Elevation =76.73°
Hour Angle =01:01:24.57° N

+ Wind speed =14.97 km/hr = 9.3 miles/hr

Wind Direction =135.0° E of N -




Mean = 1048.181
o=25912 ' %

min = mean - 0.125 o= 1044.942
max = meaf} +,0.75 0 = 1067.615
Azimuth =266.98°
Elevation =76.57°
Hour Angle =01:02:10.70° .

» Wind speed =13.84 kmjhr = 8.6 miles/hr
Wind Direction =135.0° E of N




Mean = 1049.591

§ a=23641 ° ¥
miR = mean - 0.125 0= 1046.636
max = meafl +,0.75 0 = 1067.322

# Azimuth =267.11°
Elevation =76.41°
Hour Angle =01:02:54.82° '

+ Wind speed =11.59 km/hr = 7.2 miles/hr

Wind Direction =135.0° E of N A




Mean ='1035.692

0 =20.553

min = mean - 0.125 0= 1033.123
max = meah +,0.75 0 = 1051.107
Azimuth =267.26°

Elevation =76.23°

Hour Angle =01:03:45.96° '

+ Wind speed =11.59 km/hr. = 7.2 miles/fr
Wind Direction =135.0°'E of N




Mean = 1023.944

oAk ) e R |
min = mean - 0:.125 o= 1020.969
max = meah +.0.75 0 = 1041.795
Azimuth =267.39°

Elevation =76.07° .
Hour Angle =01:04:32.09° v

» Wind speed =11.59 km/hr = 7.2 miles/hr
Wind Direction =135.0° E of N o




Mean = 1046.886

s 0=27376 * %
min = mean - 0.125 0= 1043.464
max = meaf} +.0.75 0 = 1067.419
Azimuth =267.52°

Elevation =75.91°
Hour Angle =01:05:17.21° "

» Wind speed =13.2 km/hr = 8:2 miles/hm
Wind Direction =135.0° E of N




Mean = 1035.338

§ o=22217 ¥
min = mean - 0.125 o= 1032.561
max = meah +,0.75 ¢ = 1052.001

$ Azimuth =267.66°
Elevation =75.72°
Hour Angle =01:06:09.35° ’

+ Wind speed =9.01 km/hy = 516 miles/hm

Wind Direction =135.0° E of N




Mean = 1023.788

, 0=24900 ' ®
min = mean - 0.125 o= 1020.675
max = meafl + 0.75 0 = 1042.463

o Azimuth =267.78°
Elevation =75.56°
Hour Angle =01:06:54.48" »

» Wind speed =11.27 km/hr = 7.0 miles/hr
Wind Direction =135.0° E of N




Mean = 1051.549

o=20823 "~ W

mip = mean - 0.125 0= 1048.946
max = meah +0.750 = 1067.166
Azimuth =267.91°

Elevation =75.4°

Hour Angle =01:07:40.60° '
+ Wind speed =11.27 km/hr-= 7.0 miles/hr
Wind Direction =135.0° E of N




Mean: = 1053.870

o=18482 " %

min = mean - 0.125 0= 1051.56
max = meafi +.0.75 0 = 1067.732
Azimuth =268.03°

Elevation =75.24°

Hour Angle =01:08:24.72° '

< Wind speed =7.08 km/hr = 4:4 miles/hn
Wind Direction =135:0° E of N




Mean = 1036.389

0=16298" "~ ¥ X

min = mean;- 0.125'0c= 1034.352.
max = meah +.0.75 0 = 1048.612
Azimuth =268.16°

Elevation =75.06°

Hour Angle =01:09:16.86° .
 Wind speed’'=10.14 kmyhr = 6.3 miles/hr
Wind Direction =135,0° E of N 3




Mean = 1024.913

o= 20.937 L

min = mean - 0.125 o = 1022.296
max = meah + 0.75 @ = 1040.616
Azimuth =268.28°

Elevation =74.9°

Hour Angle =01:10:01.99° .

= Wind speed =12.07 km/hr = 7.5 miles/hr
Wind Direction =135.0° E of N




Mean = 1050.168

o= 25228 G,

min = mean - 0.125 o= 1047.014
max = meah +,0.75 ¢ = 1069.088
Azimuth =268.4°

Elevation =74.73°

Hour Angle =01:10:48.11° "
+» Wind speed =11.59 km/hr = 7.2 miles/hr
Wind Direction =135.0° E of N :




Mean = 1036.689

o=208v2 ' ®

mip = mean - 0.125 0:="1034.08
max = meah +,0.75 0 = 1052.343
Azimuth =268.53"

Elevation =74.55°

Hour Angle =01:11:39.25° .
Wind speed =11.59 km/hr = 7.2 miles/hr
Wind Direction =135.0° E of N




Mean = 1024.233

0= 26.601 i, .

mipn = mean - 0.125 o= 1020.908
max = meah +,0.75 @'= 1044.184
Azimuth =268.64°

Elevation =74.39°

Hour Angle =01:12:24.38" .
Wind speed =9.82 km/hr = 6:1 miles/hr
Wind Direction =135.0° E of N




Mean = 1049.102

o=28986 ' ®

mip = mean - 0.125 g-=1045.479
max = meah +.0.475 ¢ = 1070.841
Azimuth =268.76°

Elevation =74.23°

Hour Angle =01:13:10.50° .
Wind speed =10.46 km/hr = 6.5 miles/r
Wind Dirgction =135.0° E of N :

L]




Mean = 1046.883

o= 31000 ;Y K
mip = mean - 0.125 0:="1043.006
max = meah +,0.#5 @ = 1070.148
Azimuth =268.86°

L]

Elevation =74.07°
Hour Angle =01:13:54.62° .

» Wind speed =10.14 km/hr = 6.3 miles/Ar
Wind Direction =135.0° E of N J




Mean = 1036.325

0=29569 * ®

mip = mean - 0.125 0-='1032.631
max = meah +,075 ¢ = 1058.494
Azimuth =268.99°

EIevgtion =73.89°
Hour Angle =01:14:45.76° .

» Wind speed =9.01 km/hr = 5+6 miles/hs
Wind Direction =135.0° E of N :




Mean = 1022.756

g=33970 * *®

mip = mean - 0.125 0-=1018.51
max = megﬁ +,0.75 @ = 1048.233

" Azimuth =269.1°

Elevation =73.72°
Hour Angle =01:15:32.89° .

+ Wind speed =9.01 km/hr = 5:6 miles/hr
Wind Direction =135.0° E of N :




Mean = 1045.013
g o=36860 W
mip = mean - 0.125 o+=1040.403
* max = megh +,0%5 ¢ = 1072.673
Azimuth =269.21°

Elevation =73.56°
Hour Angle =01:16:18.01° .

» Wind speed =10.46 km/hr = 6.5 miles/ar
Wind Direction =135.0° E of N ;




.Mean =1037.011

§ o=20508 ' #

mip = mean - 0.125 0-=1033.697
max = meah +,0.75 ¢ = 1056.892
o Azimuth =269.33°
Elevation =73.38°
Hour Angle =01:17:09.15° .
» Wind speed =10.46 kmjhr = 6.5 miles/hr
Wind Dirgction =135.0° E of N




+

Mean = 1024.871

0=26139 * #

mip = mean - 0.125 o= 1021.604
max = meah +,0.75 ¢ = 1044.476
Azimuth =269.43°

Elevation =73.22°

Hour Angle =01:17:55.28° .

+ Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N




Mean = 1051.393 , *

i lo=27781
mip = mean - 0.125 0=1047.92
max = meah +,0.75 o = 1072.229
Azimuth =269.54°

Elevation =73,06°
Hour Angle =01:18:41.41° '

+ Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N :




Mean = 1050.574

0=29146 * §

mip = mean - 0.125 o+="1046.93
max = me;\h +,045 0 = 1072.433

‘ Azimuth =269.64°

Elevation =72.9°

Hour Angle =01:19:25.53° '

+ Wind speed =10.94 km/hr = 6.8 miles/Ar
Wind Direction =135.0° E of N i




Mean = 1036.942

o=25642 " ¥

mip = mean - 0.125 0:="1033.737
max = meah +.075 ¢ = 1056.174
Azimuth =269.75°

Elevation =72.72°
Hour Angle =01:20:16.67° .

# Wind speed =10.14 km/hr = 6.3 miles/ar
Wind Direction =135.0° E of N




Mean = 1047.867

0=29769 * ®

mip = mean - 0.125 0-="1044.146
max = meah +,0.75 ¢ = 1070.193
Azimuth =269.87°

Elevation =72.54°

Hour Angle =01:21:06.80" .
Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N :




Mean = 1036.734
follink LI bR,

min = meap.— 0.125 0 = 1034.097
max = mean'+,0.75 0= 1052.561
s Azimuth =270.32°
Elevqtiorl =71.8°
Hour Angle '=01:24:35,37° .
« Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N ¥




Mean = 1023.498

o= 0010
min = mean - 0.125 o = 1020.914
max = mean +.0.75 0 = 1039.0

& Azimuth =270.42°
Elevatior_l =71.63°
Hour Angle =01:25:23.50° ’

* Wind speed =8.21 km/hr = 5:1 miles/hr

Wind Direction =135.0° E of N




Mean = 1048.234

g =2 T T
min = mean - 0.125 0= 1045.5
max = meaf + 0.75 0 = 1064.64

g Azimuth =270.51°" |
Elevqtiorll =71.47°
Hour Angle =01:26:08.63° .

. W'ir_\d speed =7.89 km/hr = 49 miles/hr

Wind Direction =135.0° E of N




Mean = 1037.062
0=15953 ¥

min = mean - 0.125 0= 1035.068
max = mean +.0.75 0 = 1049.026
& Azimuth =270.62°
Elevatiorj =71.29°
Hour Angle =01:26:59.77° .
= Wind speed =7.89 km/hr = 419 miles/hm
Wind Direction =135.0° E of N




Mean = 1049.188
s 0=19000 " ¥
min = meap -0.125 0= 1046.813
max = mean +.0.75 o = 1063.439
4 Azimuth =27072°
E[evatiorlm =711
Hour Angle =01:27:49.90° '

+ Wind speed =9.01 km/hr = 5.6 mlles/hr-
Wind Direction =135.0° E of N




Mean = 1047.775

q=2TPeE N

min = mean - 0.125 0= 1045.113
max = mean +.0.75 0= 1063.746
Azimuth =270.81°

EIevatioq =70.95° 3
Hour Angle =01:28:34.02° '

* Wind speed =9.01 km/hr = 56 miles/hr
Wind Direction =135.0° E of N




Mean ='1037.181

o=18153 " ¥

min = mean - 0.125 0=1034.912
max = mean +.0.75 0 = 1050.797

o Azimuth =270.92°

ElevatiorJ =70.77°
Hour Angle =01:29:25.16° .

+ Wind speed =9.82 km/hr = 61 miles/hm
Wind Direction =135.0° E of N




Mean = 1023.338

« 0=17.585 .-
min = mean - 0.125 0 =1021.14
max = meah +.0.75 0 = 1036.526

* Azimuth =271.01°
Elevation =70.61°
Hour Angle =01:30:12.29° '

+ Wind speed =9.82 km/hr = 6:1 miles/hr
Wind Direction =135.0° E of N 3




.

Mean'=.1050.610

0'=14.292 ki, -

min = mean:; 0.125 0= 1048.823
max.= mean +:0.750'= 1061.329
Azimuth'=271.1° :

Elevation =70.45°

Houir Angle =01:30:57.41" .

= Wind speed =13.52 km/hr = 8.4 miles/hr
Wind Direction =135.0°.Eof N o i




¥

Mean = 1024:257
g=9232" 4
min = mean.-0:125 0.= 1023103

“Max = mean 0. 75 o= 1031 181

Azimuth S271,22¢ Iy
Elevation =70.25"

~Hour Angle =0313L53; 57 ¥

Wind speed ~7.08 km/hr =44 mlleS/hr-
Wind' Direction =135.0%E.of N




Mean:=:1055:799 -

C0=9944 -.*r"

min. = mean ‘0.125 o= 1054 556 ;

Liax = mean # O .75 e 1063 257

AZ|muth £27 L 3

i Elevatxon =70097 gL e
‘Hour: Angle=01:32:38! GG R
Wlnd speed =7, 08 km/hr =44 mﬂes/hr

‘ _.Wlnd Dlrectlon -—135 0%E oFN i




Mean =.1055: 393 =

G R e

mm ='mean;- 0.125 a = 1054 108

“max = meaf -+ O 75 a = 1063 102

L AAMUL =271:41
“Elevatiorn:=69.91"

- Hourn Angle S0 33 3E; 84 i

Wlnd ‘speed 10 46 km/hr 6. 5 mlles/hr
Wind Dlrectldn =135.0" E ofN ]




e Elevatlon —69 69° G e

+ Hour.Angle =01:34:31.007% 1S
wind speed ' =10.94 km/hr 03 8 mlles/hr
Wind Direction =135:0%E of Ni-

Mean'= 1024.904

o= 8720 i
min‘= mean - 0 1250~ 1023; 814"

Comaxi= mean +. 0.750 = 1_031_.444

AZ|muth 271 527




Mean. = 1057,251
g = 10436 it T

. 'mm = mean O 125 g 1055 984

’ max = mieah 4 0. 75 o= 1064 852

AZlmuth =271, 61°

T E}evation =69. SR

i .Hour Angle =031:35({16:127

Wlnd Speefd =869 km/hr = 5 4 mﬂes/hr
S Wind Direction, =135, 0 E of N o




- Mean = IO36501 5

0=8888 - iz

mirr= mean 0. 125 gr= 1035 39
ax = mean 2 O 75 o= 1043 167

_Az1muth 271 ya e
“‘Elevation =69:35° A
Hour Angle =015 36z 07, 26" g R
Wind speed £7.56 km/hr = 3 mlles/hr- i
“Wind DlreCtIOﬂ 1350 E'of N .:




L

Mean =1024.827
o=10794 5w
min-="mean:-'0,125 0 =.1023:477
Mmax = meah+ 0.75 0 = 1032:923
Azimuth =271:8° ;
Elevation =69.19°

Hour Angle OI 36:53.39° . Le
Wind speed 8 21 Km/hr=5.1 mlles/hr
Wind Direction =135.0° € of N :




Mean = 1053:745,
0= 12.004 .- * et
min = mean - 0.125 0-=-1052:245'
max = meaf 4 0.75 0'='1062.748
Azimuth =271:89° ]
Elevation.=69.01>

- Hour Angle:=01:37:42.52% . " %
& Wind'speed =8.21 km/hi-= 551 miles/hri

Wind Direction =135(0° Eiof-N: = 5,




Mean =.1036.682

'0'=19.832 .

mln =mean - 0M25 0= 1035 453
imax = mea?) +0i75.0'= 1044 057
Azimuth =271.98"

EIevatxon =68.83" fo
Hour Angle: =01 38:32.66° e

< Wind speed =8.69 Km/hi = 5i4’ m|1es/hr- e

~Wind Directlon —135 0°.E.of N




Mean = 1024.552

g='13.383 .

min. = mean - 0.125 ¢g=.1022.879
max = meah +.0.75 ¢ = 1034589
Azimuth =272.07°

Elevation =68.67°

Hour'Angle =01:39:18 78" .

« Wind speed =13.2 km/hr= 8.2 miles/hn
Wind Direction'=135.0" E of N




Mean =1052,002

o=17.536 e

min = mean‘- 0.125 ¢g-= 1049.81
max = meah +0.750=1065.153
Azimuth =272.15°¢

Elevation =68.51°

Hour Angle =01:40;04.91° .

« Wind speed =13.2 km/hr = 8:2 miles/hm
Wind Direction =135.0° E of N




Mean =,1038.147

0=14.058 A,

min = mean-0.125¢0=1036.389
max = meah +.0.75 0 = 1048.691

i Azimuth'=272.25°

Elevation =68.33°
Hour:Angle =01:40:55.05° .

+ Wind speed =11.27 kmjhr = 7.0 miles/ar
Wind:Direction '=135.0"E of N




Mean = 1051.217
0=20975 * ®

min = mean - 0.125 0 ="1048.596
max = meah + 0.75 ¢ = 1066.948
Azimuth =272.34°

Elevation =68.15"

Hour Angle =01:41:46.19° .

+ Wind speed =11.27 km/hr = 7.0 miles/ar
Wind Direction =135.0° E of N




Mean = 1049.122

o=25287 il

mip = mea‘n -0.125 0 = 1045.965
max = meah +,0.75 0 = 1068.065
Azimuth =272.42°

Elevation =67.99°
Hour Angle =01:42:30.31" .

« Wind speed =13.52 km/hr.= 8.4 miles/hr
Wind Direction =135.0° E of N




Mean = 1039.117 ¥

o=26273 * ®
mip = mea‘n -0.125 0= 1035.833
max = meah +,0.75 0 = 1058.822

" Azimuth =272.52°

Elevation =67.81°
Hour Angle =01:43:22.45° '

» Wind speed =9.01 km/hr = 546 miles/hm
Wind Direction =135.0° E of N




Mean = 1023.295

0=33838 " ®

mip = mean - 0.125 o= 1019.065
max = meah +,0.75 @ = 1048.673
Azimuth =272.6°

Elevation =67.64°

Hour Angle =01:44:08.58° .
Wind speed =12.07 km/hr = 7.5 miles/hr
Wind Direction =135.0° E of N




]
Mean = 1047.379 ¢

i o = 31.665 !

min = mea.n -0.125 0=1043.422
max = mea'h +.0.750 = 1071.12
Azimuth =272.68°
Elevation =67.48°
Hour Angle =01:44:53.70° i

+ Wind speed =10.94 km/hr = 6.8 miles/r
Wind Direction =135.0° E of N i




Mean = 1039.508

§0=20881" "N

mip = mean - 0.125 o= 1036.154
max = mesﬁ +.,0.75 @ = 1059.631
Azimuth =272.77°
Elevation =67.3°
Hour Angle =01:45:44.84° .

+ Wind speed =10.94 kmjhr = 6.8 miles/hr
Wind Direction =135.0° E of N :




Mean = 1046.540

o=31932 * ®

mip = mean - 0.125 g=1042.549
max = me;ﬂ +,0.45 @ = 1070.489
Azimuth =272.86°

Elevation =67.12°

Hour Angle =01:46:34.97° .
+ Wind speed =10.14 km/hr = 6.3 miles/hr

Wind Direction =135.0° E of N




Mean = 1047.171
9=20215 ' ®

mip = mean - 0.125 0-="1043.519
max = meah +,0.75 ¢ = 1069.082
Azimuth =272.94°

Elevalltion =66.97°
Hour Angle =01:47:20.10° .

=« Wind speed =12.71 km/hr = 7.9 miles/ar
Wind Direction =135.0° E of N ;




Mean =1042.037
0 =19.255 R,
min = mean - 0,125 g-= 1039.63
max = meah +0.75 0= 1056.478
& Azimuth =273.03°
Elevation =66.78°
Hour Angle =01:48;11.24° .
« Wind speed =12.07 km/hr =7.5 miles/hr
Wind Direction =135.0° E of N




Mean =1025.156

g = 16,506 ..

min = mean - 0:125.0:= 1023.093
max = meah +.0.75 o = 1037.535
Azimuth =273.11°

Elevation =66.62°

Hour Angle =01:48:56.36° .
« 'Wind speed =13.52 km/hr = 8.4 miles/hr
Wind Direction. =135.0*E of N

-




" Mean = 1042525

o= 10361 ¥

Cminc= mean s 0:125:0:= 104123 &

max = meah +0.75.0 = 1050296
Azimuth =273>_.2°
Elevation:=66.43"°

'HourAngle =01:49i51.51°

: Wind speed'=13.52 km/hr = 8 4 mlles/hr
_Wmd Direction —-135 0° E of N_




-

Mean = 1026:371
g =12575 .

min ='mean <0.125 0 =1024.799
max = meah +0.75'c = 1035.802
Azimuth =273.28° X

Elevation =66.27°

Hour Angl'e =01:50:37:64° *
Wind speed'=14:32 Kni/hr = 8.9 -miles/hr
Wind, Direction =135.0%,E of N




Mean =:1056.021

0=13.616 i

min-= mean=~ 0.125 o= 1054.319
max. = meah + 0.75 ¢ = 1066.232 :
Azimuth =273.36°

Elevation'=66.11° [

Hour Angle =01:51:22.76" .
"v'Wind'speed =16.09 kmihr = 10.0 mlles/hr
Wind Direction £135.0%E of N




Mean = 1053351
o= 17090

min = mean - 0.125 ¢-='1051.,224
max = meah + 0.75 ¢ = 1066.116
Azimuth =273.44°

Elevation =65.95°

Hour Angle =01:52:07.88" .

+ Wind:speed =13.52 km/hr =:8.4 miles/hr
Wind Direction =135.0° E.of N




Mean = 1040.394

o=17:970 7 .

mip = mean - 0.125.0:=1038.148
max = mesh + 075 ¢ = 1053.872
Azimuth =273.53°

Elevation =65.77°

Hour Angle =01:52:59.02° .

« Wind speed =14.64 km/hr = 9:1 miles/ar
Wind Direction =112.0°E of N




Meéan =1055.550

o= 17.118 B

min ="mean - 0.125 0 =1053.41
max = meah + 075 o = 1068.388
Azimuth =273.61°

_Elevr_:ltion =65.59"

Hour Angle =01:53:48.16° N

« Wind speed:=14.64 km/hr = 9.1 ‘miles/ar
Wind Direction'=112.0°E of N




Mean = 1040.245

G=13460 f . ®

min ="'mean-0.125 0:=1038.563
max = meah + 0.75'0 =.1050.34
Azimuth =273.7° ;
Elevation =65.41°

Hour Angle =01:54:39.30° .- -
+ Wind speed =15.77 km/hr ='9.8 mlles/hr
“Wind Direction =135.0% E.of N




Mean = 1026.650

0= 13.648 " L]

min-= mean- 0.125 0 = 1024.944
max = mesh + 0,750 = 1036.887
Azimuth =273.77°

Elevation =65.25°

Hour Angle =01:55:25.42° !
Wind speed: =14.32 km/hr = 8:9'miles/hr
Wind Direction =135.0° E of N




Mean = 1059:923:"

0'=13,550 " & 2

© min= mean - 0.125 0/="1058.23 "
max = meah +:0.75 021070086
Azimuth-=273:85°

Elevation =65.09°

Hour Angle =01:56:10.55° e
L Wind speed '=14:32 km{/hr = 8.9-miles/ar
Wind Direction =135.0°E of N




Mean = 1058.030
o RIS A .

min'='mean -.0.125 0-=1055.834
max = meah + 0.75 ¢ = 1071:208
Azimuth =273.92°

Elevation =64.93° : .

Hour Angle =01:56:55.67" .
«-Wind speed =13.84 km/hr = 8.6 miles/ar
Wind Direction =135.0%E.of: N 'y




Mean = 1026.129
0=21931 * #

min = mean - 0.125 o= 1023.388
max = meah + 0.75 ¢ = 1042.577
Azimuth =274.01°

Elevation =64.74°

Hour Angle =01:57:47.81° “u

« Wind speed =13.84 km/hr = 8.6 miles/hr
Wind Direction =135.0° E.of N




Mean = 1053.537
0=26467 ' ®

mip = mean-0.125 0:= 1050.23

max = medh +.045 0 = 1073.38
Azimuth =274.09°

Elevation =64.57°

Hour Angle =01:58:35.94° .
Wind speed =13.2 km/hr = 8:2 miles/he
Wind Direction =135.0°.E of N :




Mean = 1026.012

=2 1023 =0

min = mean - 0.125 o= 1023.385
max = meah + 0.75 0 = 1041.778
Azimuth =274.18°

Elevation =64.39°

Hour Angle =01:59:29.09° .

+ Wind speed =10.46 km/hr = 6.5 miles/hr
Wind Direction =135.0° E of N




Mean =1053.103

G iE 23 2 n et

mip = mean - 0.125 0.=1050.209
max = mesh + 04750 = 1070.467
Azimuth =274.25°

Elevation =64.23°

Hour An'gre =02:00:14.21° .

« Wind speed =13.2 km/hr = 8:2 miles/hs
Wind Direction =135.0°.E of N




Mean = 1053.969

0 =207/20% " > "

mip = mean - 0.125 0-='1051:379
max = meah + 0.75 0 = 1069.509
Azimuth =274.33°

Elevation =64.07"°

Hour Angle =02:00:59:33° .

« Wind speed =12.39 km/hr = 7.7 miles/ar
Wind Direction =135.0° E of N :




Mean = 1042.619
0=13733. " ®

min = mean = 0.125-¢:=1040.903
max = me:d'h +*0.75 o= 1052:919
Azimuth =274.41°

Elevation =63.89*

Hour-Angle '=02:01:50.47° .
Wind speed =12.39 km/ht =77 miles/ar
Wind Direction =135.0" E-of'N

-




Mean = 1026.395
0=12216 -

min-= mean:+='0.125 g'= 1024:868
max = meah + 0.75 ¢ = 1035.557
Azimuth-=274.49°

Elevation =63.72° !
Hour Angle =02:02:36.60° .

Wind speed. =9.82 km/hr = 6.1 miles/hr
Wind Direction'=135.0" E of :N




Meéarr = 1060:457 + i
=TT £
min = mean = 0:125 ¢ = 1059055
©max = medh+ 0.75 0'="1068:869 - .
Azimuth =274.,56‘:

Elevation =63.56° - ey
“Hour Ahgle =02:03: 2172" RSN

Wlnd Speed =6:76 Km/hr =4.2. mlles/hE A

Wind:Direction.=135:07 E.ofiNGi T




Mean = 1042.:920~ %
= G99 e
-min = mean;- 0; 1250.= 1041 8057
max .= mean +0: 75 a= 1049 612.
_Az:muth =274, 64 T 1
‘Elevation:=63.38° :
',-_Hour Angle =02:04; 12:86°

: Wlnd Dlrectlon ~135 0 E of N :;_ _': gt




Meath ='1042:470"

G AP O R e iy ;
min = fnéant- 0 1250'= 1041 318.'
max = mea'h +0750= 1049 385:_ Sy
Azimuth =274.76° j

i “Elevation'=63:12:

-_'Hour Angle =02:05:26. 06 ;
W|nd speeﬁ-.. 9:01. km/hr =56 mlles/hc
Wind Dlrectlon =135.0° E of; Ny




Mean = 1028.096

0:=9.066 " o

min'= meani- 0.125 o= 1026: 963
max. = meah +0.75 o= 1034 896

AZimuth =274 83°

Elevation =62. 96° et Rt

Hour Angle =02:06:12.19% 1 %% S

Wind speed =11/59 km/hr = 7 2 mTIes/hr
MWind D|rect10n =135.0° E of N e




Mean'=.1063.841
0-=11: 402 ErEeT. &

Lmin = mean 0 125 0= 1062 416

max = meah +_O.75 o= _1072_._393.
Azimuth =274.917 %

Elevatnon =62/8" ;
“Holir Angle '=02:66157.31% 1 1% 5 n
“Wind'speed =10.94 Krifhr = 6, B mlIes/hr

Wind Direction =135.0" E of N g T o i

.i.

B -




Mean . =1040.741

0=10:883; . :
min‘= mean - 0,125 ¢'= 1039._3'8.
max = medh: + 0,75 o= 1048903
Azimuth =274.99°

Elevation =62.,62° !
‘HourAngle =02:07:48.45% 1 i e
+ Wind speed 10 94 km/hr = 6. 8 mlles/hr ;
Wind Direction:=135.0" E of N

»




Mean = 1027.054

0=17202 = ®

min = mean - 0.125 0-= 1024.963

max = me.ah + 0.75 g = 1039.955
" Azimuth =275.06° 2

Elevation =62.46°

Hour Angle =02:08:34.58° .
Wind speed =10.94 km/hr. = 6.8 miles/hr
Wind Direction =135.0° E of ‘N

-




Mean = 1057.603° *

0=20:802 ;..

mip.= mean - 0.125 0:=:1055.003
max = mejilh +.O.75 o= 1073.205
Azimuth =275.13°"

Elev@tion =62.3°

Hour Angle =02:09:20,70° 5

Wind speed-=6.76 km/hr = 42 miles/h&
Wind Direction =135.0° E.of N




Mean = 1040.964 - *®

o= 215934 .

mip = mean - 0.125 0:= 1038.222
max = megh + 0,75 0 = 1057.414
Azimuth =275.21° G

Elevation =62.11°

Hour Angle =02:10:11.84° i
Wind speed =9.82 km/hr = 61 miles/h&
Wind Direction =135.0° E of N




Mean = 1040.899 *

SO = 235 R

mip = mean - 0.125 0;="1037.934
max = me’% +_O.-75 o0 =1068.685
Azimuth =275.28°

EIevation =61.96°

Hour An.gre =02:10:55.96° .

Wind speed =9.82 km/Qr = 61 miles/h&
Wind Direction =135.0° E of N




Mean = 1052.459- *

0=27.076 " =

mip = mean - 0.125 0:='1049.074

max = megh + 0:75 0 = 1072.766
Azimuth =275.36°

Elevation =61.78°

Hour Angle =02:11:46.10° -
Wind speed =9.01 km/hr = 5.6 miles/h&
Wind Direction =135.0° E of N :




Mean = 1041.415 *

0= 25000 .

mip = mean - 0.125 0.=1038.176

max = me!ci'h +.0.-75 o =1060.847
Azimuth =275.44° "

Elevation =61.6°

Hour Angle =02:12:37.24° .
Wind speed =10.94 km/hr = 6.8 miles/hr
Wind Direction =135.0° E of N




Mean = 1025.216

O3 A0

min = mean - 0.125 0 ='1021.302
max = me‘éﬂh + 0.75 0 = 1048.698
Azimuth =275.52°

Elevation =61.44°

Hour An'gTe =02:13:23.37° .
Wind speed =9.82 km/hr = 6.1 miles/hg
Wind Direction =135.0° E of N




Mean = 1050.567 *

‘0=36955 * ®
mip = meein - 0.125 0:="1045.948
max = medh + 0,75 0 = 1078.283
Azimuth =275.59°
Elevation =61.28° :
HouriAn'gTe =02:14:09.49° .
« Wind speed =11.27 km/hr =47.0 miles/iar
Wind Direction =135.0° E of N :




Mean = 1040.620 *

‘0=306F4  * W

min = mea.n -0.125 0:="1036.793

max = medh + 075 0 = 1063.581
Azimuth =275.67°

Elevation =61.1°

Hourl’An‘gTe =02:15:00.63" »
Wind speed =10.14 km/hr =6.3 miles/ir
Wind Dirgctiqn =135.0° E of N




Mean = 1025.308
o=34481 * ®

minp = mean - 0.125 o.= 1020.998
max = medh + 0750 = 1051.168
Azimuth =275.74°

Elevation =60.92°

Hour Angle =02:15:49.77° .
Wind speed =10.14 km/hr =6.3 miles/hr
®Vind Direction =135.0° E of N




Mean = 1049.825  *

'0=39.508 * ®

mip = mean - 0.125 0-='1044.886

max = medh + 0:75 0 = 10/9.456
Azimuth =275.81°

Elevation =60.76° ;

Hour Angle =02:16:34.89° .
Wind speed =9.33 km/Qr = 5.8 miles/hg
Wind Direction =135.0° E of N :




Mean = 1041.106  *

'g= 261880 X1

mip = mean - 0.125 0:=1037.749

max = me!cm s 0:75 0 = 1061.244
Azimuth =275.89°

Elevation =60.58°

Hour Angle =02:17:26.03° "
Wind speed =9.82 km/Qr = 61 miles/hg
Wind Dirlectiotn =135.0° Eof N




Mean = 1024.917
0=32.024"-"% --'®

min = mean - 0.125 0.=1020.914

max = me'em ++0.75 o =1048.936
Azimuth =275.96° _

EIevgtion =60.42°

Hour An'gTe =02:18:13.16" -
Wind speed =11.27 km/hr =.7.0 miles/hr
Wind Direction =135.0° E of N




Mean = 1053.007 *

0=29:653 * =

mip = mean - 0.125 0:=1049.3

max = me'&m +.O"75 o = 1075.246
Azimuth =276.03°

Elev:a\tion =60.26°

Hour An'gTe =02:18:58.28° 5 -
Wind speed =11.27 km/hr =.7.0 miles/iar
Wind Dirgctio_n =135.0" E of N




Mean =1041.228

*a=23:8855 105 .

min = mean - 0.125 0:=:1038.244
max = me'ah +‘0.-75 o =1059.134
Azimuth =276.12°

Elevation =60.07°

Hourl’An‘gTe =02:19:52.43" .

Wind speed =9.82 km/hr = &1 miles/hg
Wind Direction =135.0° E of N




Mean = 1025.377

0=26122: * &

min = mean - 0.125 0 =1022.112
max = me?;m + 0.75 0 = 1044.969
Azimuth =276.19°

Elevation =59.9°

Hour An'gTe =02:20:38.55" .

Wind speed =7.89 km/hr = 4.9 miles/hg
Wind Direction =135.0: E of N




Mean = 1054.030
‘'0=26.361 * ®

min = mean - 0.125 0:=1050.735

max = medh +.0:75.0 = 10/3.801
Azimuth =276.26° |

Elevation =59.74°

Hour An'gTe =02:21:24.68° -
Wind speed =8.21 km/lr = 5.1 miles/h&
#ind Direction =135.0° E of N




Mean = 1041.429

0= 2338, 5 .

min = mean - 0.125 0'=:1038.762
max = me‘é\‘h + 0:75 0 =1057.433
Azimuth =276.34°

Elevgtion =59.56°

Hour An'gTe =02:22:15.82° -

Wind speed =10.94 km/hr = 6.8 miles/r
Wind Direction =135.0° E of N




Mean = 1053.265
0=24378 " ®

min = mean - 0.125 ¢.=:1050.218

max = medh + 0,75 0 = 1071.548
Azimuth =276.41°

Elevation =59.38"

Hour Angle,=02:23:05.96° .
Wind speed =9.01 km/hr = 5.6 miles/he
Wind Direction =135.0° E of N




Mean'= 1041.952

0515292 - % 1%

min = mean:- 0.125 0:=1040.04
max-= me.efh +,0'75 0 =1053.421
Azimuth:=276.49°

Elevation =59.2°

Hour Angle =02:23:57.10° .

- Wind speed =9.01 km/hr = 5.6 miles/hg
¥Wind Direction =135.0* E of N




Mean = 1040/931
a = 11488 L. :
min = mean:'0:125 0:=-1039.495. -
max = me'd'n + 075 0'="1049:547
. AZimuth ' =276.81"°
Ele_vation =b8:45"
‘Hour Angle =02:27:30.68° i
Wind speed =9:82 km/hr _=.6.1'mires/hf
“vind Direction =135.07 & of N ;




Mean =1057.335

o= B AR .

min‘=:mean:- 0.125 0 = 1055.194
max = me‘efh + 0.75.0=11070.184
Azimuth =276.89°

Elevation =58.28°

Hour Angle =02:28:19.81° .

« Wind speed =9.01 km/hr = 5.6 miles/h¢
Wind: Direction =135.0° E of N =




Mean =-1040:453 1 "

‘o= 10.176

mip: = mean 0:125.0'=1039.181 " =™
+max'= medn +0.75.0'= 1048: 084 .
Azimuth =276. 97

Elevation =58.09: i

- Hour Angle =02i29:13; 96° sty
, Wlnd speed =9.82 km/hr = 61 mlles/hs
Wind Direction =135.0* E of N )




Mean = 1025.825

g.=12731 "

min =imean = 0.125'¢'= 1024.234
max = merd'n +.0:75-0 = 1035:373

Azimuth-=277.04°
Elevation =57.93°

Hour Angle =02:30:00.09° .
Wind speed =9.82 km/hr, = 6.1 milés/hr
Wind Direction =135.0°E of N

[




+ Mean = 1057.874
05161484 10w
min =mean - 0.125 0:=:1055.813
max = medh + 0.75 0. = 1070.237
Azimuth =277.1°

~‘Elevation =57.77°

Hour Antg]e =02:30;45.21° .

« Wind-speed'=9.33 km/hr =/5.8 miles/h
Wind Direction =135.0° E'of N

-




Mean = 1039:894 = *

07=14:984 .

min = mean-0.125 oo=1038.021
max = medhn +.0,75 0 = 1051.132
Azimuth =277.18°

Elevlation =57.59°

Hour Angle =02:31:36:35° .

# .Wind speed =10.46 km/hr =i6.5 miles/ir
Wind: Direction =135.0° E of N




Mean-= 1025:921 -

Sg=8731 AT S
‘min ='mean;:.0.125¢ = 1024.829+ 4
max-= mean +075.0= 1'0_32._469'
AZimuth-5277.25* -

d Elevatlon =b7.43"7 AR
‘Hour Angle =02:32;22.48° SRR

_.Wlnd speed =9.82 km/hr =61 mlles/hr

- Wind Direction.=135:0% E of N"#".




Mean = 1040.228 "™
i o a T L T4
min.= mean:- 01250—10391 o :
.'max—m.eal'n+0750 1046997
Azimuth =277.33% i

 Elevation _57 277

Hou? Angle:=02:33:20064° = ., " v .
“iWind speed —10 46.kmihr= 6 5 mlles/hr_'
'_W|n<_1 Direction =135,07E of N




Méan'=.1039-969
ey S R S
min’ = mean 0. 125 o = 1038 828
max = meafn +: 0.75 g = 1046 816 ;
; AZImuth 277 4 WHis

Elevatlon —57 07 e T
Hour.Angle =02; 34:04: 76 : ._‘-.' et
: Wind speed- =8.69 km/hr =5 4-m|Ies/hr
] ,Wmd Dlrectron —135 07 E ofiN.

1




Mean =1025.697

0'=11.927 ®

min = mean.~0.125 ¢ = 1024:206
max = mean + 0.75 0 = 1034.642
Azimuth =277.47°

Elevation =56.9°

Hour-Angle =02:34:50.88° .
Wind speed =8.69:km/hr ='5.4 miles/he
Wind: Direction =1.35:0% E of N




-

Mean.= 1056.824
o= 15.5451I - .
min ="mean- 0.125:0 =:1054.881
max = medn + 0.75 0 = 1068.484
Azimuth-=277.53°

Elevation =56.75°

Hour Angle =02:35:36.00° %

+ Wind speed =9.01 km/hr=:5:6'miles/h¢
Wind Direction =135.0° E of N




Mean = 1039.027

g Rgr R it
min‘="mean - 0.125 0= 1037 809 i
max = medn 4 0.75.0 = 1046 341
Azimuth =277 61

Elevation-=56:57° - ke i Tw.
Hour. An'qI‘e. ;"02:3(.5:27.14_’ '_ Py :

Wind speet =9 33 Ka/hr =5.8 milsihe..

“Wihd Direction =135.0° E:of N




" Méan =11059.216" :-f %
0,59.878% 1w B
.mm = mean 0 125 0 = 1057 982

ek = mean + O 75.0= 1066 6‘25

o AZImuth=277,68% L e
CElevation, —56 39:; ;
Hour Angre 02 37 17 28"




" Méan = 1038086 & v
.--0—8420 D e B
Cin = mean 0 125:0:= 1037 034

max—-mean+0750—1044401.. Al

-AZImuth 277 77

-'--Elevatlon —56 19

; .-...Hour Angle = 2:38 15 44
2 Wlnd speed =8.
i Wlnd Dlrectron —135 0 E oFN




3 'Mea'n e 1637':_'8'41'8
=8 381 :

A A T

: mm =/mean = 0. 125 0= 1036 801 -] _‘ _._::
imax = mean £ 075 o <. lpga1ss
AZimUEh =277.84¢ 1
'_Elevat.on =56.02°
~.-Hour Angle = —02: 39 015777 :
-'I_Wmd speed =933 k_m/hr c 5 8 ml}es/hr
'-Wmd Direction'> =135. 0 E of N-




: _I\./Ieari.- 10'6'1'.!'558'-2.'

| £ 0 =9.869 et

imin‘=‘mean< 0. 125 o= 1060 354

; _max—mean+0750—106899

S AZimuth =277:92%
-'Elevatlon =004, v e
= Hour Angle =02:39154 71°

 Wind'Spesd =10,46-km/hr = 6.5 mues/hr AT

-=Wind _Dlr_ecttqn_ =13570% Elof _N_




Mean = 1038 236 t

g% 8538 e 1T

min = mean 0, 125 o = 1037 169
maxi= mean 0L 75 o 1044 638 ‘
Azimuth =278.02° i

Elevation =55, 58"
soHour Angle —-02 41 07 91 R
= oWind speed- 9: 33 km/hr =5g n'n‘iés/ﬁr i
¢ Wmd Dlrectlon 135 0 E ofN

R




~ Medn ='1064.262

0=10453 = %
rin: = mean -0,125: o= 1062 955
! max =limean.+ 0 750 = 1072 102
& AZ|muth =278 12"

SR e

i Elevation-=55,34"
W Hour Angle 02 42:17. 10

Wing. speed =8.69 km/hF-= 5 4! mlleS/hr
; Wmd Directioh: —1350 Eof N :




Medan = 1038616 7.
2B e
E mm = Mean= 0 125; 0 = 1037 459
max: = mean + 0: 75 G = 1045 554
: A2|muth 278 22°

M o

: Elevatlon HBE TR : R
Hour Angle =02: 43: .20, RS AL
Wind speed'=9; 82 km/hr = 6 1 m|1e.s/h-r

- 12Wind:Direction; =135.0% E: of N




'-M'ean_1027' Q9 SE e e
0'=7:855"

' nin'= mean - 0125 e 1026 oy Baaty

_max = mean 4 075 o T 10329

! A2|muth =278 28

Elevatlon —54 95° 2
IHour Ang1e =02 44 06 40°"

= Wind speed —10 146; km/hr 1 6 i mxles[hr
“Wind Direction.=135.0°1E ofl_\! R R

’.



‘Mean = 1039.037 %

o G B G e o

SEmin = mean 0. 125 o= 1037 955 AR

LArmax.= mean' 075 = 1045 529' :
.A2|muth 278 4,

“Elevation 25468,

' Hour Angle =02:45:25, 61

Wind Spesd=12! 07 kin/hr'= 7 5 mlles/hr
Wind Dlrectlon —135 0" E of N




“IMean = 1069; 94'3'- o e
L0 =10:458 4 ; i
-min’= fiean = 0125 9= 1068 636—

; Smiax. = mean ¥ 075 o— 1077 783

L Azimuth =278.54"
'Elevatlon =-54 T orE ]
Holar Ang[e =02 47*03 88" :

'-Wlnd Speed :

e




Meari’='1040.856
o= 10.168 SR
' min = mean s 0.125 0 = 1039/585
; max.= mean =r 0 75 0'=.1048. 481
A2|muth 278 63"

Elevation =54.12° Bk
"Hour. Angle =02: 48 03.04° = e

“Wind speed =9 82 kni/hr = 6.1 miles/br - -

Wind Direction-=135.0%E ofN_




Mean = 1026.333

0=17.261 y

min = mean - 0.125 g = 1024.176
max = mean 4 0,750 = 1039.279
Azimuth =278.7°

Elevation =53.96°

Hour Ang.le =02:48:49.17° *
Wind speed =13.2 km/hr ='8.2 miles/hr
Wind Direction =135.0° E of N




Mean =.1057.503

0=17.238 "~ ™

min-=mean -0.125 0 =.1055.349
max = mean + 0.75'c = 1070432
AZimuth =278.76°

Elevatio_n =53.8°

Hour Ang.le =02:49:34.29° #
Wind speed =14.32 km/hr =*8.9 milesfr
*Wind Direction =135.0° E of N %




Mean = 1041.184

g =3 Ta6h L o
min'="meah- 0.125 0 ='1039:764
max = mean + 0.75 0= 1049.708 . -
Azimuth =278.84¢ el
Elevatio_n_=53.62° r

Hour Angl.e =02:50:25.43" »
Wind speed =9.33km/hr = 5:8 miles)hwr
Wind Direction=135.0°.E of N




Mean-= 1059.035

o=13:898 . _

min:= mean -0.125 g'= 1057:297
max = mean + 0.750 =1069:459
Azimuth =278.91°

Elevation =53.45°

Hour ‘Angle:=02:51:15.57¢ .
Wind speed:=9.01 km/hr:=5.6. miles/fr
Wind Direction =135.0° £ of N..~1F tig




Mean =-1040.889
0=15023
min. = mean - 0.125.0 = 1039:011
max = mean.+ 0:75 0 = 1052.156
Azimuth =278,98° j

-

Elevation =53.27°

Hour Ang1le =02:52:06.71° - ; i
Wind speed =13.84 km/hr =*8.6 milesht
Wind Direction =135:0°.E of N .




Mean = 1040.660
0 =14.320 :
min =megn --0.125 o= 1038.87

max = me_a'n + 0750 =1051.399
Azimuth-=279.05° - ;

Elevatlon =53.12°

Hour Angle =02:52:50.83" "
Wind speed =13:84 km/hr ="8.6-milesthr
Wind Direction =135,0° E of N: = =




Mean = 1027.875
o'= 10.852 -
min = mean+ 0.125/0 = 1026.519
max = mean‘+ 0750 = 103_6'.01'4_
Azimuth 5279:11°

Elevation =52.95°

“HourAngle'=02:53:36,96° ~ *
“Wind speed =13.84 km/hr = 86 miles/hr

Wind Direction =135:0° E-of N, +




Meah = 1063.805

0= 11441 *

min:= mean 0 125 0= 1062 375 J
“max.='mean + 0:75 @ —'1072 386

Azimuth=279.18° ¥

Elevation =52.8° i

Hour Angle =02:54:22,087 7755 -,.‘

Wind speed =132 km/hr =82 mlles/hr

Wind.Directioh:=135.0°E of N i+




Mean '=1028:313
g =11:550 =
min = mean - 0.1250 = 1026:87
max .= mean i+ 0.75'.= 1036.976
" Azimuth =279.26"

Elevation =52:6° T
Hour Angle =02:55:18.23° : :

L ]

"Wind -speed =12.71 km/hr'=-7.9 mlles/'hr
Wind Direction =135.0¢ E of N .




Méan = 1064 269
oi= 10593

min= meén 01250 = 106.2 945 s
' max = mean +70:75 0'= 1072 213 e
] Azumuth =279.32" :
Elevation =52, 44¢ i e
Hour-Ahdle =02:56:03, 36 i
Wind'speed =L2: 71 km/hr oL 9. mlles/hr

LT

; "\Nlnd Dlrectlon —135 0% E ofN ": it g




Meah = 1039:264. % !
0= 8580 S Tesga)
-mm mean 0. 125 0 = 1038 196- :
maxi= mean 4 10. 75 0= 1045 669 TE
AZimiith 2279747 : v
(Elevation'£52.267 - -

“Hour: Angle =02: 56»54‘50'

W|nd spe_ed =9 01 km/hr = 5 6 mlfes/h'r

-Wmd Dlrectton v135 0 E of N A




"1 Mean:=:1038.613¢

SR e e ;
“imin-= rean s 0*125 g= 1037 528

A= fnean 4 Ou75 o= 1045 12 _' il

i AZimuth = 279 39°

Elevatlon 52 04
] Hour Angle

7 Wind: speed =13 2 km/hr =8, 2 milesjh‘r T

Wind Direction.=135,0° E of N_._ .




Mean ='1026.875

0.=710:008

min = mean - 0:1250 = 1025:624 -
max.= mean * 0: 75 o= 1034 38"
AZ|muth =279.62°

Elevation =51.72° -
Hour Angle * 02 5912802+ e ot
W|nd speed =12.07 km/ht = 7.5 mlles/hr

-_lend Direction:=135,0% E'of'N. /=) ': o




Mean'='1060.855
0= 12.088 ' £
min'= mean 0.125 0= 1059. 344 .
max = mean +: 0.75: 0 = 1069 9-21
Azimuth =279.69°

Elevation ' =51.56"

. Hour Angle =03;00:15/04°% . ot

Wihd speed =6.76 km/hr = 4.2 mileshr e

“Wind Direction'=135.0° £.0F N




Mean = 1060.709
0 =12:454 «, o .
min.= megn - 0:125 6.= i05§.153

max = mean + 0.75'c = 107005"
Azimuth =279.75° ot
Elevatign:=51.41" }
Hour Angle =03:00:59.16% i it 7
Wlnd speed-=6.76 km/hr =42 mtles/h‘r
Wind Direction' =135,0% E of N - :

-




Mean =:1041:107

0=13.448 3

min‘=‘megn - 0.125'c = 1039.426
max = megn +:0.75'¢'= 1051.193

@ -Azimuth =279:82°
Elevatign:=51.23"
Hour Angle '=03:01:49.30° X

" Wind speed =10.94 km/hr ='6.8 milesthr
Wind Diregtion =135,0° EOf N\ .0\ . »




Mean = 1027.172
o=14336
min = mean;< 0.125 0'=1025:38
max = me;n +0.75 0 =1037.924
Azimuth =279.89°

Elevation-=51.07"

Hour Angle =03:02:35.43° ®
Wind speed =10.94 km/hr = 6,8 mileshr
"Wind Direction =135,0° Eof N . "




Mean =1059.081

o= 17.613 5

min = megn - 0.125 ¢.=.1056.879
: |

max = mean+ 0.75'0c = 1072.291

AZimuth =279.95°

Elevatign: =50.91°

Hour Angle =03:03:20.55° 1
Wind speed =8.69 km/hr = 5.4 miles/Hr
Wind Direction =135.0° £ of N =




.Mean =1052.337
526957
min = megn - 0.125 ¢ = 1048.968
max = fean 4 0.75'c = 1072.555

s Azimuth =280.02° %
Elevatign, =50.76°
Hour Angle =03:04:05.67° r
\7Vind speed =8.69 km/hr = 5.4 miles/Hr
Wind Direction, =135.0° E of N i




.Mean = 1041.+695
o =28726
min = megn - 0.125 0 = 1038.167
max = mean + 0.75°0 = 1062.865
® Azimuth =280.09° «

Elevatign,=50.58°

Hour Angle =03:04:56.81°
\7Vind speed =7.08 km/hr = 4.4 miles/fr
I"Wind Direction, =135.0° E of N has

-




Mean = 1023.‘241
o = 33.830

min = mea'n -0.125 0 = 1019.012
max = mean + 0.75°c = 1048.613
Azimuth =280.16° «

Elevatign, =50.42°

Hour Angle =03:05:42.94°
-\7Vind speed =9.82 km/hr = 6.1 miles/Hr
Wind Direction =135.0° E of N




, Mean = 1043,595

0 =37.937

min = megn - 0.125 6 = 1038.853
max = mean + 0.75°0 = 1072.048
Azimuth =280.22° «

Elevatign,=50.26°

Hour Angle =03:06:28.06°
II|II\7Vind speed =8.69 km/hr = 5.4 miles/Hr
Wind Direction =135.0° E of N




. Mean =1041.664
o=32877
min = megn - 0.125 0 = 1037.554
max = mean + 0.75°0 = 1066.321

» Azimuth =280.29° «
Elevatign,=50.08°
Hour Angle =03:07:19.20°
‘\7Vind speed =7.56 km/hr = 4.7 miles/Ar
Wind Directien =135.0° E of N S




Mean = 1023,557

o =30.637

min = mean - 0.125 0 = 1019.728

max = mean + 0.75 0 = 1046.535
» Azimuth =280.36° «

Elevatign, =49.92°

Hour Angle =03:08:05.33°
.Wind speed =7.56 km/hr = 4.7 miles/Ar
Wind Direction =135.0° E of N -




. Mean = 1045980
o =33.824
min = mean - 0.125 0 = 1041.752
max = mean + 0.75 0 = 1071.349
Azimuth =280.42° =

Elevatign, =49.76°

Hour Angle =03:08:50.45°
Wind speed =7.89 km/hr = 4.9 miles/Ar
Wind Directien =135.0° E of N




. Mean = 1045,722
o = 34.964
min = mean - 0.125 0 =1041.352
max = mean + 0.75 0 = 1071.945
® Azimuth =280.49° +

Elevatign, =49.61°

Hour Angle =03:09:35.57°
Wind speed =9.33 km/hr = 5.8 miles/Ar
Wind Directien =135.0° E of N P,




. Mean = 1041967
o=33.734
min = maan - 0.125 0 =1037.75
max = mean + 0.750 =1067.267
¥ Azimuth =280.56° *

Elevatign =49.43°

Hour Angle =03:10:26.71°
Wind speed =10.46 kni/hr = 6.5 milesthr
Wind Directien =135.0° E of N -




Mean = 1022,569

o= 41251

min = mean - 0.125 0 =1017.413
max = mean + 0.75 o0 = 1053.508
Azimuth =280.63° *

Elevatign =49.27°

l;iour An'g[e =03:11:12.84°
Wind speed =11.27 kni/hr = 7.0 miles/hr
Wind Direction =135.0° E of N




. Mean = 1040,805

o = 49.876

min = mean - 0.1250 = 1034 7k
max = mean +0750=1078.212
Azimuth =280.69° *

.Elevatign, =49.11°

l;iour An'gle =03:11:57.96"
Wind speed =11.27 kfi/hr = 7.0 milesfhr
Wind Direction =135.0° E of N




. Mean = 1042,190
0=42362
nin = magp - 0.125 o= 1036.907
max = mean + 0.75 o = 1073.887
AZimuth =280.76° *

Elevatign =48.93"

};lour An'gle =03:12:49.10°
JWind speed =10.46 krfi/hr =6.5 milesfhr
Wind Directien =135.0° E of N RN




Mean =_J.022,455.

o = 40.666

min = mean - 0.1250 = 1(317.372

max = mean 4+ 0.75 o = 1052.955
¥ Azimuth =280.83° *

Elevatign =48.77°

Hour Angle =03:13:35.23°
® _Wind speed =12.39 krit/hr = 7.7 miles/hr

Wind Direction =135.0° E of N




-

. Mean = 1042,126

2 L
o =44.984

nfin = megn - 0.125 0 = 1036.503
max = mean + 0.75 0 = 1075.864
Azimuth =280.89° *

Elevatien =48.61°

Hour Angle =03:14:20.35°
Wind speed =10.94 krfi/hr = 6.8 miles/hr
Wind Direction =135.0° E of N .




« Mean = 1042,51
o =44208 _
miin = megn - 0.125 0 = 1036.985
max = mean + 0.75 0 = 1075.667
b Azimuth =280.96° *

Elevatien, =48.46°

Hour Angle =03:15:04.47°
- JWind speed =10.94 krit/hr = 6.8 miles/hr

Wind Ditection =135.0° E of N




Mean = 1022,41

o =42.015

min = megn - 0.125 0 = 1017 162

max = mean + 0.75 0 = 1053 925
¥ Azimuth =281.04°

ElevatieR =48.26°

Hour Angle =03:16:00.62°
.Wind speed =13.2 km/hr = 8.2 miles/hr

Wind Direction =135.0° E of N .




« Mean = 1041,53
o = 49.396
min = megn - 0.125 o= 1035 363
max = mean * 0.75 0 = 1078 585
¥ Azimuth =281.1° *

Elevatien =48.11°
Hour Angle =03:16:45.75"
JWind speed =10.94 krit/hr = 6.8 miles/hr
Wind Difection =135.0° E of N . . ' .
-

-




» Mean = 1043,067g
0=44532 ! .
nfin = megp - 0.125 0 =1037.501
max = mean ¥ 6:7'5'0 = 1676.466
Azimuth =281.17°*

- Elevatien =47.93"

Hour Angle =03:17:36.89°
" JWind speed =13.52 krii/hr = 8.4 milesThr
Wind Difection =135.0° E of N e " .
L]




W EET =_1.022.01]-

0=45131

min = megn - 0.125 0 = 1016.37
max = mean ¥ 0.7'5'0 = 1655.86
Azimuth =281.24° *

Elevatien =47.77°

Hour Angle =03:18:23.01°
i aWind speed =11.27 krit/hr = 7.0 miles/hr

Wind Direction =135.0° E of N .




« Mean =_].039.60].
o =55.088
min = megp - 0. 125 o = 1032 715
max = mean * 0.75 0 = 1080 917
¥ Azimuth =281.31°*

Elevatien =47.61°

Hour Angle =03:19:09.14°
$Vind speed =11.27 krii/hr =7.0 milesihr

Wind Difection =135.0° E of N .




« Mean = ].043 892
o= 37. 794
. min = megn - 0. 125 0 = 1039 168
max = mean + O 75 o= 1072 238
¥ Azimuth =281.38°

Elevatien =47.42°

Hour Angle =03:20:03.29°
JWind speed =10.14 krif/hr = 6.3 miles/hr

Wind Difection =135.0° E of N F

L




Mean = 1022.30%
o = 40. 521
min = megp - 0. 125 0 =1017.244
max = mean + 0.75 0 = 1052 7
¥ Azimuth =281.45°

Elevatien =47.26°
Hour Angle =03:20:49.41°

SWind speed =12.39 kri/hr = 7.7 miles/hr
Wind Direction =135.0° E of N .




. Mean = 1040.614.
o =53.105

min = megn - 0. 125 0 = 1033 976
max = mean ¥ 0 75 o= 1080 443
Azimuth =281.51° y
Elevatiem =47.1°
Four Angle =03:21:34.54°
" JWind speed =11.59 kri/hr = 7.2 miles/hr
Wind Ditection =135.0° E of N o
i L




+ Mean =.1043'74Ql
0 =22.695
min = megn - 0.125 o = 1040.903
max = mean + 0.75 o = 1060.761
¥ Azimuth =281.59°

Elevatien =46.92°
Hour Angle =03:22:26.68"

* Wind speed =12.71 kmi/hr = 7.9 miles/hr
Wind Direction =135.0°'E of N .




Mean = 1051.365g

o =24.261 :

min = megn - 0.125 0 = 1048.333
max = mean + O.7I5 = 1669.561
AZimuth =281.66° "

Elevatien =46.75°

Hour Angle =03:23:15.81°
" JWind speed =12.07 kn/hr = 7.5 miles/hr
* . Wind Direction =135.0° E of N




Mean = 1052:810Qg

o=21755 :

min = megn - 0.125 ¢ = 1050.091
max = mean + 0.75 0 = 1069.126
Azimuth =281.72° "

Elevation =46.6°
Hour Angle =03:23:59.93°

; «Wind speed’'=12.07 km/hr s miles7hr
Wind Direction =135.0° Eof N- - . .-




-_l\ﬂean = 1044.120g
o=17.615
min = megn - 0.125 0 = 1041.918
max = mean +.0.75 o = 1057.331
Azimuth =281.79° .

Elevation:=46.42¢
: Hour Angle =03:24:51.07°
<Wind speed =12.07 km/hr =75 miles7hr
Wind Direction =135.0% E of N -




Mean = 1025:136

o =24.094

min = megn - 0.125 0 = 1022.124

max = mean + 0.75 0 = 1043.206
Azimuth =281.86°

Elevatiom =46.26°

Hour Angle =03:25:37.20°

«Wind speed =10.46 km/hr = 6.5 miles/hr

Wind Direction =135.0° E of N




Mean = 1053:761§
g =14.151 ;
min = mean -0.125.0.= 1051.993
max-=mean %+ 0.75 0 = 1064.375
Azimuth!=281:92°.
Elevation =46.11°

- Hour Angle =03:26:22.32° : 3
«Wind speed-=10:46 km/ht'= 6.5 miles'./.hr b
Wind Direction =135.0%E 0f1N "




“ Mean = 1043.966g
o= 21594
min = meqn - 0,125 0= 1041.266
max = mean + 0.75 0 = 1060.161
Azimuth =282.0°

Elevatiom =45.92°

Hour Angle =03:27:14.46°
«Wind speed =12.07 km/hr 2 B miles7hr
Wind Direction =135.0° E'of N




Mean =:1052:304¢
fo=14.635
min =mean:-0.125 0 = 1050.474
max = mean +.0.75 0 = 1063.28
Azimuth =282.3°
Elevation =45.19°
. “Hour'Angle =03:30:47.04° E
#Wind 'speed =13.52 km/hr = 8.4 miles/hr

Wind Direction:=135.0° E of N




Mean'=,1041:900%

0 =:15723

min = mefan - 0,125 ¢ = 1039.934
max = mean + 0.75 0 = 1053.691
Azimuth-=282.38°

Elevatiért =45.0°

Hour Angle =03:31:40. 19

sWind speed =13.2 km/hr =8.2 mlles/hr
Wind Direction:=135.0" E of N _




Mean = 1025:129%*

0=15172

min = mean - 0.125 o = 1023.232
max = mean + 0.75 0 = 1036.508
Azimuth =282.44°

Elevatioi =44.84°

" Hour Angle'=03:32:26.32°
sWind speed =12.39 km/hr = 7.7 miles/hr
L3
Wind Direction =135.0° E of N




Mean =1054:796w%

o=11,933

“amin.=mean.- 0. 1250 = 1053: 305
max = mean 0: 75 0=1063.746%
AZimuth =282.51°.
Elevation =44.69°

- Hour Angle —03:33! 11 44

=Wind speed =12.39 km/hr = 7 7 mlles/hr
Wind Direction -135 0° E of N




Méan = 1039:979%.
g =19.778 :
“min'= mean = 0.125:0-= 1038 757
max = mean'+0.75 0 = 1047 313
Azimuth =282: 59
Elevatlc’m =44.5°¢
<~ Hour Angle _03 34 05.59° ke
*Wind speed 2£70: 94 km/hr = 6 8 miles/hr'

i

S\Mind Directioni=135:0° Elof N:




. Mean'=1024.7704
g =10202" "
min= mean-0:125 0 = 1023 495
max'= mean.+ O 75:0= 1032 422
Azimuth =282.65° "
Elevation =44.34"

Hour: Angle =03:34:51:71°

*Wind speed =14.32 km/hr =.8.9 m{les/hr
Wihd Direction. =135.0° E'of N




‘Mean =:1054.889%

0'=11.216 j

min-= mean -.0:125 a = 1053 4871

max' = mean + 0i75 o= 1063:301"
CAZimuth-=282572°,

Elevation <44:19%

Hour:Angle =03:35:36.84 "

*Wind-speed = 12 07, km/hr = 7 5 mlles/hr o "
Wlnd Dlrectlon =135.0%E6f:N




e = = 1039 976- £
0 =.8.686
mm = mea'n 0.1250 = 1038, 89
i _max = mean i 0.75 g= 1'046 491
b Asimuth =282.79
EJevatlon =44 01"
! Hour Angle =03 36 27 9874
“rWind speed =11, 59 km/hr = 7 2 mtles/hr
[P Wlnd Dlrestxon =135: 0" E of N




Mean =, 1(155 794"-

0=10233- " : o

min. =thedn =0,125 0= 1054515
“lmax. = mean# 075 g'= 1063 469
'Azimuth'=282.89°

g Elevation =43, 77° .

.+ Hour Angle 203 37:3% 1'6

*Wind! speed: sS4 32 km/hr =.8. 9 mlles/hr
Wind Direction =435 0 E of . i




Meah =:1055.3008
g="10248 1

Cmin s medn.- 0 1250 = 1054 019

max = mean'+ 0,750 0.= 1062 985
_Az;muth 282 952
| Elevatnon =43.62"

Hour Ang!e 03 38: 21 29t TR
Wind.speed 11 27 kmifRr = 7 0 mlles/hr ek
< Wind Direction £135 O°E ofN




' Mean <1040 428%

g =8.855 : :
SiEmin= mea‘n 0. 1256 .0.=11039, 321
mMax —-mean +.0.75.0 —-.1047 069
“Asimiith 2283.03%" [
“iEfevation =43.43".
Hour Angle =03 39 14 43" g
L AWind speed-=1159 km/hr =7 2 mlles/hr
i '_Wlnd Dlrectlon —135 0 E ‘of} N Al e




* Mean = 1057.180*

0= 9:890;

min'= mea‘n 0. 125 0 = 1055 944 ;_' !
max,= fean. + 0. 75 g.= 1064 597
- AZimuth;=283,1: :

- Blaubtion SO e T

i Hotr Angle =03:40:07.58° -+
'_Wlnd speed 11 27 km/hr =/ O m[}es/hr
; .Wlnd Dlrectlon -135 0° Eof N




" Méan —.:1'0'3'9.000' 4 g

".0_8590

imim= mean 10125 o ="1037; 976,

max = mean 07500 = ‘1045 5442_ LT

.'Ammuth 283 Rl

“riElevation. =43.04°

i HourAngle 03 41 08: 74 e ,‘
: *Wind speed 11 27. km/hr = 7 o mlles/hr -
Vind Direction: _—13_5.€_) E'of N:* e Al




. Mean = 1056.493% . -
O 9669 y
min. = mean 07 125 o= 1055 284 .

! 'max-—mean+0750—1063745 L i

¢ AZimUuEh = =283.275
Elevation =42.86%

Hour Angle-=03:42; 0l 89." 7
Wind: Speed'=9,33 km/hr =58} mllés/hr
_Wmd Dlrectlon =135; 0" E of N




“Mean' £:1056:800%
'a-9'877 e e e,
Lamiift= mean 0 125 ol 1055 5'66 S
ma.x = mean + 0. 75 0= 1064208
“Azimuth =283 34° g
TElevation =42.68°
& THourAngle=03; 42 53 03" ST
- Wind speed =13'52 km/hr —a 4 mlles/hr j et
Wlnd Dlrectlon —135 0 E ofN i




Mean =/1025.543*

0=12.274

min = mela'n #0.125 0:="1024:009
max =mean + 0.75"c = 1034.748
Azimuth =283.46°

Elevation =42.4°

Hour Angle =03:44:15.25"
*Wind speed =13.52 km/hr = 8.4 miles/qr
Wind Direction =135,0°-E of N




‘Mean =1054.977*
0= 15856
min = medn - 0.125:0-= 1052.995
max = mean'+ 0.75 0.='1066.869

Azimuth =283.52°

Elevation'=42.24°

Hour Angle =03:45:00,37* &
*Wind speed =11.27 km/hr:=.7:0 miles/kr
Wind Direction:=135.0° E of N




Mean = 1040:291F
Conilliasat i
min‘=:mean s 01250 = 1038 897
max = mean'+0.750:=1048.655
Azimtith =283.6°
Elevation =42.06° : :
.. Hour:Angle .=O3.‘45:51._51°. o et aly T
“Wind speed =12.71 km/hr. = 7.§ rr.mi'les/hr e
Wind Direction =135.0°%E of Ni &~ :




" Mean = 1055.368*
o=13. 993
min, = mean: - 01250 = 1053 619

max: =-mean ++ 0:75°0 =:1065.863
Azimuth'=283,67° ;

Elevation =41.89° .

Hour Angle =03:46:40, 655 o
TWind speed £12.39 km/hr =77 mlles/hr
Wind Direction.=135.0° E.of N




Mean = 1053.212*

0=16.123

min = medn - 0.125'¢ = 1051.197
max = mean+ 0.750 = 1065.30_5
Azimuth =283.73

Elevation =41.74°

Hour Angle =03:47:24.77° * . :
"Wind 'speed =12:39. km/hr.=7.7 miles/r’* =
Wind Direction =135.0" E of N.-'*. 2




Mean = 1037.800"
0 =:8:413

Femin = mean 0 125 o = 1036.749
max.= mean -+ O 75 a= 1044 11
o Azimuth's 283 3 Ty
 sElevation =41 57

“ Holr Angle =03; 48 15. 91
Wind: speed =132 km/h'r = 8 7 mlleslhr
Wrn,d Direction: -135 0%k’ of N'-'~'.




~Mean = P e e
G= 7610 o e e E
; .'mm =mean - 0. 125 o 1025 24-8

] max—mean +0750— 1031907 oK
- Azimuth =283 88

_Elevatlon =41. 38 B i R T
- Hour Angte = 3-49 10 06°' / L
: _Wlnd speed =13 2 km/hr = 8 2 mﬂes/hr
;] _Wmd Dlrectlon 135 Oy E ofN-




Mean = 1036893

g B ; :
Mift = mean : 0:125.0'= 1035; 859}_,' Bt
“rax’ = mean &0 75 Rilies 1043 096'—:' e

CAiAZimbth =283.97°

_Elevatlon ST RS
'Hour Angle =03:50:11:22" i
'-Wmd speed =982 kmihr=6: 1 mﬁes/hr >

% Wind Direction 1350 Eof N .




Mean = 1025 910
=1 583

mm = Mean . 0: 125 d= 1024 962

‘max =.megan i 0:75- 0 - 1031 598<
AZImuth 284 04° AR .‘
~Elevation. ol R R e
Hour Angle =03: 51 03 3 i

LWind: speed 12 07-km/hE =T, 5 mlles/hr
Wmd Dlrectlon 135 0 E of N :




“Mean'= 1059306 A
el A e R SR Tl
Chdniine mean 0, 125 U = 1058 062 i
i max mean E 075- g= 1066 768
C Azimuth 284115
% Elevation "—'40 84"
L “Hoar Angle 03: 5.L48 49° L
! ._'Wlnd speed =901 km/hr Ty G,mlles/_
“Wind Dlre_e_ctl(_)n_—_.135_.0 Eof N' et




Mean = 1036 246
g 8. 281 : :
min'= mean 0. 125 [ 1035 21],
max = mean +075 0= 1042 457
Azithuth - 284 21° Fiaws
"._Elevatlon -40 59° oy
HourAngle 03 52 59, 68"

.'\." L |

; Wlnd speed I 89 km/hr = 9 m| esihrss

Wind:Direction:=135. 0 & ofN.'i

ixh,




: 'Mean = 1061 715

6:=310.066 ;

mipi=raean;-0. 125 g 1060 45_
max' = mean +0: 75 o = 1069 264
AZImuth =284. 337

Elevatron 40 3%

_'Hour Angle ~03 54 0 917
AWind speed 11 27-km/hE =
'Wmd D|rect|on —157 0% E;of N_




Méan'= 1036:585
= 8 416 Ly e FLAr
min = mean 0 125 0 = 1035 531
“maX = Fnean +0:75°0= 1042 89‘5
i .'Aztmuth 284 A Rk o
4 Elevation 40 13
- Hour Angle =03: 55 13. 05 g
-_~Wrnd speed 11727 km/hr = 7 0 ml|eS/hI" e ke
Wmd- Dlrectlon 157 @ E ofN i e A




™
-Mean =1055:164.1:

=10:334 ; :

min = =mean =0, 125.0'= 1053 872

b max = mean. + 0. 75 0 = 1062 914
AZImuth =284; 49
Elevatlon =39:; 92° t ;
Hour Angle =03: 56 Fhy 22"

Wind speed =11.27 km/hr = 7.0 mlles,lhr

Wind Dlrectcon £157:0¢ Eof N g e




Mean = 1056‘254'

a'=12.27%]

min‘="mean -*0.125 0 = 1054.719
max = mean + 0.75'0 = 1065.462:
Azimuth.=284.56" £ el
Elevation =39.77° AT
Hour Angle =03:56:59!34"° !

Wlnd speed =8:69 km/hr.="5: 4 mlles/hl"
Wind Direction.=180.0°-E of IN. =5




; .
. Mean = 1026 245

a= 8 559 ;

in = mean = 0,125 o' =1025:145.~.
max = mean + 075 0.= 1032 634
Azimuth, 284 63¢:

Elevatlon =39, 507k

Hour Angle 03 Y ! 51 48 : : }
Wmd speed =7.08 km/hri= 4.4 mlles/hr‘ ;

. Wind- Direction =180.0° ‘Eof EEAT




Mean = 1039.9411II

0'=10.07]

min = mean - 0:125°0 = 1038: 682

max = n'_\ea_nr + 0.75 o= 1047_.499
- AzimiUth =284.71°

Elevation —39 4127 :
‘Hour Angle 03 58 43:62° SR

Wind speed 210:44 Km/hr = 8.3 mlles/hr ok
““Wind- Direction =180.0° E of N

*




-
Mean = 1025.309
o= 11812
min = mean:-0.125 ¢ =:1023.832
max = mean + 0.75 0'=1034.168
Azimuth,=284.78°
Elevation =39.24°

‘Hour Angle =03:59:32:76°
Wind speed =8.21-km/hr =.5.1 miles/hf
Wind Direction =180.0°°E: of N




Mean- = 1060 276_’.' o

o =10, 67:1 : :
mln £ mean 0.1250 = 1058 942 '\.' ;
max.= mean+.0, 75 o= 1068 281 St
Aziuth =284, 857 ;

Elevation.s 39 09°" S

B Hour Angle =04 00 17,88 !
JWind speed =8'.21 kemi/hr = 5 1 mlfes/hl’
Wmd Dlrectlon —180 0 E of N '




Mean = 1039.627 L
oo ML bt Y.

min = mean -0; 125 0=-1038. 425

max:= mean +.0.75 (% 33 1046. 84
Azimuth:=284.92°

Elevation - =36.91°

. Hour Angle =04;01: 09; 02°"

Wind-speed =9.33 Km/hr = 5 8 mlles/hr
Wind Birection.=180.0%.E of N ;




& -
Mean'='1039.995
0 =13/49] ;
min'= mean -'0:125'0 = 1038.309
max-=mean +-0.75 0.=1050:113
AzimUth«=284.98°

-

Elevation'=38.76"
~Hour Angle =04:01:53114°
Wind speed =8.21 km/hr = 5.1 miles/hit
~ Wind Direction:=180,0° E of N




Mean = 1025.538

o= 16231

min'=mean -'0.125 ¢ =:1023.508
max = mean + 0.75 0 = 1037.715
Azimuths=285.05°

-

Elevation =38.6"°
- 4 Hour Angle =04:02:39.27°
Wind speed =7.56 km/hr = 4.7 miles/hr
* Wind Direction=180.0% E of N




Mean = 1053.668

g=19.844 :

min = mean - 0.125 ¢-=1051.187
max = mean + 0.75 o;= 1068.551

AZimut"h-=285.12°
Elevation =38.45°
JHour ‘Angle =04:03:24'39°
Wind speed'=10.14 km/hr = 6.3 miles/Ar
Wind Direction:=180.0° E of N

w

-




Mean ="1057:654

0-=12.224;

min = mean.- 0. 125 o= 1056 127

max = mean 4 0.75.0 = 106_6.82_

AZimuths=285.18° ;
“Elevation'=38.3° i

« Hour AngLe =04:04:08.51" ¢ ; i

Wind speed =10:14 km/ht =:6.3 mlies/ﬁr !

Wind Dlrectlon —180 0’ E of N




- ‘Mean =-1036.661
o= 8.405. :
“iimin-=Tmean = 0. 125 g 1035 Bl
| max = mean +.075/g = 1047965"
'Ammuth =285 25° -
"'Elevat|on L38. 123
. Hour Angje 04 04:59. 65‘” Kot
- AVind speed ‘28,01 km/hr= 5.6 mlle 'hr et
_Wmd Dlrect1on £180/0°F; ofN




Mear. = 1029' 994 -
fg =791 :
m|n ='mean: 0:125 0= 1029 0l

max== mean+.0750— 1035 93 vh

: _AZ|muth £285:37:

Elevation <37.85°7.1

‘Hour Angle =04:06:18. 37° g

Wind speed =563 kmjhr =-3.5: miles

‘Wind Direction =180:0°E of N "




1Mean = 1067 267

o= 10 189

mm = rhean 0id25.0:= 106 9 o
[ max'= mean +:0.75" o= 1074- 909

: AZ|muth =285, 44"

z E!evat|on =37, 68“'
HourAngle 04 07 09. 00 }
L Wind speed =5 63 km/hr i35 mlléS]h:r
i _\I\_I_md_D|rect|on .—1%0_.0_“.'E.(_>fN




Mean '_"10'36'06’5 :
o=-=28. 491
: mm =mean - 0, 125 0 e 1035 004

] max = mean: 4+ O 75 o 1042 433

‘ _Azcmuth =285. 52

; Elevatlon =37 ,51
¥ Hour Angle =04; 08: 00: 14

Fal Wlnd speed =595 km/hr e 7 miles/hr
Wirid Dmectlon £157.0° Eof N :

i




Mean = 1065.298
0 =10131
mm = mean 0,125 0 = 1064 032

S ax = mean ¥ 0750 = 1072 896

| Azimuth'=285.66° .
Elevation =37 1775 _

" Hour Angle -OZI— 09 37, 41
Wind speed =8.2% Kin/hr =15, ) mIIGS/h-f
Wmd Dlrectlon —157 O%E ofN e




. Meain = 1062990 -
g.=9.897 /

i = mean 0. 12‘5 g = 1061 753
m'ax 2 mean + 0: 75 U = 1070 413~*
Azimiitti = 285,735 | - i
Elevatlon =32. 017 ]

_Hour Angle —~04 10 26 5
Wind speed -"7 89 km/hr T 4 9 mr}es/hr
2 Wmd Dlrectxon -157 0 E.of N'|




Mean = 1031,683.

"-0—7964

min’= mean O 125 ag.= 1030 687

Tmax = m-ean 0] 75 g'= 1037 655
'-Azlmuth L28581%

“Elevation'=36.82¢ e
Hour,Angle 04 Ll S 70 W Ll
Wind speed 7 89 km/hr 5 9 mﬂes/hr

TWind Dlrectnon —-157 O Eof N

i &




Mean = 1065 703
&£ 16:070 :
min = mean:s -6 125 o
max = mean £, 75 g
: AZImuth 285 89
-Elevatlon_ —__36.64_ i
Hour Angle =04 12'13?' 83¢
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..-Wlnd speed 10: 94 km/hr = 6 8 mlles/hri
'-'Wmd Dlrect|on £135.0° E ofN :




. Mean:= 1031.738 i
wai= 7 993
-min-= mean O 1256 = 1030 739
max:=mean 4.0; 75 0= 103’7 733
3 AZ|muth =291.77" 4

i Elevatlon =23, 76

Fratr Angle ~05~16 16 33"
Wind speed- 10.94° km/hr = 8 _mqles/hr
Wmd Dlrection —135 0~-E of N ;Z". Kslis




Mean="1074.114

'_'o—10995 o

~min = mean.0.125'0 = 1072 VL
max = mean +0.750'= 1082 361
Azxmuth 291 867 y
- ~Elevation =23, 58

"Hour Angle =05:17: 12 48 :
Wind 'speed =11.59 km/hr =i 2 mlles/hr
Wind Direction =135.0° E of i\ '




Meait =.1028. 48'_8_'1.
0= 7767 : A
mm—mean 01250—1027 517 RS e B
max'= mean +.0:75 o= 1034 313 £ ﬁ RS
- Agimtath £291.957 . : '
“* Elevation'=23.39%7
i HourAngle 05 18: 07 B35
“Wind speed 11 27 km/hr = 7 0 ml1 s/hr
i Wmd Dlrectlon —135 o' E, of. N




Mean =1072.354
0=10,502 : =
min-= mean - 0 125 0= 1071 041
[max =mean.+ 0.75. 0 = 1080.25. g
Azimuth-= £297: 03° .

Efevation==23. 22°

- Hour Angle =05:18:59:77"

: Wlnd speed =15.77 km/hr = 9 8 mjles/hr
- Wind D|rectlon 135 0 E of N




? Meai = 1026 969.7 =
LG =7.655 : ; e
min;= mean 01250 = 1026 012
'max-mean+0750—10327 o
| Aziruth =292.12%
Elevat|on £23.04°

Hour Angle =05:19; 54 92

'Wlnd speed =13.52 km/hr =6, 4m1|es/hr
; 'Wlnd D|rect|on —~135 0% E oFN R




L Mdan = 1030 171 £
o H e :
mins=4mean = 40, 1250 =i1020: 189' s !
max = mean +0: 75 G = 1036 059'". et
AZImuth =292 24
" Elevation =22.8° e
Houf: Angle -05 21 10 13° Th b
‘Wind'spesd:=13'84 km/hr = 8 6 mlles/hr At
" Wihd Ditection =135.0° Eof N :




Mean'= 10729037

i U— 10 577 £y

min = mean = 0 125 o2 1071 581
'.max =mean 0; 75 o =" 1080 836
Azitnuth =292.32°" :

i Elevatlon =2264%-

~Hour, Angle =05:21: 58 26 ’ :
e Wmd speed 11 27 km/hr =17, 0 mlles/hr-' L
= Wind Dlrectlon —135 0 E of N g




: Mean = 1028 857

g 7 783 i 1

e min:=-mean =0, 125 o 2 1027 884
Y max = mean + 0. 75 g = 1034 694

ik Azﬁnuth =292, ate
‘Elevation £22.460
-'Hour Angle =05; 22 52 i
.Wlnd speed =159 km/hr =72 males/hr
-'_Wmd Dlrectton -135 0 Es of—N ;




Mean = 1077 640

T2 007 7 e TR
i = mean Q. 1257 Hoibs 1076 268
Max =-mean O 75 0’ o 1085 873
i Azimuth:=292: 5° :
“Elevation =22 ¥ i

‘iHour Angle 05§ 23,—47 56

; Wmd Dlrectnon -—135 0 E of N i




“Mearl = 10298387
0= 1.856. . Rt
‘min = mean - 0.1250.5 1028857 1

_' __-max =mean + 0 75 9% = 1035 731

& Azimuth:; =297 59° 5

. Elevatlon —22 09 :

- Hour Anglé=05:24:45, 72° el R
- Wind $peed-=9.01 km/hr = 5.6 mlles/hr SR :
i Wirid Dlrectnon —135 O E of N :




MEaR= 1028646
0.=7.779 :
mm =-mean - 0. 125 a = 1027 674

" iax = meai + 075 = 1034 481 TR
1 Azrmuth £292:68" e Sk
" {Elevation: -=21 92"

" ‘HourAngle ~05 25 36:86° . g iE:
Wind:speed=9,82 km/hr = 6. 1 mll'es/hr:'- SR 2

- Wrnd Dlrectcoﬁ ]35 0E of N




- Mean = 1054'955 ST

: o= 10631 e
-""mm ='mean - o 125 G 1073 626 STl
_" max:= mean iy 075 o— 1‘082 928 " g
AZIMOth 2292775 s e e
[ Elevation =24,73+

g H‘our Aﬂgle 05 26: 36. 02

_:Wmd Dlrectlon —135 0 E ofN




Meéan = 1034.436..

o= 8233 : ; a i
- min =imean - 0:125'0 = 103! 407
fhax = Triean Y 7510 = 1040; 611 2

At 259286

.__-Elévatlon —21 56
v Ho U Angle 05 27 27+ 16 ;

“Wind speed =10 14 km/hr'— 6. 3 mjles/hr
S WiRd D|rect|on —135 0%-E cf N B




_Mean —-1100 867‘

0= 11923

L = mean -0, 125 o 1099 377
Jiomax =imean=+ 0750 = 1'109 809"
" Azimuth 229297 y i
‘Elevation. =21 85

: Hour Angle =05; 28 3334
. _Wlnd speed 10 14 km/hr = 6 3 mi-les/hr
Wmd Dlrectxon 135 O of N2




~:Hour Angle =05:29:24. 48"

Mean = 1038.941 * !

0.=81446;

min = mean 0; 125 = 1037 885
‘max= mean o 0 75 .5 1045.275
5 '_A2|muth ZZ9BP5%

H Elevation =21 18

‘ Wind speed:=9,82 km/hr = 6 1 m|'|
3 Wmd Dlrectlon 5135, 07E ofN




FoMean = -1039 671 .
T 0'=8,692
“hin= mean 0. 125 o 1038 585..

“Max =mean “+ 075 a = 1046 191
AZimuth ——293 13 i
‘Elevation =21.03° ¥

Hour Angle 05 30: 09 60 i
hwind Speed’=Y.82 km/hr = 6 1 mlles/hr
Wmd Dlrect|on —135 0’ E of L\l




